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- RTRF : Elo|8] AZ & +Z 713 (USDiiam)

- 2T F(RRIP: USDjewt)
RRJP,= —1.5200504 + 0.0208 RUSRP,
"RRIP : Ax 7} B9 2@ 7R (USDiewl)

- RUSRF : vl=9] Ax7 etgde] dZ2 714 (USDimetric ton)

g AYE 4
O AR HA(AL [,000ha)
Al=1744 873 —0.021271AI,_ | — 12.076RRJP,_, +19.179RRIP,_, — 40.52RTP,

O SR (YT: Meirc ton/ha)

VI =24 5079+ 0330771 YL, + 0092966

O LA FRFTCL: kgfPop)

Cly=—10.1336841 — 0. 085446 RRIP+ 0. 855 FRG DP,

O A7 8 TR (EL 1,000 mettic tons)
= 47,644 + 0. B127 8, — 0. 0035858, — 9, 1496 KRR IP,
- Q1 TR F Ao AALTHI, 000 meftc tons)
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O ZHE R 900d EWSHE)
- A= E ZRRIP: USDicwi)

RRIP,= (.85708977 +0. (28631 RTRP,

- RRIF : $It] 7| B 42 4dZ84H]A; 713 (USDiowt)
- RTRF : Elo|8] AZ & +Z 713 (USDiiam)

- 23 E #H(RRIP: USDicwt)
RRJP,=— 1.500804 +0.0208R LSRP,

-RRIF  : AE U7 542 4 A4H A 7HH (USDfowt)
- RUSRP : Pl=9] 237} eldade] o 242 714 (USDimetric ton)

2268 HE
O AR A (A [,000h)

A,=—FRER19 7+ 0 F04, (+2.TAORTRP, |+ 307
- RTRP : Real Thailand Rice Ezport Price(Baht/1 Okg)
-T s e (H)

O =AY melrc tonfha)

Yy=—20d04 + 0274, +0.0107 7T

0 dNF F/EC k)
Cy=—11788.9— 3001 RRIP,— 1 012 PRGDP,— R T

- RRIP  : Baht/0.[5kg at [990 constant price
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- FRGDF : [000bahi ai [990 constant price
- Calibration T W Aatd) 809k 2G5t FUE.
O A 78S 1000 metrc tons)
8y=—3490.8+ 0.5878 -1+ 01150+ 532.756R RIP,— 1.14 7T
- D s U <R 21,000 tons)=A4 A 72 A n+F kR S| A 2

O 712 %4(RRIP: Baht/0.15kg)
RRIP,= 0. 780083 +0.009RTRP,

227 =dl Ao}

O AR EAA(A: 1,000 ha)
A,=—137747.94 - 0.0794,_,— 49 46RFP,_|+ 5T
- RFF : 43 ¥ 71537123 (Rupiahs/10g)
- T A3

O TEFER(Y: metric ton/ha)

Y,=—hBEETT+ 0889 Y, +0.0057

O LAF FRFHC ke)
=176 .82 — 0002208 R TRE+ Q00714 BRGDE,

- RTRP : go] &2 2 Z+Z713 Rupiahs/[Gkg)
- PRGDP : 413 2 2 GDF(,000Rupiahs, at 990 price)
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O A7 (S 1,000 mefric tons)
5= 1191074 + 0. 8048 + 0, 000873808}, — 0. 113427V ETRE,_,

- MQ: &= ATHI, 00 meidc tons)

© 7t 3T (RFP: Rupiahs(10g)

REFP,=2.9927389 — (4. 82E —05)RTRF,

228 thxst
G AEAA (A [,0000a)
A, =8172.76+0.33924,_+4.56dRFP, |— 3T
- RFP : 22447} 713 (Taiwan Dollars’kg)
- T AT ()

O EHETHR(Y: fonfhe)

Yy=—55.333+0.37F,+ 0,087

O LAF FRFHC k)

Cy=— 5785 944— BROMP,— () 2E68 PRGDP,— 3T

k)

o

- ROMP: 22 ZAAZA7IEINT kg2 NTBINHE I o2 FoH
2=
ﬂ

- FRGDE: U413 A-5(1,000NT$)

O A 7F=88: 1,000 tons)

Sy=—89.49989+ 0,878, + 0,003, + 0,083 RTRP,_, —0.03T
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Q& 1,000t0n
- RTRP : NT§jion

O FHA R (NTke)
RFP,= 13.9692 + 0.000297 RTRP,

- RTRP; Blo| &3 4 =271 NTéton)

229 9=
O A E A (A [,000ha)
A,=—155659.56—0.04464,_, + 15.066RTRP,_, + 1T
- RTRE: Bfo] FE714 L ¢z 4d Rs= 2T (Rs/10ke)
- T AHEF ()
QT E(Y: meiric ton/ha)

Yy=—36.7H+ 03687, +0.019T

O LUF FATEC ke)
C,= 87,0089 — 0.00407RTRE,+ 0.00401P RGDP + 0,002 T
- PRGDE: ¥¢1% AL (1,000Rs)

O AR5 1,00060n0s)

Sy=—1358.88 +0.3968 1+ 0. 1205¢— 3. 4TRTR Py
-Q : AATHI000 metric tons)

Y



2210 MEY
O HEBF (A 1,000ha)
Ay=—24303.06389 +0.775A 1 —0.068RTRP,1 + 13T
- RTRP: Bol& FZ7H4 (8571 )(USDjton).
- T AT ()
QT E(Y: meiric ton/ha)

Yy=—23. 40838+ 0. 786 ¥y + 0. 014 T

O LAF FRFHC ke)
= — 3878 E9E933 — 0, 12 VREP+ 2.0 T

- VRP : 9% 49 BE7HHUSDiton)

O 7FA FF(VRE: USDjton)
VRP,=9.15032 + 0.704RTRP,

- M Er = BE Tem g

O AFFATFE ARY Pz FFAA %4

2211, Zw
O AR A 1,000h)
A =9080.97 + 00,5404, + 1. 21RTRP_ |+ 5.207

- RTRE: Elo| & FE2714 2 dd2 i (Peso/ [ Okg)
- T A FEHSF ()



O SR (metric ton/ha)

¥y=—19.1716+ 0,637, +0.017T

C 4 2HTFC k)
Cy= 102.37497 — 0.048RTRP,+ (.0019 PRGDP,

- PRGDP: 1,000Peso

O AR RS 1,000ton)
Sy= 64743075 + 0.4968 -1+ 0. 112¢,+ 0. 7T21RTR P,

-Q A AFTH1,00000n)

O FHEEF(RRP: 2 ZA4H|A} 714, Peso/0g)

RRP,=0.0522585 — 0.000077 RTRE;

22,12, "l2kn}
O AR (A [,000ha)
A;=158).238+0.6854 1 — 3. 24TMRX P, +0.01T
- MRXF: Flebel & & 22871 (Kyai/1Okg)
- T AT ET
O T (Y: metric ton/ha)

Yy=—29.2262+0.535 7, +0.0157
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C DU LHFFC k)
Cy= 180.1293 — 0.018MRXP,+ 0.001 PRGDF,

- PRGDP: 1,000Kyats

O AZEAFEE: 1,000 tons)

Sy=— 10505+ 074 &, + 0,088, — J.0MMAN P,

O 712 3= (MRXP: Kyats/10kg)

MAENP,=— 109003+ 0, 8343RTRE,

2213 AA8 %R Best of Warld TUTH1000 ton))

7t AEHE A
M1, =— 1750145 — 24. 2827 RTRP,— 27 B6WRUSRP,+ 891.5919 T
- ML 4ITIFE B S EERHIL,000 tons)
- RTRP : o] &9 4d & 713 (USDiton)
- RUSRP: Fl 24 Alx)7} 49 42 271 USDiton)
-T : Al TP

Uy SHHE &
M7= 518759+ 14. 683008 TRE,— 14. 6504 R USRE,— 158 298 T

CME AUz} ey A e
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23, MlA| BAE

231 A% 2 4H A
G 1999/20009] A & FHAAL <k [ 52007 ha, HAFL <F 39
90,6505t Eo 2 S~ L Ad iy 05%, A4HE (2% S5 sle=
AL AaE 2N AEEY HEL of 535%oln THFFL
165%4 Aoz FFE

3% 2-1 MA o Moo= WAl ®o

(1,000ha) (1,000 )
154,500 450,000
154,000 1 440,000

- 430,000
153,500 |

~ 420,000
153,000 < 410,000
152,500 | \§§i:::::::] - 400,000

< 390,000
152,000

- 380,000
151,500 4 370,000
151,000 111 360,000

1998/99 2000/01 2002/03 2004/05 2006/07 2008/09 2010/11

20002000 E 9] FEAAL (2] 53005 ha, AL 39 97438 Eom 7}
ZF 0.0%, 02% F7HE oz AN 20004 o) %9 4 AsFe AW
T 12% S5 o d FEHEA L d"EE 08% S BE 4 A4
T Tt Tledd 2 rEEFY B § B g5ty o] R4
4 Aoz FgAd
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2% 22 Elgl Yag M9

(1,000 ) (1,000 )
69,000 380,000
68,000 r 1 370,000
67,000
66. 000 1 360,000
65,000 L T 350,000
64,000 1 340,000
63,000 I 1 330,000
62,000 r
61 000 | 1 320,000
60,000 | T 310,000
59’000 1 1 1 1 1 1 1 1 1 1 1 1 300,000

1998/99 2000/01 2002/03 2004/05 2006/07 2008/09 2010/11

O FAYF A AATFL 2000~ 04 dd] AW oF [4%, 2004~ [0 B 1.2%
7D, S E 4L o] 7zt Z2 A" <k 1.0%, L% oMk
Aoz AYET 2 Bd FUEF 29 A4 HF L 2000149 156594
2004 AT 2010 E 1540 S=Fo2 ht 4T Aoz AxA

O 199900000 A A4-d|ERE AW OiE] o (2% SU1F oz SR E
20 o Fds FLF F5EE AT Acz AGHEh

O 1999200049 FleAlne Ay dig] <k 270 7S 58708 Ed) &2 A

o2 FHAD AuEs FEs 49%ET [5% TYE 71T 164%4)
féﬂoq FAO A7 22 #7T zlez AGHErh 20009 =29 & A1
12~13% ofd »F zlez HGET

232 Y A=}

Q200099 WL 199HR O} 5% F= So1E 23305 = 0] B Aoz
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Aok (9984 27305 EL 7125190 wEHL (99 = |
Zaestgrh g o] FasteE AL d FR 2= 34 S E 1&(01514]
Ao, Za|®dl wab g FACE d4HT7] f el

O 2000~ 109 FFF 49 THTF HIFL 5654 6552 09% TYE
F7bta, FUHEL 28644 47%2 19% TJE ks Aoz A
FEOL TE 1093 FHF 39F St AHF 9T IR
O =L Aoz HgdAch

(%)
7.0

Z:Z RW PSP
4.0 /\[X m.. —

y 1{.\/ \\’./.\/./-;..__.%' |

2.0

1.0

1990 1995 2000 2005 2010

233 7HE A%

O F2 4 433 2L +d39) £FEFE Adstd £33 FE 0=
REE A0l AA BN FHAHe] Bk

O WA SodEd 4 F1H L 2000dze] AL AfEel A [FEL EH
=7t dob) 71R0 2 EF 4390 524 w52 199 A9T 714
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44097, 2000dd|= BEF 4608€] 54 9|2 Aoz AdEd
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410 |
390 |

370

350
1999 2001 2003 2005 2007 2009

g 2-5 FEHE =H¥ 74

1998 190 2000 2000 202 2008 2004 0B 006 A0/ 208 200 2010

T



O FHE 4 714 L g4 (52 B 71 7oz 200049 7123e B
32599 Fd HEY AE tiH] 2k 8.3%9 FlEdEo] 98 Hoa He
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m Rolth 2004 L B 375, 200084 = <F 42522] 554 o] A
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O KRH-ASMOREZR A AHE FAEEELS =7 L8719, 11 22)4]
"] R A AR AWAE AHESIEoH, 3EE UIFE A
A74e ARAE Fu= oty dFsdrh

E 3-1 HAAZAAHs
H 4 i 1994 2000 2004 2010
FAEHE D -54 72 5.0 50
=HE /% 1207 1100 1060 1000
HAHH(Hha) 1910,0 1853,5 17174 16549
UNFHE) 64299 47274 5 437445 S0617.9
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A8 Y7ol FH7HE S AEstdon |, ASE 4972 A 71
Fdstddn JHEsta, oA 285 TERE S 9ste dafida 7135t

At

- MMA =33 TERSL "UR 545 BA0H AZA.d a2} Al3s 2

I <3 32-9 grh

# 3-2 MMASR =2 TE

1999 2000 2004 2010
MM AL a0 103 205 4105
AWM A 90 103 205 205
FEMMA 1044 1045 1047 1050
FE}SEMM A 131 135 142 152
YoM A 15 17 il 26
D= MMA 11 12 14 19
DEMMA g G 7 9
HEMM A 2 2 2 3
HEMMA 49 51 55 Al
EEMMA 7 7 7 7
ATE - - - 327
TRTE 515 504 491 491
B} ETE 353 344 329 324
EETE A3 570 543 543
AITE 4 47 45 45
HTE 65 59 45 45
EZTE 49 47 45 45
ITE 73 71 fid A
H2TE 155 151 144 144
HETE 551 539 Gk 519
IHETE 357 379 360 360
YIUITE 145 142 135 135
I+TE 290 293 270 270

[ MMA Z34] b= AMTY.
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O UR 548 332 sdzt=] A He 9o 200 3R E A4 27

d a2} g2t E 4 gk

- 20dAtAE g MMA, SHEEE 5o AZAES GAHS=R o
5t 3 Fe U AURle s 435 E

- dhold] FE9 MMA= FA GG on, TERSEL 20T U5
Aoz S ET

- 49 FAYE <R 3-3>1 o] MMA 4%2 TIFEE 3L, MMA %2
dFstE 3% 28ln MMA 233 TE 239 #3388 3424 MMA
4%4t TE 15% 7%, MMA s% 3873 TE 5% 759 34z 435080

- 7R e e 2005 2000 Apeld] MMA B TF2 4% =2 nA5

T TES 3%hAFse oz A=A

# 3-3 20064 olF & AlERHE A2l o

20053 olF A Al MY ALz WY

Auz]e I | MMA 20048 2 18 @ 2400048 840201087
ALRle T | MMA 271 24 93 ¢ L2004 3220100
AuU]e O | TE &< U MMA 20043 =2 733 MMA 84 078,

TE 3759%a(2005 004 2maen1nd @] 4=

AUl e IV | AlEAHYFEH W MMA La00085 A auazo10d) S5,

TE 375%4(20055 004 2eac2010d)»1a] 4=
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SQele (9T AAELED 54844 Pz ddogod, 5
A QARE FAR FEEY FRAN 45D UNES 3 29 4
AT Y =, YA S deps AsHh

Immachks, = ag+ a1+ In gdvdef,+ ap+ In exch

(3-1)

+oan*ln renid g I coufhuh
In crartpy= bg+ b1+ In gdddef;+ ba* In exch,+ by* ln cowutputy, (3-2)
WMptetpy = C1¥ Clerthet co® mack (33
ruwage,= gy + di+ Invdine, )+ doF Invomelinetn, (3-4)

rremty = et e+ In wpll,—1 + ep* In rwage,
(3-3)

+ aq#* I roirtn— 1 + eg* Inreni—

A7 inpuips FLEELA 71, machpe 714 7H, curtpe A
74, wage= & 4 J 221 rept= F A ARE 42 Jehdch =
# 2} Fi=dl o) EolH ﬁguj#ﬂ gdpdet= GDF C]E#°]H, exche #
&, dines (917 FIAHELS, coupuips FIFES ANT FIE 7H,
a3 pll = 4 42 wrECHES 48 YR 1= 928 4
s 72340, dr8 49 r2 2435 9r firh

o
x
THo
b
il

AR 2F REL A 2 4 1@% Y, AANE 2y, g E2E =
B 2 2AEA, FAEA, 2582 AW Ey, &= o9 o dack
o] AEE1, O F F5E Y4F AGAC F8 EEL FYU"=F 44
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2
¥0,
)

. 3g -



0 537 FWAL L1dE FARA, (s BERA AP, 2HRA AY
A7 BsE g5EAd A5 14 $RAWA0] 4SBT 2eht 4
A A% FEANE ol F BB Sahe] ALT o FHA199799 %A
2 woby XEIgT

lawdy = land 1+ convland g+ newlandy, k=12 (3-6)
A7)M landE 5 FAAA L, 222 covlands}t newlands HE A A

A 24 H7A AgAelt & he 3 & FESE AR

0 ¥37 FATEE £FAW $FAL TR FHAAE
CEFAYFE FAR SREY RBAN H2F AdE 4 AH 59
s 24 $EY AUE s¢=de Tz 4getad

In idid] ,= ag+ ar* Invfpll, + 2+ Insmwage, (3-7)
714 Ididl & =F3 HE, pll L 22451, 222 rwages 2E
d=gL grlgh

- FAYrE wAESES FEEYAE 28n =Yy Fr=
st E

In it = Bg+ b* In wfpseem? ) + In sinpeatp, |+ In rwage, | (3-8)
Q714 dideE RFABHL GehiE, fpum2s 243 23BE,
rinpuipes 22 FAELAE, rwagers 2EFPydE YT

O A= A A Frs 3A F AHFEA R PR FE5AS

B) 01d 85 £ "5=4] 7] o eFA., COT-6 T 2H U2, 168
T,
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Inqcy; ,= a;+ >k et g
(3-9)
+eogInmnputy, + diF Inacr;,
A7IA 1= HIEE, k= A5, fp= TR, inpuips TG R LA
AZ grste, £4A714 & GDP t]Eo|Hz t]EHe|HE 427

A2 et

A4 AT Ade A4 3 34A01Ee gz A
stk
CFAETFA AT AR AL Aeste] AdAsd =AM

ﬂaﬁi.?EH1%H1ﬂEﬂl%§&ﬁ%E4 s hael 71 &

NEEE-C

Inger,= ag+ ay* el + ag* In wetertn,
(3-10)
+ ag* Inacr,

A7|A acrd AAAR-AA, fp2 2 BRI, ewtps A E FAEA
78S ik

- ZErte] A% #ACT 9 BEEL AA WEEY oz FF507] &

A E5E AHA7E g2t stAAEDS FAGER TR Firh
TEH Zt FEOF L F A EMultiple Logit) - WEQ] 3 A

2 EHS 4ot AuE ddete] F5E 4FAHS 4S5

- E5E JEEAls A% 71t F52 JHEE A4k WFo 2 TR
0] B % EA7F 2ok deby s 239 RIEHES
st7] 43 W'y Fote EEAISA ] FoHA
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B A, 7R =EAA AH), SEAEHFAAN R FHE

- StAF A =AMcTEH o] 2FHE o8 B 78 FHYE A=

xR T

2w A StAl= A A SHA=A 2, stA=AWF, stAI= AR, FIE
A=A sz 2R

FAGEAE AR otE, 9 JIEHBAARER, B BEA &
A, FAFFASAS AR -FAGZ RS =R I

wal

3' (3-11)

i+ oo wngeto+ 0

wy = exp (It ) (3-12)
Wi (3-13)
acyy = w' g o Ulnndy— acvd) — Idid, — acld,— acriy) (3-14)

A7 w = BEY AN ARHE, » = wd PHEEd, iy = F58
AZE7A A, dopuips 22 FEFUACHE, lands FEARA,
acr30L FIFHA, Idide FAHEA, acr22E AAEANAHEY, a7 7
ErE S B3 £ JEhdch

o 23 ERE A9 3 HEUAL nHety s HeH, OE
EEL A7 wrd Jledng wrdste Agte] TFz A

- Tre] HEHATR ST 50 U 73S AR d =] HF| 2
A AA S ofair BHHEZ AHSHE

- F0 R THEAE GabA Y A FAA] deb ¢ HBTREELE B
A oAt A et 7d, 2 49 Fr flon ZEE 3
g, W 3 arx AL 48S {2
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In stemg; ,= ag+ @t lnacr; (3-15)
G714 sunge HEHAZ YERY® acr A S o vl St
- 3kFe] s dEdlED AT S 22 Fle ] g 2
HHCh

FLeHE, ¢
Q¥ t

In mdy o= @it @1i% In g V4 ag p* Intec (3-16)

o714 ydE B, sunge HERY, ard A A, 281 tece 7|E

Hr2 AJ7RE 9w g

- &o AY 2R ~H 3 Weld o 23 o] At g o) d4
A% AFdME ojg} TL whEoz A5 o FE(1097)9] T o=
A2 Yo ol EsiHch

o 2O )
M= T oyt enplaz® 20)) @-17)

4714 ydE B, acrd AP EA, 22T ecE FEEFR AL 9
slg.
. 3w AEEe WlEd ATY ¥z THHE.
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wr ReAE 37 Yehit
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Q4= QC¥y 0, (3-19)

714 gq= AT, ard A HA, yde FrE R

23 EME 25

Hn

O
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10 =5
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32 B perdd2 | ke | A | 19 RH] =2 LH[H/AIZE
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34 = perddd | ke | AH | 191 LH]=2SH[HASE
35 T perdds | ke | Al [ 191 H]=2 2H]RE/9IE
A E8A4E perdd) | kg | AR | 19192 H][=-2 2 H[HNIRZ
50 =41
o1 ats g perdsl | ke | A4 [ 1919 HO7]E2H[RE
dperdSl | kg | A4 1919 244107 2H[E
fperdSl | ke | A [ 1919 U4 D3] LH]FH
52 U= perdS2 | kg | A |19 HF S|
dperdi2 | ke | A4 | 1918 SR LH]RE
fperd52 | ke | A4 [ 1912 SURAELHR
dperdf52 | kg | A4 | 19HFA R H]H
doerdpS2 | kg | AHH 198 2HFHELH]E
doperdS2 | ke | A 1917 AAFAHELE]F
53 U perd5d | ke | AlE | 1919 sja] 07 SL4H]F
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1. KREI-ASMQ99 =517

ERE] -&2M0 99 MODEL FOR EOREASN LGR]CUOLTIRAL SECTOR

= A ZZ 220 pptionss

ZET DEFROLTE |

SET GLOBAL TOLERATE a0

SET F1T TOLERATE 30

ZET FORMAT OFFLINE

ZET FORMAT DEFTH 120

SET FORMAT COAFTORE EBOTH |

SET FORMAT LIBTING ASMO229 OOT |
ZET FORMAT FONT HTRIFLEX  FMNT;
ZET FORMAT ZCROLL TER,

SET FORMAT HOLD i

SET FRE@ &,

SET FER 1990 2010,

YR 'DEL ARMOS9 BNE' |

OPEN <PRI> LEMI3_ BNE
OFEN LIVE,
DPEN CROF |

v FNERES U MRl AR E.

============{1} MACRD 0R EXEENECIE YABR]AR[LE=================
SERIERS<1980 19987 REDP=GDF A GDEDEF . &=100;
BET PER 1980 1993,
EGQITAT] OW< AUTOR] T MO CONSTANT WOo: 1REDE REDES
{TEC<=1995 b={ BD P/ BOPDEF=100 ) +{ TEE > 19598 ={ {BDF_1 /EDPDEF_1=10od={1 +23E0F) ),

SET FER 1980 1993,
EQITAT] W< AOTOF] T M0 CONSTANT W 1&DF GDP=RGEDF=EDFDEF/ 100

-9 -



———————————— —— ——EDPDEF-——————————————

ZET PER 1990 199%;

EQUTAT] OW< AT OR] T N> ESDPDEF  LOG(EDPDER ) =LOG{REDE ),
LoE{ EXCHY

FIT<COEFE>

e T HEOME - —— = = ——— -
EET FER 19TE 1998;

EQUAT] OW AUTOR] T WOr EDIWE  LOG{D]NC/GDPDER®100 3=L0G {GDESPOP=100 0000,/ GDFDEF #1000 ;
FIT<COEFE>

- HAQHF ——-m————————————————
ZET PER 1980 1995
EQUTAT] OM< AUTOR] T MOr EMACHP LOE{MACHP )=LOG{ SDPDEF ),
LOE{EXCHY,
LG {RENT J,
Lo {COUTPUTE),
BPIEE(1993, 1) +8P1EE{1959d, 1 )+8P1 EE{199E, 1)+8FP1 EE( 1996, 1 }+EFIEE{ 1997, 1};
FIT<COERR? |

mm——mm——m—————— QURTP ——--————mm——mmm— oo
BET PER 1980 1998;
EQUTAT] OW< AUTOR] T NO> ECURTE  LOG{GURTP )=

LoE{EDPDERY,
LOE{EXCHY,

LG {GOUTFUTE Y,
DHGURTE
F1T<COEFR?

—m——mm————————— NPUTP —--—-——-———————————
BET PER 1980 1998;
EQUTAT] ON< AUTOR] T NO CONSTANT WD> 11NPUTE  1NPUTP=

0_ G54 BRTSCIRTE +HO_ 445 3T Z=MACHE |

e HBBE ————m——mm—mmmm

SET PER 1975 199%;
EQUAT] OW< AUTORI T WOF EWAEE WAEE/EDPDEF=100=
LOG{D NG 1/ GDPDEF 1=100),
Loe{COUTPUTE, 1 /GDPDEF 15100} |
FIT4CGOEFR? |

e e e e e e e e RENT e e e e

SET PER 1939 199%;

EQUAT] OW< AUTOR] T WO> ERENT RENT/GDPDEF=10m=
LOGE{HFF11 1/EDFDEF_1=100),
LOG{HARE 1/ BDPDEF_ 1=100),
LOG{GURTE . 1/EDFDER_ 1=100]),
Loe{RENT .1/ GDFDEF 1%100);

FIT4CGOEFR? |

- o



e O = H =3
o PRI MEEE

—-———-—————————-IMPORT PRI]CE-—---——--——---
BERIES<19TE 1998> EXFRI11=1000 REPEAT =
BERIES<1999 210> MFTF11=EXFRI111={(1+E/100 }=EXCH=1, 2280
BERIES<19TE Zo04> FP11TE=1000 REFEAT =

BERIEZ<200s 2olor FP11TE={ (EXPRI11+1_005+0 03)={1+TE11/100)=EXCH+
0 O1EEEMCH+EN S 051817 4=123 8

SERIES<19TS 1995r FPS1TE=1000 REFEAT =;
BERIEZ<1999 2010 FPI1TE={EXFRIZ1=1 6={1+TES1 100} =EICHI 1166 594 T;

BERIER<13TE 1998 FPILZTE=1v0n REFPEAT =)
EERIEZ<199% 20l0r FPIZTE={EXFRIZZ={1+TEIZ/100)=EICH) F1THE, T 06 3,

EERIEZ<19TE 1995 FPESTE=1000 REFEAT =;
BERIEZ<199% 20i0r FPE3TE={EXPRIZI={1+TEIS/100)=EXCHIF15T1. 9597 _¢;

BERIEZ<19TS 1998r FP3I¢TE=1000 REFEAT =;
SER1ES<199% 2010 FP34TE={EXPRIZ¢={1+TESE 100ISEICH) F1439 1835 2

BERIER<13TE 1998 FPEETE=1von REFPEAT =)
EERIEZ<199% 210> FPIETE={EXFPRIZS={1+TEIC/100)=EXCH) 1166 1s10¢ I,

EERIEZ<19TS 1995 FPR11TE=1000 REPEAT =
BERIEZ<199% 20i0r FPR11TE={EXPRIZ11={1+TEZ211/100)=EXCHI 2718 T=1 03 T;

SERIES<19TS 1995 FPR12TE=1000 REPEAT =
BERIES <1999 2ulor FPRI1ZTE={EXPRIZ1Z*{1+TEZ1Z/100)*EXCH) /264 L5®]1 46 ¢

BERIER<13TE: 1998 FPLI1QITE=1ung REFEAT =
BERIEZ<1999 2oior FPR101TE={EXFRIZI01={1+TEZ101 /100)=EXCH) fFETOE TSI 08 &)

EERIEZ<1999 zolor EXPRI1Z=EXPRI1Z[199541] REFEAT =;
EERIEZ<19TE 1995 FPISTE=1000 REFEAT =;
BERIEZ<1999 2oi0r FP13TE={EXPRI13={1+TE1Z 100)=EXCHY /1959 9=111 3;

BERIES<1993 Z010r EXPRI1IG=EXPRI14[199841] REPEAT &
BERIEZ<19TS 1998F FP14TE=1000 REFEAT =;
SERIES<1999 200> FPI4TE={EXPRI14¢={1+TEI¢/100)=EICH) /491 65%111 1,

BERIEZ41999 20l10> EXPRI1Z=EXFRI1IZ[199241] REPEAT =;
BERIEZ<198% 2ui0r FP1ZTE={EXFRI1Z={1+TEIZ/100)=EXCH) 693 RE=1dd 60,

SERIEZ<1999 2010r EXPRI4U=EXPRI40[199241] REFEAT =;
BER1ES {1989 2010 FP4OTE=fEXPRI40={ 1+TELO 100 SEICHY S TT2 5293 0

.93 -



v AAUN HHER -
============(z) ACREAGE FUNCT]OW=================
SET PER 1972 199%;
EQITAT] OW< ATTOR] T MO  EACRZEZ LOGE{ACRZZ)=
LogfacRRE 13,
LOB{NFP21_1/EDPDER_ 1=100),
LOB{CURTE 1 /BDFPDEF. 1=100)
FIT<COERR? |

2ET PER 1993 199%;
EQUAT] OM< AUTORI T MO CONSTAENT NO>  1ACRTD BACRTOS
ACRTD 1={1+RACRTOSIO0);

SERIEZ«19580 1933> BELAND=BASEUZ ELAND &
BERIEZ<1999 010> ELAND={ELAND[199641]+ELAND [199TA1 ] +ELAND [199581]) /53 REFEAT &

2ET PER 1922 1999;
EQUAT] ONSAUTORIT MO ELDIDA  LOG(LDIDI)=
LOE{NFP11_1/EDPDEF. 11003,

LOG{MAGZE 1/ GDPDER 1=100},
BPIEE{1992, 1)
FIT<GOEFR?

BET PER 1989 1998;

EQUAT] OW{ AUTOF] T Wor ELDIDZ LOS{LDIDZ)=
LOG{NFEFEUME 1/ GDFDEF 1=100),
LoE{ 1 NPUTE . 1/G0PDEF_ 1=100),
LOG{AGE 1/ GDEDEF 1=100),
DMLDI D

FIT<CDEFR> |

BERIEE<1920 19932 LDID=LDID1+LD]D;
EQUAT] OH< AOTOR]I T WO CONZTLNT MO>  1LDID LOID=LDIDIHLDIDE;

—————————— FRINT — o ———
SET PER 195¢ 1998;
EQUAT] OW< AUTOR] T MO EACRS1  LOGEACRS1)=
BCRE1.1,
{WFP31/EDPDEF*100) FROM 1 TD & DEGREE 1 FAR,
{NFEZ0/EDPDER=100) FROM 1 T 1,
{CURTE/EDPDER=100) FROM 1 T 1
FIT<GOEFRY |

RET FER 1982 1998,

EQUATION <&0TOFIT WOr EACRIZ ACRIZ =
LosfasRsz 13,
LG {MF P32/ GDPDEF=100) FROM 1 TO ¢ DESREE 1 WELR,
LOGE {GURTE/GDPDEF=100) FROM 1 TO 1;
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FIT<CDEFF >

RET FER 1979 1998,
EQUTATI 0N <AUTORIT N0 EACREE LOG{ACRSE) =
LoG{ACREE 1),
LOE{NFFP33/GDFPDEF=100) FROM 1 TD 3 DESREE 1 WELR,
LOG{NFF31 /GDFDEF=100) FROM 1 TO 1,
LOGE {CURTE/GDPDEF=100) FROM 1 TO 1;
FIT<GOEFR? |

SET FER 1986 1998,

EQUTATI 0N <ATORIT NOF EACRSY ACREE =
Lo {ACRSE 1),
LOE{NFF3¢/GDPDEF=100) FROM 1 TD 3 DESREE 1 FAR,
Lo (A GES GDFDEF 100} FROM 1 TO 1

FIT<GOEFR? |

BET FER 1980 1998,

EQUATION <&0TOFIT MOr EACRIS ACRIS =
LOE{ACR3E 13,
LoG {MFF3S/GDFDEF=100) FROM 1 TO 4 DESREE 1 WELR,
LOGE {CURTE/GDPDEF=100) FROM 1 TO 1;

FIT<GOEFR? |

FERIER«19580 1993> ACREBUOMI0= ACRS1+ACRIZ+HACRSS+HACRIG HACRSS |
ZET PER 1980 1993,
EQUUAT] OH< AOTOF]I T WO COMNZTLNT N> 1ACREIMED  ACREIMIO=

LORE1 HACRI 2 HLORE ZHACREEHADRES |

SET PER 1939 199%;

ERUAT] 0N <ATTOF1T NOF BACRI0 LOGE{ACRIO) =
LG { Ao RSTMNI0 ) |

FIT4CGOEFR? |

—————— e —FIRET EMMER-——= ——= === === ——— ==

ZET PER 1980 1995

EQUAT] ON< AITTORF] T NO CONSTANT WOr 1TACR TACR=({ACR11+ACRISHACRI4+HACRZ1+BCRED);

EQUAT] ON< AITTOR] T NO CONSTANT WOr 1HTACR WTACR={LOG{ACR11STACR J4+L0G] ACRIES TACR) +
Lozf ArR14S TACRI+LOE (ACRET S TACR J+LOEE ABR 40/ TACRY ) /G

EQITAT] OW< ATTOR] T MO CONSTAENT WOG 1M1l M11=ACR11/TACR;

EQITAT] OW< ATTOR] T MO CONSTANT WOG 1M1S  WM15=ACR1E/TACR;

EQITAT] OW< ATTOR] T MO CONSTANT WOG 1Mi4  WM14=A0R14/TACR;

EQITAT] OW< ATTOR] T MO CONSTANT WOG 1M21  M2i=ACR21/TACR;

EQITAT] OW< ATTOR] T MO CONSTANT W03 M40 H4O=ACREOSTACR;

EQUTAT] OW< AUTOF] T NO CONSTANT WOr 1811 £11=1 1TE9+0 3E905=L0G{NFF11  1/GDPDEF. 1100}
-0 02939 sL0E{NFF13_1/EDFDER_ 1100}
+1_ 064 ZER SLOE{NFP14 1/E0DPDER_ 18100}
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EQUTAT] OM< LOTOR] T MO CONETLNT

EQUTAT] OH< AOTOR] T WO CONZTLNT

EQUAT] DM AUTOF] T MO COMNSTLNT

EQUTAT] OM< LOTOR] T MO CONETLNT

EQITAT] OW< BITOR]1 T WO CONSTANT
{EXF (&1 1HITACRY. (EXF
EXF{ 213 HITACR J+EIF (&
EQITAT] OW< BITOR]1 T WO CONSTANT
{EXF (&1 3HITACRY. (EXF
EXF{ 213 HITACR J+EIF (&
EQITAT] OW< BITOR]1 T WO CONSTANT
{EXP {21 ¢HITACRY/ (EXF

-n_ ol T2z =L0G{NFP4D 1/E0PDEF. 15100}
-6_ 101 Te=L0GE {MFPEl 1/ BDPDEF .1 =100}

-n_1g691=L0e {GURTE .1/ GDFDEF_1 =100}
+_EEaTT={E11 1)

NO: 1815 #13=
-0_12286-0 Z1T20sL0E{NFF11 1/ GDPDEF 1=100)
+0_143TE*L0E( NFP13 1/ BDFDEF _1+100
-0, 0181 02=L0E (HFF14 1 /GDFPDEF 1%100)
+0_0T991E=L0G (NFF40 1/ EDFDEF 1100}
-0 4 EUSE*,0E( NFP21 | 1/ BDFDEF _1+100 )

+0_ 4 ES4 AL 0E] CURTE . 14 BDPDEF _1%100 )
+0_ FETT={E13 1)

WO 1814 Si4=

-0 TE9EE-0 343 0sL 0B NFP11 1/ GDPDER 1=100)
+H1_34519=L0E{NFP13, 1/EDPDER_ 1=100)

+1_ 04 T114=L0E{ NFP14 1/ BDPDEF 13100}

-0 24286 =L0B{NFP40_ 1/ EDPDEF . 1=100)

-0 _nEEEnasl, 03l NFP21 1/ BDPDEF _ 1=100)

+1_EZ003T=L0E{CURTE, 1/EDPDEF_ 1=100)
+H1_ZERTT={E14_1);

Wor 1840 g4o=
-0 44195+ 253941 SL0GE{ HFF11_ 1/E0PDEF. 15100}
-0 51192+L0E{ NFP13 . 1/ GDPDEF  1=100 )
+0_1e210sL0E{ NFP14 1/ GDPDEF _1=100 )
+0_ U4 TEEL0E (NFPE0 1/ EDPDEF 1=100)

-0 U0RIEEE =LOE{NFPE1_ 1/ EDFDEF 1%100)

+0_ 0134 28=L0E {GURTF .1/ GDFDEF_1=100)
+0_ FEETT={ S840 1)

W 1821 #mi1=
018731 340 04634903106 (NFF11 |1/ BDFDER _1%100 )
+)_ 1059395 0E( NFF13 . 1/ GDPDEF  1%100 )
-0 2B ¢E0EsL0Ef NFP14 . 1/ GDPDEF _ 1=100 )
+1_1EE 29 0L 0Ef WFP 40 1/ GDEDEF _1%100 )
+)_E105095L,0E( WFF21 1/ GDPDEF  1%100 )

-0 E8EE3C 5L 0E] CURTE . 1/ GDPDEF _1=100)
+_EEETTOd={E21 1}

WO 1M1 W11=
{811 +HITBCR )+

1t HITACRI+EXE (B4 OHITACR ) +HEXP{Z 21 +HTACRY 3 )
WO: 1M1E  W13=

{811 +HITBCR )+

1t HITACRI+EXE (B4 OHITACR ) +HEXP{Z 21 +HTACRY 3 )
Wor 1M1t Wi4s

{811 +HITBCR )+

.96 -



EXP{ 813 HITACR J+E AP {81 ¢ HITAC R +EXP {84 0HITACR) +EXP (S 21+ NTRCRY 3 )
ERITAT] OB AUTOF] T MO CONSTANT NP 1HED  Weo=

{EXP {84 oHITACRYS (EXP{ 811 HITACR )+

EXP{ 813 HITACR J+E AP {81 ¢ HITAC R +EXP {84 0HITACR) +EXP (S 21+ NTRCRY 3 )
ERITAT] 06 AUTOF] T WO CONSTANT NOr 1HM21  Wei=

{EXP{E21HITACRYS (EXP{ 811 HITACR )+

EXP{ 813 HITACR J+E AP {81 ¢ HITAC R +EXP {84 0HITACR) +EXP (S 21+ NTRCRY 3 )

EQITAT] OW< BUTOR] T MO CONSTRNT NOG JACR11  ACRI1=
{TEC<19993% { (11, (W1 1HT1 31 d HIEO+HITEL )
={ LAND- 3CR30-LO] D+ELAND- ACRTO-ACRZ2 ) J+ADACRTT I+
{TEC==1993) #1066+
{TEC?1999)% { (11, (W1 1HT13+1d HILO+HITEL )
={ LAND- 3CR30-LO] D+ELAND- ACR TO- ACRZ2.) J+ADACRTT )
EQITAT] OW< BUTOR] T MO CONSTRNT NOG JACR1E  ACRIGS
CEMIL S (W1 1 HT1 31 HI -T2z ) )
={ LAND-8CRE0-L0] D +ELAND -ACRTO-ACRZZ) ) |
EQITAT] OW< BUTOR] T MO CONSTRNT NOG JACR14 ACRI14=
CERI s (W1 1 HT1 G+ HIEOHTZ1 ) )
={ LAND-8CRE0-L0] D +ELAND -ACRTO-ACRZZ) ) |
EQITAT] OW< BUTOR] T MO CONSTANT NOG JACRED  ACR40=
€ (o (W1 1-HT1 S+ HILOHTZ S )
={ LAND-8CRE0-L0] D +ELAND -ACRTO-ACRZZ) ) |
EQITAT] OW< BUTOR] T MO CONSTANT NOG JACRZ1  ACRZIS
CEMra s (Hd 1 HT1ZHHT = oHTZ1 ) )
={ LAND-8CRE0-L0] D +ELAND -ACRTO-ACRZZ) ) |

e~ SECOND ETAEE -——-——————-

1DENTI T
ZET PER 1980 1995
EQUAT] ON< AITTOR] T WO CONSTANT NOF 1TACRZ1  TACRZ1={ACRZ101+ACREZI0ZHACRZIOZHACRZIOL]);
EQUAT] ON< AITTOR] T WO CONSTANT NDF 1HTAGRZ1 WTACRZI=

(LoG{AcR21 o1 TAGR2] YL OG] AOR21 O TAZRZY I+

LoEf ACRZI0Z TACRE] Y HLOE{ACRIIO4S TACRRL ) 3/ g
EQITAT] OW< AUTOR] T MO CONSTAENT WOG 1M2i01  Wziol=acR21o1/ TAGRED;
EQITAT] OW< AUTOR] T MO CONSTAENT WOG 1M2i02  W2do2=acR21o0/ TAGRED;
EQITAT] OW< AUTOR] T MO CONSTAENT WOG 1M21i03 W2l 03=ACR2Z105 TAGRRL;
EQITAT] OW< AUTOR] T MO CONSTAENT WOG 1M2i04 Wi o4=acR2Z104/ TANRED ;

EQUAT] UM< AUTOFI T WO COMSTANT HO» 182101 g2191=
0 4OEGE-0_ 02T18sL0E (NFPE1 03 1/ E0PDER . 1% 00 )
H1_ 1T 0sL0E{NFPZ101 1 /EDPDEF. 1 #1000}
-0 _13¢e0sL0E(NFPL104_ 1 /EDFDEF_ 1 =100)
-0 _0nEISL0E(NFPZI0E_ 1 /EDPDEF. 1 %100}
+¢|
+¢|

CUEEDEALOE] 1 NPUTE 1/ BDPDER _1%100 )
JgodET={Ez101 1)



EQUAT] OW< AUTOR] T WO CONSTRNT NOG 182i0n  golons
-0 F1RE4-0_ 054 93sLOG{NFPL103 1/ GDPDEF _1=100)
-0 _usTessL0E{NFFE101 1/EDFDEF, 15100}
+0 39881 L0 {NFPZ10¢_ 1 /GDPDER . 1=100)
+_oTeeeslLosf NFP21 0L 1/GDPDER, 15100}

-0 _FIE03sL0E( 1 NPUTE 1/ GDPDEF _1=100)
+1_qodeT={Ea102 1);

EQUAT] ON< ATTOF] T N0 CONZTANT WOr 182103 22103
-0 BTE99+H)_ 28851 #LOGE{NFPL103E 1/ GDPDEF  1%100)
-0 100z sL0E(NFPL101 1/ EDFDER_ 1%100)
-0 2EREESLOG(NFPLZ104 1/EDPDEF_ 1%100)
-0 19395 a0 E{NFFPL102_ 1/ EDFDEF_ 1%100)

+H)_23813=L0E(1NPUTE 1/ GOPDEF _1=100)
) ododeT={EEI03 1)

EQITAT] OW< AUTOR] T MO CONSTAENT WOG 18z2io4  £do4s
0. 4EE08-0 1 463ELOE{NFP21 03 1/G0PDER, 1=1 00}
+1_O0gTE 4L 0E NFP21 01 1/GDPDER . 151 00)
-0 0z1g9=L0E{NFP2104 1/EDPDEF 1 =100}
L13EEEsLOE{NFPZ102 1 /EDPDEF 12100}

+¢|
+1 0zongt= 01 HPOTE 1/ GDPDEF 15100 )
1 qodeTE(Ezi04 1)

EQITAT] OW< ATTOR] T WO CONSTANT WO JACRZI01  ACRZioi=
({EXP{E2I0l HITACRZL )/ (EXP{S2I01 HITAZRZ] )+
EXP{E21 02+HTACRE 1 J+EXP (22103 +HTACRZ] J+EXP{ 221 04-+HTACRZ1) 1)
=fanRz13d;
EQITAT] OW< ATTOR] T WO CONSTANT WO JACRZI0Z ACRZIiORZS
({EXP{E2In2HITACRZL )/ (EXP{S2I01 HITAZRZ] )+
EXP{E21 02+HTACRE 1 J+EXP (22103 +HTACRZ] J+EXP{ 221 04-+HTACRZ1) 1)
=fanRz13d;
EQITAT] OW< ATTOR] T WO CONSTANT WO JACRZI0Z ACRZ1OE=S
({EXP{E2I0EHITACREL )/ (EXP{S2I01 HITAZRZ] )+
EXP{E21 02+HTACRE 1 J+EXP (22103 +HTACRZ] J+EXP{ 221 04-+HTACRZ1) 1)
=fanRz13d;
EQITAT] OW< ATTOR] T WO CONSTANT WO JACRZI04 ACRZ104=
({EXP{E2I0d-HITACREL )/ (EXP{S2I01 HITAZRZ] )+
EXP{E21 02+HTACRE 1 J+EXP (22103 +HTACRZ] J+EXP{ 221 04-+HTACRZ1) 1)
=fanRz13d;

—m———m—————————— WINTER --—-—--—-——————————

1DENTI TY
ZET FER 1980 1993

EQUAT] OW< AUTOR] T WO CONSTANT W0> 1TACRW TRORW={ACR1Z+ACRE11+ACRE 1Z+ACRE1EHLDIDND;
EQUAT] OW< AUTOR] T WO CONSTRNT W0F ]HTACRM WTACRM=
{LOG{ACRIZ /S TACRIT ) +L 06 { ADR21 1/ TACRM I+
Loe{ ACRE1Z/ TAGRH )+L 06 ACRE1 3/ TACRM ) +L0E (LD 1 D/ TACRN) 1 /55

- a8 -



EQUUAT] OM< BUOTOF] T
EQUUAT] OM< BUOTOF] T
EQUUAT] OM< BUOTOF] T
EQUUAT] OM< BUOTOF] T
EQUUAT] OM< BUOTOF] T

EQITAT] OW< BOTOE] T

EQITAT] OW< LUOTORE] T

EQUUAT] OM< BUOTOF] T

EQITAT] OW< BOTOE] T

EQITAT] OW< LUOTORE] T

o]
o]
o]
o]
o]

[2]e

o

o]

[2]e

o

COMETANT
COMETANT
COMETANT
COMETANT
COMETANT

GO TANT

G OB TRNT

COMETANT

GO TANT

G OB TRNT

Wor 1M1z HW12=8CR1 24 TACR;

Wor 1ME11  W21l=4CR211F TACRM;
Wor 1ME1z  W2lz=&CR21ZF TACRM;
Wor 1ME13 W213=4CR21:3F TACRM;
Wo> 1WLOIDH HLDIDH=LD] DHS TRC R

WO 1812 s1z=
0_15980+1 0439 L0 NFP12_ 1/ EDPDER, 151 00)
+_ ool 625 3L 0E NFP211 1/ GDPDER . 1=100)
-0_13310=L0E (NFP212_ 1 /E0PDEF. 15100}

+_ U1 GRS ELOGE{NFP215 . 1/ GDPDEF 12100 )

-0 964 o4 =L0E (HABE 1/EDPDEF 1=100);

WO 18211 ®211=
-0 EIE09-0 4040 3SL 0B NFF1Z 1/ GDFDER  1=100)
+7_ 211 BE*L0GE (MFF211 1 /E0FDEF. 15100}
+_19T¢1=L0GE (MFP212 1 /80FPDEF. 15100}
-0_11863*L0GE (MFFP213, 1 /E30PDEF. 15100}

+1_ 11369=L0E (HAGE 1/GDPDEF 1=100);

WOy 1gElz gRlas
-1_942E-0 63145 =L0E{NFF12_ 1/ G0FDEF. 1=100)
-0 15g6¢=LOGE{NFFE11_1/GDFDER . 1%100)
+1_1TE1T=LOGENFPE12_ 1/ GDFDER. 1100}

+o_ oozl ofl sLoE{NFPR13 1/ GDPDEF _1=100 )
+0_E1691=L0G (AGE 1/BDFDEF 1=100);

W ls2ds  gmiss
-0 E9188-0 OTIE LG (NFP12_1/EDPDEF_1=100)
-0 OOT 264 0L 0E NFP211 1 /GDPDEF . 1=100)

-0 196 32=L0E (NFP212 1 /E0PDEF. 15100}
+_10216=L0E (NFP213 1 /20PDEF. 15100}
+1_1TE11=L03E (HABE 1/EDPDEF 1=100);

WO 18LDIDH  SLDIDW=
%_SRL941 4+ OT1ZT124+LOE{NFF1Z_1/EDPDEF . 1%100)
-0 04T 366 TE*LOG (NFFR11_ 1/ GDPDEF . 11 00}

-0 041 160 TE*L0E (NFFR12_ 1/ GDPDEF . 11 00}

-0 04l DBEZI*LOG (NFFR13_ 1/ GDPDEF . 11 00}

+H)_ OB ERZE0SL0E (HAGE 1/ GDPDEF 1100} ;

ERITAT] OGS AUTOF] T WO CONSTANT NOr 1M1z Wiz=

{ EXP €1 2HITACRE )/ { EXP {21 ZHITAGRI) +

EXF {821 1 HITAC RN} +EXP{ 821 2 HITAGRN ) +EX P {221 3 HITAC RN} +EXF{SLD] DH+HTACRHD ) 3
ERUTAT] OGS AUTOF] T WO CONSTANT NOF 1M211  HW2ll=

{EXP {E211+WTACR )/ (EXP (R 12+WTACR )+

EXF {821 1 HITAC RN} +EXP{ 821 2 HITAGRN ) +EX P {221 3 HITAC RN} +EXF{SLD] DH+HTACRHD ) 3
ERUTAT] OGS AUTOF] T WO CONSTANT NOF 1M2lz  Hzlzs

{EXP {E212+WTACRI )/ (EXP (R 12+WTACR )+

- 00



EXF {821 1 HITAC RN} +EXP{ 821 2 HITAGRN ) +EX P {221 3 HITAC RN} +EXF{SLD] DH+HTACRHD ) 3
EQUAT] OW< AUTOR] T MO CONSTRNT WNoF 1H213 Hzis=

{EXP {S213+WTACRI )/ (EXP (S 12+WTACR )+

EXF {821 1 HITAC RN} +EXP{ 821 2 HITAGRN ) +EX P {221 3 HITAC RN} +EXF{SLD] DH+HTACRHD ) 3
EQUAT] OW< AUTOR] T WO CONSTRNT WN0F IHLDIDH  WMLDIDH=

{EXP {SLOIDHHHTAGRE )/ { EXP {51 ZHITAC R +

EXF {821 1 HITAC RN} +EXP{ 821 2 HITAGRN ) +EX P {221 3 HITAC RN} +EXF{SLD] DH+HTACRHD ) 3

EQUTAT] OW< AUTOF] T WO CONSTANT HOr JACRIZ  ACR1ZS
CHA2S (M1 2HT211 HIZ1 2 HIZ 1 S+NLD 1D )
= {LAND-ACRE0-L0 ] D+ELAND-ACRTO- BERZZY

EQITAT] OW< AUTOR] T MO CONSTANT NO: JACRZ11  ACRZ11=
(211, (1 ZHIE11 HIZ1 2 HIZ 1 G+HNLD 1D )
={LAND-ACR 30 -L0 1 D+ELAND-BCR TO- ACRZZ Y
EQITAT] OW< AUTOR] T MO CONSTANT NO: JACRZIZ ACRZ1Z=
(212 (M1 2HIE11 HIZ12HIZ 1 EG+HLD 1D )
={LAND-ACR 30 -L0 1 D+ELAND-BCR TO- ACRZZ Y
EQITAT] OW< AUTOR] T MO CONSTANT NO: JACRZIZ  ACRE1ES
(WZ13/ (12+21 1 +HE1 2HTZ1 5 HILDIDH ) )
&{ [, BND-ACGREO-L 0] D+EL BND -BCRTO -80REE 3
EQITAT] OW< BUTOR] T MO CONSTRNT NOG ILDIDW  LD]DH=
(HLD] DHF (W1 2HT21 1HT21 2 HIZ 13+HALD 10H ) )
&{ [, BND-ACGREO-L 0] D+EL BND -BCRTO -80REE 3

. B ZFEE .

bbb {3} '{] ELD FUNI: T] I:l N:: e e

e FRII] Tmmmmmmm e e e e

BET PER 1985 1998

EQUATION <ATOFIT WO ESUNES1 LOG{SUNEZ1) =
LOG{ACRZ1 ) FROM 2 TO Z,
LOG{ACRE1 ) FROM 9 TO 9

F1T<COEFF >

BET PER 1985 1998

EQUATION <ATOFIT WO ESUNESZ LOG(SUNEIZ) =
LOG{ACR3Z) FROM 3 TO &

FIT<CDEFR> |

BET PER 1985 1998

EQUATION <ATOFIT WO ESUNGESS LOG(SUNEIS) =
LOG{ACRZE) FROM 2 TO 2,
LOG{ACRZZ) FROM & TO &

FIT<CDEFR> |

ZET FER 1985 1993
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ERUTAT] 0N <ATTOFI1T N0F ESUNGE3t LOB{SUNEEE) =
LOoE{RCR3E ) FROM 1 TO 1,
LoG{ACR3L ) FROM ¢ TO 4
FIT4CGOEFR? |

SET PER 1935 199%;

ERUTAT] 0N <ATTOFI1T N0F ESUNE3S LOB{SUNEZS) =
LoG{ACRIS) FROM ¢ TO 4

FIT4CGOEFR? |

————————— T1ELD
ZET PER 1955 1995
EQITATI OW <ATORIT Wod EYDE1 LOB{YyD3I1) =
(TEG-1970),
(BMEE1S ACRE1Y,
BFIEE{1991, 1) +8F1EE{1993, 1)+8F] EE{ 1994, 1 J+8P1 EE{1995,1};
FIT<GOEFR? |

ZET PER 1990 1995

EQUATION <&TOFIT WOr EYDEZ  YD32 =
LoE{TEC-1970),
LOEE S E e, AR ERY

FIT<COERR? |

SET PER 1999 199%;

EQUATI O <&UTOFIT WMOF EYDSS YDES =
LOGE{TEC-19T0),
LoG{SUNGEEES ADRIS),
YDHMES

FIT4CGOEFR? |

YOS

ZET PER 198T 199%;
EQUATI ON <&UTOFIT WOr EYDS¢ YDaEd =
LOE{TEC-19T0),

LOG{SUNGEEE ACRAL)Y,
BFIEE{1922,1 }+8FIEE{1929, 1) +8P1EE{1992,1);

FIT<CDEFF >

SET PER 197T 199%;

EQUATI ON <&0TOFIT MOr EYDSS LOGE{YD3ES) =
LoE{YD3s 13,
DMEE,
BPIEE{199z, 1)

FIT<COEFE>

R IRE T mm e m e e e e

ZET FER 19Te 1993
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EQUATI ON <&UTOFIT WOr EYD1S Y03 =
Losfyods 13,
(TEG-1970),
BPIEE{199¢, 1)
F1T<COEFR?

SET FER 19Te 1993,

EQITATI ON <ATTOFIT MOF EYD1¢ YD1¢ =
Locfroie 1%,
{TEC-19T0),
EPIEEf1982, 1)+2P1 EE(1991, 1 ) +2P1EE{1994,1);
FIT4COEFR> |

2ET PER 1976 199%;
EQUATION <AUTDRIT NDr EYD40 LOE(YDLnd =
Yoo d,

{TEG-19T0),
BPIEE({1982, 1)+8FP1 EE(1993,1 M +EP1EE({1998,1);

FIT<CDEFF >

SET PER 1976 199%;
EQUATI O <AUTORIT MOor EYDR1 DRl =
vozl i,
(TEG-1970),
BFIEE {1978, 1)+8PIEE{1990,1);
FIT<GOEFR? |

T oy -1 e e

BET PER 198¢ 199%;

EQUATI 0N <&UTOFIT WO: EYDiz  LOG(YD1z) =
Logfyoin 13,
LOE{TEC-19T0),
YDMiZ

FIT<COEFRS ;

2ET PER 1984 1995

EQUTATI OW <ATORIT Wod EYDRi1 YD1l =
Losf{yozil 13,
{TEG-19T0),
YDME11;

FIT<GOEFR? |

SET FER 19Te 1993,

EQUTATI 0N <ATORIT NOF EYDL1Z YD21: =
Loe{rpziz. 1},

LOE{TEC-13T0),
YDMELZ
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FIT<CDEFF >

SET PER 1976 199%;

EQUATION <&UTOFIT MOr EYDZ13  YDR13 =
Los{rpziz 1d,
LoE{TEC-1970),
BPIEE{1992,13;

FIT<GOEFR? |

e )

BET PER 1931 199%;
EQUATI O <AUTORIT Mor EYDRIol LOG(YDziol) =
Los{rpziol 1),
LoE{TEC-1970),
BFIEE{1985, 1) +8F1EE(1988, 1 )+8F1EE {1992, 11 +8P1EE{199T, 1);
FIT<GOEFR? |

SET PER 1935 199%;
EQUTATI ON <AJTOR1T NOF EYDRI0Z LOG(YDz102) =
YDZ1oz 1,
BPIEE{1986, 1 )+2PIEEf1990, 1 J+2PIEE(1993, 1) ;
FIT4COEFR> |

2ET PER 1951 1995
EQITATI OW <ATORIT WOs EYDRI03 LOE(YD2i0z) =
LosEfyozioz_ 1),
LoE{TEC-19T0),
BPIEEf1986,1 )+8P1 EE(1929, 1 J HEPI1EE{1990, 1 }+RFPIEE(1993, 1) +BP1EE {1996, 1) |
FIT<GOEFF? |

SET PER 1981 1998

EQUATI ON <&UTOFIT WOr EYD2iod LOG(YDRiod) =
Los{roziod 1),
LOE{TEC-19T0),
BPIEE{1996,13;

F1T<COEFR?

o« AME AFHFE

================={ ) PRODOGTI ON FUWCET] ON=====================
e o I I

ZET PER 1280 19985

EQUATION <AOTOFIT WO CONSTANT NO> 1031 @31 = ACRE1=7D31/100;
BET PER 1930 19955

EQUATION <AOTORIT WO CONSTANT NO> 1032 @32 = AGRIZ®FDIZSI00;
BET FER 1230 1998,

EQUATION <&0TORIT MO CONSTANT NO> 1033 @33 = ACRIS®IDISS100;
ZET PER 1280 19985
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EQUTATI O <&UTOFIT MO CONSTANT MO> 1034 @3¢ = ACRIE=DIE 100
ZET PER 1980 1993,
EQITATI O <ATORIT MO CONSTANT NO> 1035 @35 = ACRIS=YDISS100;

e e - B

2ET PER 1950 199%;
EQUATI ON <AUTORIT WD CONSTANT NO® 1011 @11 = ACR11=yD11/100;
SET PER 1959 1998;
EQUATI ON <AUTORIT WD CONSTANT NO> 1013 @13 = ACRIZ&YDIZS100;
SET PER 1989 199%;
EQUAT] O <&UTOFIT WD CONSTANT NOF 101 @14 = ACR14=YD14/100;
2ET PER 1950 199%;
EQUATI ON <AUTORIT WD CONSTANT NO® 1040 Q40 = ACREO=YDLOS100;

e e -

2ET PER 1950 199%;

EQUATI ON <AUTORIT WD CONSTANT NO® 1012 @12 = ACRIZEYDIZS100;

SET PER 1959 1998;

BQUTATION <AUTORIT WD CONSTANT WOr Te2il il = ACRZI1sYD211/100;
SET PER 1989 199%;

EQUATI O <AUTORIT WD CONSTANT WOr 1212 Q12 = ACRZIZeYDR1ZA100;
2ET PER 1950 199%;

EQUTATI 0N <AUTORIT WD CONSTANT WOr 10213 QR1E = ACRZIZeYD2E 100

e 1 |

2ET PER 1950 199%;
EQITATION <AUTORIT WD CONSTANT WOP 10210l G2iol = ACRZI01=YDEiolf1o0;
SET PER 1959 1998;
EQUTATION <AUTOFIT WO COMETANT WOP 102102 G2ioz = ACRZIOZ®YDE1OnS 100,
SET PER 1989 199%;
EQUAT] 0N <AUTOFIT M0 COMSTANT WOr 1G2105 G2ios = ACRZIOS®TDE10S 100,
2ET PER 1950 199%;
EQITATION <AUTORIT WD CONSTANT WOP 102104 G2iod = ACRZIO4ErDEIoLn 100,
SET PER 1959 1998;
EQUTATION <AUTORFIT WO COMSTANT WOP 1021 @2l = Qeiol-+2zloz+gelod+Haziod;

o 1005 4| 9 D1 HEEE -

=111 L

SERIEZ<19TE 1998r TOE1=@31  1+M31-X31;
BET PER 1975 199%;
EQUTAT] ON< AITTOF] T MO CONSTANT WOr 1TDE1 TDE1=
{TECY=1998) {031 1+M31-X31)+{TEC>1 998 1= 31 _1;

BET PER 1981 1993
EQITAT] 0N BITTOF] T WO BCPE1 LOG{TOPE1/E0PDER=100 )=

LOG{TD31 SPOP=1000),

LOG{D NG/ SDPDEF=100 ),

LOE{DEES POP=1 oo ),

EPIEE{1990, 1 }+EPIEE(1993, 1) +EP 1EE {1996,1)

FIT<GOEFRT |

ZET PER 1980 1993,
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EQUAT] OW< AUTOR] T WO CONSTRNT NO> 1PERDE1 FERDE1=EXF{ {LOG{NCFS1/GEDFDEF=100 )
-BCF31_ COEFFLE,1 1%L oG] D] M0/ 3DFDEF =100}
-ECP31_COEFFL 3,1 =L 06 D35 /POP=1000)

-ECP31 COBFF[4, 1]={8P1EE {1990, 1) +8P JEE(1993, 1)+8P1EE( 1995, 1)
-ECP31_ COEFF[S,1]3/ECP31. GOEFF[1,11);

HERIEE<19TE 1998> TDIL=Q3ILHIZR-XEL;
SET FER 1975 1993,

EQUUAT] OM< BOTOR] T MO CONSTLNT WHO> 1TD32 TINEE=

(TEC<=19958) &{ p3z+M3z-X3 20+ { TECH1 995032 ;
SET PER 1957 1995

EQUAT] OW< AUTOR] T WOF ECPEZ  TOPSR/GDPDEF=100=
Loe{TOS2/POP=1000],
LoE{D NG/ GDPDEF=100 )
FIT4CGOEFR? |

BET FER 1980 1998,

EQITAT] OW< AUTOR] T MO CONSTANT WO 1FERDEE PERDEZ=EXF{ {{NCP32/EDFDER®100)
-ECP 3L, COEFF[ 2, 1 ]=L 06 01 WCS GDFDER #100)
-ECP32_COEFF[E,1]3/ECP3Z. COEFF[1, 113

FERIER<19TS 1998> TDE3=R33H1I3-X33
ZET PER 19TE 1993,
EQUUAT] OH< BOTOR]I T WO CONZTANT WO> 1TDIZ TNES=

(TECY =1998) =f R -HEE-X33) +{ TEC> 1990 ) =03 3
SET PER 1951 1995;

EQITAT] OW< AUTOR] T MO> ECPEE  LOG{ TOPE3, GDPDEF s100)=
LOGE{TDZESPORS1000]),

LOGE{D WG GOPDER=100 ),
BPIEE{1995,1);

FIT<CDEFF >

ZET PER 1980 1995

EGQITAT] OW< ATTOR] T MO CONSTANT WO> 1PERDEE PERDEZ=EXP{ {LOG{NCP3E/EDPDER=100 )
-ECPEE COEFF[Z, 1] =L0E{0 NS/ GDPDEF=100 )
-ECPEE CGOEFF[3,1]={2PIEE{199E 1}}
-ECPE3 _ CDEFF[4,1] }/ECPES_ COEFR[1,11);

SERIEE<19TES 1998 TDE4=QR3¢-H1I4-X34,
ZET FER 192TS 1993

ERITAT] ObFS AUTOF] T WO CONSTANT NOr1TDE¢ TDE4=
{ TEC <=1 993 b={ Qo ¢-H13¢— 034 J+{ TEC2 1995 ) *0 34 |
ZET PER 193¢ 199%;
ERITAT] OB ADTOR] T WOP ECP34 LOG{TCPZ4EDPDER=100 )=
LOE{TDZ4 SPOP=1000]),

LOE{D NG/ EOPDERF=100 Y,
BPIEE({1993, 1) +2P1EE(1996, 1)

FIT<COEFE>

ZET PER 1980 1993,
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EQUAT] O AUTOF] T WO COMSTANT WNO> 1PERD3Y PERDA4=EXFY{ {LOG{NCP34/EDPDEF=100 )
-ECP3¢_COEFF[Z,1 ]=L0E{ DINC GDPDEF=100)
—BECP3¢_ COEFF[E,1]={sP1EE{1993, 1 )+8P1EE{1996,1 )}
-ECP3¢ GOEFF[4,1]1)/ECPS¢ COERFL1,11);

EERIEE<19TE 19983 TDEE=Q3L-HMEL-HIMAZE-XEE
SET FER 1975 1993,

EQUAT] O AUTOR] T W0 CONSTAWNT W0 1TDAE TOEE={ TEC<=1992)= QI +HMIC+MMAIE—X3E I+

{ TEG>1998 ha{ Q35 HIMAZS § |
SET PER 197T 1995

EQUAT] OW< AUTOR] T WO? ECPES {TOPSS/GDPDEF=10m )=
Losf TOIS/POP=1000),
Lo D1NC/ SDPDEF =100 ) |
FIT4CGOEFR? |

BET FER 1980 1998,

EQITAT] OW< AUTOR] T NO CONSTANT WO 1FERDES FERDES=EXF{ {{NCP3E/EDFDER®100)
-ECP3S COEFF[Z,1]sL0G{0 16 GDPDEF®100 )
-EGFE5 _ COEFF[E,1] J/ECPES_ COBFR[1,11);

B 1 -1~

RICE
ZET FER 1988 1993

EQUAT] OW< AUTORI T MO: EMFT11 LOG{MFT11)=

LoE {MFTF1 1/ GDPDEF =100),
BPIEE{1992, 1 }+2PIEEf1993, 1 J+2PIEE(199¢ 1) ;
FIT4COEFR> |

ZET FER 192TS 1993
EQUAT] ON< BUTOF] T WO CONSTANT WMO:1ZEED1]1 SEED11-REEED11_a=(Q11_1;

ZET PER 1975 199%;
EQUAT] OM< BUTOF] T WO CONSTAENT NO» ILOSS11 LOSg11=
RLOSE11_ &={ 1l 1+8T11 . 1-+HIMAT IFS+HI11);

S===========SEENBRI0 ANAYE]E(1)ss====================

e —EEWBRID 1-——m—m—mmm

IZET FER 1975 1993;

IEQUAT 10 ATTOR 1T MO CONSTANT NO31TDi1 TD1i=

! (TEES=1992  #{(11_ 1+8T11 1+ 1-+MMA1 1R -2T11-FEED 1-2EED11-LOSE11 -MFT11-X11 3+
! (TEC> 1998)={011 1 +8T11  1+MMA11FE—2T11 -FEED] 1-SEEC11 -LOSE1 1-MFT11);

a1 B i

'ZET FPER 19TS 1992

'EQUAT JON<A0TOF 1T MO CONETANT NO>1TD11 TD11=

(TEC<=1992)={Q11 1+8T11 1-+M11+MMA11-ET11-FEED11-S8EED1]-LOSE11-MFT11-X11 3+
(TECr1298)={p11 1+5T11 1+MMAI1-5T11-FEED11-SEED11-LOSE11-MFT11)

2 L1 [ S
EET FER 19TE 1998;
EQUAT] OB ATTOR] T MO CONSTANT W03 1TD11 TD11=
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{TEG<=1998)={011_1+5T11 _1+Ml1HMAIIFX-ET11-FEED11-5EED11-LOSE11-MFT11-X11 3+
(TEG:1998)={0p11 1+5T11_ 1+IMA11FX-5T11-FEED11-SEED11-LOSE11-MFT11);

e —EENAR 10 i m——m e e -
IEET FER 19T 1998;

|EGQUAT ION<ATTOR 1T WD CONSTANT WO>1TD11 TD11=

! (TEC<=1992 ={g11 1+5T11_1+111+1MA11-8T11-FEED11-SEED11 ~LOSE1 1-MFT1 1-%11 3+
! {TEC>1998)= {011 1+5T11  1+MMA11-8T11-FEED11-8EED 1-LOSS11-HFT11 ]} ;

ZET PER 197T 1998;

EQITAT] 06 AUTOF] T WO> EPERDI1  LOE{D11/POR1000)=
{WCF11/BDFDEF=100 ),
{WCP12fBDFDEF=100 ),
{PERDS1+PERDSZ+PERDES1Y

FIT4COERR? |

BET FER 1980 1998,

EQUAT] ON< AITTOF] T WO CONZTANT Wor 1TCP11 TCP11={ {Logf TO11SFoP=1000]
-EFERD11 GOBRF[Z,1]*{NCP12/ BDFDEF#100)
-EFERD11_COEFF[3E, 1] *{PERDE] +PERDS 3+ ERDEG]

-EFERC11 . GOEFF[4,11)/EPERDI1 COEFE[1,1])=GE0DFDERS 100,

ZET PER 19TE 1993,
EQITAT] OH< AOTOR] T WO CONZTLNT N> 1TMFT1E TMET1E3=RTMFT13=013;

ZET FER 192TS 1993
EQUAT] DM< AUTOF] T WO CONSTRNT N> 12EEDLZ EEED12=REEED1Z A=@13)

SET FER 1975 1993,
EQUUAT] OM< ROTOR] T MO CONSTLNT MO> 1TLORE1E TLORE1Z=RLOEE13=213;

SET FER 1975 1993,
EQUUAT] OM< BOTOR]I T WO CONSTANT WMO>1TD1Z TDA:E=
(TEC{=1992)={013+5T13 _1+H 3-5T13-FEED] 3-SEED13-LOSE1 Z-MFT13-X13} +

{TECG>1 998 )= M1 3-8EED13-TLOSS1 3-THFT13) ;
SET PER 198T 1998

EQUAT] OM< AUTOF] T WOr ECF13 NOP1S/GDPDEF=100=
LoEfol 3/ FOP=io00),
LoE {01 WCS BDPDEF=] o)

FIT<CDEFE:

ZET PER 1957 199%;
EQUAT] ON< AITTORF] T NO: EFERDIZ  D13/POP=1000=
LOG {HEP12/BDFDEF=100 Y,

LOG {01 S BDPDEF=1 00,
BPIEE{1989,1);

FIT<COEFE>

107 -



SET FER 1975 1993,
EQUTAT] OW< AOTOF] T WO COMSTANT WO: 1TMET14 THMET14=RTMFT14+*014 ;

ZET PER 19TE 1993,
EQITAT] OH< AOTOR]I T WO CONZTLNT N> 12EED14 SEED14=REEED14_ A=a1d;

ZET FER 192TS 1993
EQUAT] OW< ATTOF] T MO COMNSTANT W0: ITLORE14 TLOSE14=RLOGEL14=014¢;

SET PER 1975 1998
EQUAT] OW< ATTOR] T MO GOMSTAWT WO 1TD14 TD14=
{TEG<=1998 = {Q1 ++3T14 1+ ¢+H1MA1 +-5 T14 -FEED] 4 SEED1 4 -LOSE1 ¢-MFT14-X14 3+
{TEC: 1998 b=f 014 -SEED14-TLOSE1 4-THMFT143 ;

SET FER 1980 1993,

EQUAT] OW< AUTOR] T WO> BECP1d¢  LOE{NGP1d, GDPDEF s100)=
LoefD1es POP=1000 ),

LOoE{D NG/ GOPDEF=100 )
FIT<CDEFF >

SET PER 1982 1998
EQUAT] OW< ATTOR] T N> EFERDI4 LOG{D1d/POFsiooo)=
(WPl 4/ GDPDEF=100),
{0 ING/ BDPDEF=100 ) |
FIT<GOEFF? |

SET PER 1975 199%;
EQUAT] OW< BUTOR] T WO CONSTANT WO3 1TD4S TD4o={TEC<=1998)= (i oHl4n— 140 i+
{TECr1998h={atnd;

SET FER 1978 1993,

ERITAT] OB ADTOF] T NOF ECE40 NGP40/EDPOEF®1 00=
LoefDens POP=1 000 ),

Loe{D NG/ GDPDEF=100),
SPIEEf1984, 1) +8P1EE(1989,1);
FIT4COERRS |

ZET FER 1980 1993
EQUAT] O AUTOR] T WO CONSTANT WO IPERDGD PERDGO={@40H4 00403 /PDPE1 000 |

e T HTERm === === == mmm mmmmmm mm e

ZET FER 1980 1993

EQUAT] OW< AUTOF] T MO GCONSTARNT N0 IFEEDLZ FEED1Z=RFEED1Z A={Q12+5T1Z 1+H112);
EQUAT] ON< BUTOF] T WO CONSTANT MO:1&T1z BT12=RETiZ A={Q1z+ET12 1+#M2};
EQUAT] OM< BUTOF] T WO CONSTANT WNO:IMFT1Z MET12=RMFT12_ &={@12+5T12 1HM2);

EQUTAT] OH< AOTOR]I T WO CONZTLNT N> 12EED1Z ZEEED1Z=REEED1Z A=213;

EQUAT] O AUTOR] T W0 CONSTANT 0> ILOSS1Z LOSE12=RLOES1Z A={@iZ+8T1Z 1+112);
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SET PER 1986 1993
EQUAT] OM< AUTOF] T WOr ECF1Z  NCGP1Z/EDPDEF=100=
LoEfDiz POP=i 000 ),
LOG{D NG/ EOPDER=100 )
FIT<COEFRS ;

ZET FER 1980 1993
EQUAT] M= AUTOF] T WO CONSTRNT WO> JPERDIZ PERD1Z=
{P12+5T12 1+M1z-5T12-FEED] 2-SEED12-LOSE12-MET12-X12) POP=1 000

SET PER 1975 199%;

EQUAT] OW< AUTOR] T MO CONSTRNT W0k 1TD211 TD211=
(TEC{=1992)={Qa11+E8T211 1-+MMARI1+ME11-X211-8T211 }+
(TEG: 1998 ={Qz11+MMAZI 1+HET211 1-8T211 )|

BET PER 193¢ 1993
EQUAT] ON< AITTOF] T WO: ECF211 {(TCPE11/EDPDEF® o) =
LOGE{TDZ11S PORS1000])
LOGE{D WG SGOPDER=100 )
FIT<GOEFR? |

ZET PER 1980 1995

EGQITAT] OW< ATTOR] T MO CONSTANT WO 1PERDZ11 PERDE11=EXP{{ {N:P2i1/EDPDEF=100 )
-ECP211 COEFF[Z,1]=L0oG{D NG/ GDPDEF=100 )
-ECP211 COEFF[3,1]1/ECPZ11_ COEFF[1,11);

SET PER 1975 1993

EQUAT] ON< AITTOF] T WO CONSTANT WOr1TD212 TD212=
(TECS=1992) ={0212 HST212 1+MMAZ] 2+ 2 -X212-ST21n i+
(TEC> 1998 = {01 2+MMARIZHITR1R 1 -8T212};

SET PER 1933 199%;
ERITAT] OGF AUTOF] T WP ECP2lz LOG{ TOPR1z/GDPDEF=100)=
LoefTOZ12/ POP=1000]
LoE{D NG/ GDPDEF=100 )
FIT4CGOEFR? |

BET FER 1980 1998,

EQITAT] OW< AUTOR] T MO CONSTARNT N0 1PERDZIZ FERDEZ1Z=EXP{{LOG{NCFLZ12/EDFDER®100)
-ECF21Z _ COEFR[Z, 1]#L06 (0] NG/ EDPDEF®1 oo )
-ECP21Z COEFF[3, 1]1)/ECPZ1Z_ COEFE[1,11);

ZET PER 1976% 199%;
EQUAT] ON< BITTOR] T WO: ECP213 (WCPR213/EDPDEF=1O0)=
LoGE{DR1ESPORS1000]),

LOGE{D WG GOPDER=100 ),
BPIEE{1990, 1) +EPIEEf1991,1);

FIT<CDEFF >

-1



BET FER 1980 1998,

EQITAT] OW< AUTOR] T MO CONSTRNT N0 1FERDZ1Z FERDE1Z=EXP{{ (N:iF213/EDFDEF=100 )
-ECF213 COEFR[Z, 1]+L06 (0] NG/ EDPDEF®1 oo )
-ECPZ13 COBFR[E, 1]={8P1EE (1990, 1) +EF1EE {1991, 1))
-ECP213 COEFF[4, 113 /ECP2Z13. COEFF[1,11);

e EEEOND - ————— = =~
EET FER 19TE 1998;

EQUTAT] OW< AUTOF] T WO CONSTANT WO>1TD2191 TDziol=
(TECS=1998h ={pz1 01 1+8T101_ 1+MMaz 1ol Hziol-N2101-gTeiol )+
(TEC>1998)={QE101 1+8T2101 1-8T2101);

SET FER 198T 1993,

EQITAT] OW< BUTOR] T WO> ECP2iol LOE{HCFPR101/ BDFDEF=100)=
LoE {02101 SEoF=1000),

Lo 0] 9GS BOPDEF=L 0] |
FIT<CDEFF >

BET FER 1980 1998,
EQUTAT] ON< AITTOF] T WMO> BEFERDZIO1 D101/ FOR=1000=
LOGE{NCPR101 GOPDEFS100 ),
LOGE{D WG SGOPDER=100 )
FIT<GOEFR? |

SET FER 1983 1993,

EQITAT] OW< BUTOR] T WO ECPR10% LOE{NCFR10L/ GDFDEF=100)=
LoefDziozs POP=1000)

Loe{D NG/ GDPDEF=100),
BPIEE{198T,1);
FIT4COERRS |

SET PER 1939 199%;

ERUTAT] 06 AUTOF] T WO CONSTANT NOr 1PERDZIOZ PERDZ102=EXP {{LOG{NCP2I102/GDPDEF=100)
-ECP21va GOEFF[Z,1]=L0aE{0 NG, GDPDEF=100 )
-ECP2Z10L COEFF[E,1]={2FILE{192T,1))
-ECP21va COEFF[4,1] ) ECP2102 COBFF[1,11);

SET FER 1983 1993,

EQITAT] OW< BUTOR1 T WO ECPR103  LOG{NCFZ103/EDFPDER®] 00 )=
LoefDzios POP=1000)

Loe{D NG/ GDPDEF=100),
SPIER{1985, 1 J+8P1EE(1989,1);
FIT<COERR? |

SET PER 1939 199%;

ERITAT] 06 AUTOF] T WO CONSTANT NOr 1PERDEIOE PERDZI0E=EXP {{LOG{NCP2105/ GDPDEF =100}
-ECPR1UE _ GUEFFLZ,1]=L0E{0 NG GDPDEF=100 )
-ECPE10E GOEFFLE,1]1={8PIEE{1985, 1 »+RPIEEf1989, 10}
-ECPR1U3 _COEFF[4,1] ) ECP2103 COBFF[1,11);
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SET FER 198z 1993,

EQUAT] W< AUTOR] T WP BECPziod LOE(NCFR104/ G0FDEFS100)=
Loefoziods POP=1000)

LOoE{D NG/ GOPDEF=100 )
FIT<CDEFF >

BET FER 1980 1998,

EQUAT] O AUTOR] T WO CONSTLET N0 1PERDZIOG PERDZIO4=EXF {{LOG{NCPZ104/GDOPDER*100)
-ECP2104 COERF[Z, 1]sL0G{D NG/ GOPDEF=100 )
-ECP2104 COEFF[Z,1] )/ECP2104 COBFF[1,1]);

--—-:PRICE: REFER TO PR]ICE CONVERS]OW PART
SET FER 1980 1993,

EQITAT] O AOTOF]1 T WO COMSTANT M0> IFERDZ1  FERDZI1=DZ1SFPOF=1000;

. JlHEE A FEolH BHRE -
==================(g) PRICE CONVERS 10N FUNCT I0N==================o======
BET FER 1230 1998,
EQTAT] O <AOTOFI1T WD CONETANT NO>ITFERE1  TEPE1 =TORI1=C0NVEL |
EQTAT] O <AOTOFI1T WD CONETANT N> 1FF31 WNFPE1 =

{ TFP 312 =FPE1TE)*FP31TE+{ TFPE1<FPE1TE J=TFP31
EQUATION <&OTOFIT WO CONSTANT WO: 1C0PS1 NOPS31 =NFP31/CONY31;

ZET PER 1980 1993,
EQIUAT] O <A0TOFIT WO CONETANT WMO» 1TFP3EZ  TEP3Z =TCPEZ=CONVIR |
EQUATI O <A0TOFIT MO CONETANT MO> 1FPEL  NEPEZ =

{ TFPE2»=FP3LTE) =FP 32T E+{ TRP 32 {FP32TE )= TFP 3L
EQITATI O <AUTORIT MO CONZSTANT MO 1CP32  HCOP32 SNEPIRSCONVSEL|

BET PER 1980 1998
EQUATION <ATOFIT MO CONSTANT MO 1TFPEE TRFPSS =TCPZ3=CONVES |
EQUATION <A0TOFIT WO COWSTANT WO 1FPE3E WRPES =

{ TFP 33> =FP 33TE)*FP33TE +{ TFF 33< FE33TE }=TFPS 3|
EQUATION <A8TOFIT MO CONSTANT HOr 1CP33E  NOFES —NFPEE/CONVEE;

BET FER 1980 1998,
EQUTATI 0N <ATOFIT NO CONSTANT NOr 1TEE34  TREGE =TOFSE=CONVEE
EQITATI 0N <ATORIT MO CONSTBNT NO* 1FPEt WNREGE =

{ TFF 347 =FF 34 TE ) *FF3 4 TE+{ TFF 3¢+ FEG4TE } *TFFa¢
EQUTATI OW <ATORIT WO CONSTANT NOr 1CFE4  WNOP34 =NFE3& CONVEE

ZET PER 1980 1993,
EQIUATI O <&OTOFIT WO CONETANT WHO» 1TFP3E  TEP3S =TCPEE=CONYVIL
EQUATI O <A0TOFIT MO COWNETAMNT MO> 1FPES  NMEPEE =

{TFP35r =FP3ETE)*FP3ETE +{ TFP3E4 FPEETE J #TFPEE;
EQITATI O <AUTORIT MO CONZSTANT NO> 1CP3E  HCOP3E =NFP3ESCONVSS

ZET FER 1980 1993
EQITAT] OM <AOTOFIT MO CONSTANT NO> 1TFFP11  TFP11 =TCOP11=CONVi1;
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=====sooooosssoosmosgENARI D (2 l=ss-osssmssssommmms
|- ———BEW&R 10 1-———— =
|EQUAT 10N {A0OTOFIT WO CONSTANT NO* 1IFF11  WFP11 =TFP11;

lmmmmm e e e ERWAR 10 Zmmmmmmmmmmm— e
IEQUAT 10N <AUTOFIT WO CONSTANT WO IFF11  WFF11 =TFFil;

e e e BENAR] [} Fmm—m ——m e m e e
EQUATI 0N <&UTOFIT MO CONSTANT WOr 1FP11  WFP11 =
{TFP11>=FF11TE} *FF11TE+{ TFF11<FF11TE}=TFF11;

1< L I-1- 3 [ B
IEQUAT 10N <AUTOFIT WO CONSTANT WMOd 1FF1i  WRP11 =
! {TFP113>=FF11TE }aRP11 TE+{TRP11<FP11 TR} *TFP11 ;

EQTATI O <&UTOFIT MO CONSTANT MO> 1CP11  MCOP11 =WFF11/COMNV11;

SET FER 1980 1993,
EQUAT] O <&UTOFIT MO CONSTANT MO> 1TFF13 TFP1Z =TCR13=CONYV1E;
EQUATI O <&0TOFIT MO CONSTAMNT MO> 1FF1E  MNFF13 =

{TFF1 3> =FF13TE)*FF1 3TE+{TFF13<FF13TE }*TFF13;
EQITATI 0N <AOTORIT MO CONAETANT NO:> 1CP13  MCOF1S =NFF13/CONV1E;

ZET PER 1980 1995

EQITATI OW <ATORIT WO CONSTANT HO® 1TEP14  TRP14 =TCP14=CONYVI4;

EQITATI OW <ATORIT WO CONSTANT WO* 1FP14  WRP14 =
{TFP14>=FP14TE Y *F P14 TE+{TRP14 <FF14TE} *TFF14 ;

EQITATI OW <ATORIT WO CONSTANT HOP 10P14  WEP14 =HFP1&/CONVid;

EQUATI O <&0TOFIT MO CONSTANT MO> 1FP40 MEF40 =WNCP4OSL0NTED,

EQUAT] 0N <&UOTOF]T MO CONETANT MO> 1FP1Z WMFF12 =NCOP1Z=C0NY12|

SET FER 1980 1993,

EQUATI O <&UOTOFIT MO CONSTANT MO> 1TFFZ11 TFRP211 =TCFZ11=CONVZ11;

EQUAT] O <&0TOFIT MO CONSTAMT MO> 1FFZ11  MFP211 =
({TFFZ11>=FPZ11TE}*FP211 TE+{TFF211<FFZ11TE}*TFF211 ;

EQITATI 0N <AOTORIT MO CONATANT NO> 1CPEZ11  MOPR11 —HFFZ115CONVEZ11,

ZET PER 1980 1993,
EQUATI O <AOTOFIT MO CONETANT HO» 1TFPLZ1Z  TEPR1Z =TCOPZ1z=CO0OHVZIZ;
EQUAT] O <A0TOFIT MO CONETAMNT MO> 1FPRI1Z MFP21Z2 =

{TFP212>=FPZ12TE} *FP212TE+{TFFP212{FPZ12TE}=TFP21Z;
EQITATI O <AOTORIT MO CONSTANT MO 1CPRZ1Z  MNOP212 =HRP21ZSCONVZIZ;

EQUATI O <&UOTOFIT MO CONSTANT WMO> 1FPR13 NFF213 =MCP213=G0NVE1E

ZET PER 1980 1993,
EQUAT] O <&0OTOFIT MO CONETANT HO» 1TFPZI01 TEP2101 =TOPZ10l1=C0NY2101;
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EQUAT] 0N <&0TOF]T MO CONETANT NO> 1FP21i0l  WNFFP2101 =
{TFP2101>=FPz1v1TE}=FP2101 TE+{TFP2101 <FP2101TE }*TFP2101
EQTATI O <&UTOFIT MO CONETANT MO 1CPEZ10l  NCFR10l =MFFa101/CoNvziol;

EQUATI O <AUOTOFIT MO CONETANT HO» 1FPRIOZ  WEPR102 =HOPZI10zsZ0NV2Inz;
EQUAT] O <&UOTOFIT MO CONSTANT MO> 1FPRI0E  WRP103 =HMCFZ103sC0Nvains,;
EQUAT] 0N <&UTOF]T MO CONETANT WNO> J1FPZ1od NFP2104¢ =MCF2104=C0Nvaiog,;

SERIES<1980 1998 ARZI=AGR1_i1={i+
(POErA{eP2101 )/ 1o0={2 oo 13+PCHYR{HCPRioR) foo={3 T/20 1)
+PoHYR{CPZ103) f1ons{1 2/an 1) +PCEFAINCPRIOL ) 1 one{12 1020 133
-—— CONSUMER PRICE WEIBHT{VEEET-BARLIC-ONIOW=20 1}

ZET PER 1980 1995
EQUATION <&0TOFIT WO CONSTANT NOrlAGZ1 AG21=AEz1 1%
(1+{PoHYR{NCP2I01 ) Ao0={2 E/a0 1 +PCEYA(NCPRio2 ) i1o0s{3 T/20 1)
+PoHYR{CPZ103) f1ons{1 2/an 1) +PCEFAINCPRIOL ) 1 one{12 1020 133

ZET FER 1980 1993
EQUTATI O <&UTOFIT MO CONETANT NOXICPR1l WOFPRZ1 =AG21FAEEI[199581 J=100;

EQUATI 0N <A0TOFIT MO COWNETAMT MO> 1FP21  NMEP21 =WCPR1=C0NY21

v EABoH|Z BE
:::::::::::::::::::{T} TOTAL CONSMPT] QN=========-=-=-=—-=--o—--=---——-----==-=-=
EET FER 1975 1998,
EQITAT] OW< BTTOR] T MO CONSTRNT NO: 1011 D11=
(TEG<=z20o04 ) ={TD11 )+
(TECrZO0E AND TOP11<=FP1iTE)={TD11}+
(TECXRO0¢ AND TCP11rFP11TE J#{ PERD11F0FS 10007
EQITAT] OW< BITTOR] T MO CONSTRNT NO: 1013 D13=
{TOP13<=FP13TE }={TD1 3)+
{TCP13>FP13TE) #{PERD1Z*POPS1000] |
EQITAT] OW< BITTOR] T MO CONSTRNT NOG 1014 D14=
{TCP14<=FFP14TE }={ TD1 ¢ 3+
{TCP14>FP1¢TE) #{PERD14=F0OP S 1000] |
EQITAT] OW< BTTOR] T MO CONSTRNT WNOG 1040 D4o=
{TOP40<=FP¢OTE b= TOd 0+
{TCP4U>FP4OTE) #{PERD$USPOR S1000] |
EQITAT] OW< BTOR] T MO CONSTRNT NO: 1031 DE1=
{TOP31<=FP31TE }={ TD31 )+
{TCP31>FP31 TE) #{PERDZ1=POF S1000] |
EQITAT] OW< BTTOR] T MO CONSTRNT NO: 1032 DEz=
{TOP3R<=FP32TE ) ={TD32 )+
{TCP32>FP32TE) #{PERD32&POF S1000] |
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ERUAT] 06 ATTOF] T WO CONSTANT WOr 1033 DE3=
{TOP3E<=FP33TE )={TDS3 )+
{TCPE3>FPaETE) ={PERD33=FOP /1000 |
ERUAT] 06 ATTOF] T WO CONSTANT WOr 1034 DEt=
{TOP34<=FPa34TE ) ={ TD3¢ 1+
{TOPE4 PP TE) ={PERD 34 =POP 10003
ERUAT] 06 ATTOF] T WO CONSTANT WOr 1035 DEg=
{TOP3E<=FP3ETE J={ TDSE 1+
{TCPES>FPISTE) ={PERDSE=FOP /1000 |
ERUAT] 06 ATTOF] T MO CONSTANT WOr1Dlz Dlz=
PERD1Z =P0E/ 1000
ERITAT] 06 AUTOF] T WO CONSTANT NOrI1D21l Deid=
{TOP2114=FPR11TE I ={TD211}+
{TCP211>FP211TE}={PERDZI1=F0P/1000) |
ERITAT] 06 AUTOF] T WO CONSTANT NOr 1Dz Delz=
{TCPR12<=FP21zTE)=(TDZ12)+
{TCP212»FP212TE)={PERDZI1Z=F0P/1000) |
ERITAT] 06 AUTOF] T WO CONSTANT NOF 10219l Deigl=
{TOP2101<=FFE101TE} = {TD2101 1+
{TCP2101> FP2101TE J={ PERD21V1=F0R/ 1000 ) |

EQUUAT] OM< BUOTOF] T
EQUUAT] OM< BUOTOF] T
EQUUAT] OM< BUOTOF] T
EQUUAT] OM< BUOTOF] T
EQUUAT] OM< BUOTOF] T

EQITAT] OW< BOTOE] T

= e
S SIS e

o]
o]
o]
o]
o]

[2]e

COMETANT
COMETANT
COMETANT
COMETANT
COMETANT

GO TANT

22 -

BET PER 1980 1993;
EQUTAT] OW< BOTOR] T WD GONSTANT WO>11MP11 IMP11={TEC<=19%3 =0 _0
+{TEC?1 998 b={ 011 -TD11};

BET PER 1980 1993;
EQITAT] OW< BOTOR] T WD GONSTANT WO>11MP13 IMP13={TEC<=19%31s0_0
+{ TEC?1 998 ={p13-TD13) ;

SET PER 1950 1995;
EQITAT] OW< AUTOR] T WO CONSTRNT WO311MPi¢ TMP14={TECG<=1995 &0 o
+{ TEC>1 995 b={ D14 -TD14)

SET PER 1990 1993;
EQUTAT] OW< AUTTOR] T WO CONSTAENT N0 11MP4s 1MP40={TECS =199 jao_o
+{ TEC>1 992 b={ D40 -TD4o)

ZET FER 1980 1993
EQUAT] OW{ AUTOR] T W0 CONSTANT WO 11MP31 IMPE1={TEG{=1992 =0 0

Mo>1Da1o DRIVE=QR10a |

MO>1Da10d DRI103=Ral1us

N> 1DE10¢ D210¢=0210

Mo> 1021 Dal=Dalol+Dal o +HDa103+D210¢
Mo> 10213 Dal3=Rals;

Wo> 1040 D4o=PERDLOEFORS 1000,
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+{ TEGr1 993 j={ D31 -TD31) |

ZET PER 1980 199%;
EQUTAT] OW< AUTOF] T WO GCONSTANT N> 11MP3E IMESZ={TECE =199 j=0_o
+{ TEC>1 995 h&{ D32 -TDE2)

ZET PER 1990 199%;
EQUTAT] OW< AUTTOR] T WO CONSTAENT N> 11MPEE IMESS={TECS=1995 jao o
+{ TEC>1 992 b={ D33 -TDE3)

SET PER 1939 199%;
ERUAT] O AUTOF] T WO CONSTANT 60> 11MP34 IMP34={TECs=1995 =0 0
+{ TEGr1 993 §={ D3¢ -TD3¢ ) |

ZET PER 1980 199%;
EQUTAT] OW< AUTOF] T WO GCONSTANT N> 11MP3S 1MESE={TECS =199 j=0_o
+{ TEC>1 995 b&{ D35 -TDEE)

ZET PER 1990 199%;
EQUTAT] OW< AUTTOR] T WO CONSTAENT N0 11MP12 IMP1Z={TEC< =199 j=o o
+{TEC»1 998 b={ D12 -TD12)

SET PER 1989 1995
EQITAT] OW< AUTOR] T MO CONSTRNT WOs11MP211 IMPZ11={TEC{=199g}=0_0
+{TEC1 998 b={0211-TO211);

ZET PER 1980 199%;
EQUTAT] OW< AUTOF] T WO CONSTANT WOr11MPR1z 1MP21z={TEGS=1998) 50 0
+{ TEC»1992 3={ D21 2-TDZ12};

ZET PER 1990 199%;
EQUTAT] OW< AUTTOF] T WO CONSTANT N> 11MPEiol IMP2i01={TEC<=1998)=0 o0
+{ TECr1 990 ={ D21 01-TOZ 101 3|

SET PER 199¢ 1993

EQUAT] ON< AITTOR] T WOr  EMdo LoG{manl=
LoE{FP40TES GOPDEF =100},
LoE{NCPL 0/ SDPDER=100 ) ;

FIT<COERR? |

ZET PER 1993 199%;
EQUAT] ON< AITTOR] T WOr  EM1Z Miz=

Lo { FP1 2TE /GO PDEF=1 00 3/ { HCP12,/ GDPDEF =003}
FIT<COERR? |

ZET PER 1939 1995;

EQITAT] W AUTOF] T WO CONSTANT NMOr 1MTi1 WT11={TEC<=1998)smss T +
{TEC>1992) ={WT11 1={1+PCHYA{NFP11} /1 oo+POHYRL 011 d/1on) ),

EQITAT] OHS AUTOF] T WO CONSTANT NP 1WT1Z WT13={TEC<=1992)=7.8 +
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{TECr 1992 ={HT13 1= {1+PCHYA{ WFP13) /1 o0+PCHYR] @13 3 /100 35
ERITAT] OGS AUTOF] T WO CONSTANT NOF 1HT14 WT14={TEC<=1995)=13 2 +

{TECr 1992 ={WT1¢ 1={1+PCHYA{ WFP1¢ ) /1 o0+PCHYA] @14 3 /100 35
EQUAT] OW< ATTOR] T MO GOMSTANWT WO 1MT21l WT21={TECK=1998)=152 o+

{TECr 1992 ={HMT21 1={1+PCHYA{ WFP21 ) /1 o0+PCHYA] @21 /100 35
ERITAT] 06 AUTOF] T MO CONSTANT NOF 1HT40 WT4o={TEC<=1995)%6_1 +

{TECr 1992 ={HT¢0 1= {1+PCHYA] WFP40 ) /1 o0+POHYR] Q40 3 /100 35
EQUAT] OW< ATTOR] T MO GOMSTANT WO 1MTiZ WT12={TEC<=1998)=13 & +

{TECr 1992} ={WTiz 1={1+PCHYA{ WFP12} /1 o0+PCHYA] @12 3 /100 )
EQUAT] OW< ATTOR] T MO CONSTANT WO 1MT211 WT21i={TEC<=1998)=1g_ ¢ +

(TECr 1992y ={Ta1l 1 =(1 +PCHYA(NFP211 ) A1o o+ CHTA Q211 3/ o0d ),

EQUAT] OW< AUTOF] T MO GONSTRNT N0 1MT212 WT2lz={TECG{=1992)=T_ 9 +

(TECr 1992y ={Ta1z 1 =(1 +PCHYA(NFPR12) A1o o+ CHT A RR1Z /1 o0d ),

EQUAT] OW< ATTOR] T MO GOMSTANWT WO 1MTS1 WTS1={TECK=1998)s2& 3 +

{TECr 1992 ={WTe1 1= {1+PCHYA] WFP31 ) /1 o0+PCHYA] @31 /100 35
EQUAT] OW< AUTOR] T MO CONSTANT WO 1MT3Z WTE2=({TEC<=1998)s3 ¢ +

{TECr 1992 ={WTe2 1= {1+PCHYA] WFP32 ) /1 o0+PCHYA] @32 /100 35
EQUAT] OW< ATTOR] T MO GOMSTANWT WO 1MTSE WTS3={TEC<=1998)=1T & +

{TECr 1992 ={WTe3 1= {1+PCHYA] WFP32) /1 00+PCHYR] @33 /100 35
EQUAT] OW< AUTOF] T MO CONSTANT WO 1MT3¢ WTE4={TEC<=1998)aT_ & +

{TECr 1992 ={HTa¢ 1= {1+PCHYA] WFP34 ) /1 o0+POHYR] @3¢ /100 35
EQUAT] OW< ATTOR] T MO GOMSTANWT WO 1MTSS WTES={TECK=1998)s20 T +

{TECr 1992} ={HTes 1= {1+PCHYA] WFP3S ) /1 00+PCHYA] G35 3 /100 35

EQITAT] OM< BOTOR]I T WO CONSTLNT MO 1WTROM MTEON=

WT 11+HT1 3HIT14-HIT 0 HIT 21 +0T1 2HIT21 1 HITEZ1 2+

WT Z1+HT3 2HTTEE HIT 3¢ HIT 25

EQUAT] OH< AOTOR]I T WO COMNZTLNT B0 THTROMZ MTEOMZ=
WT 13+HT1 4 HITEO-HIT 21 HIT12+T2 11 +HT2 12+
WT Z1+HT3 2 HITEE HIT 3¢ HIT 35

EQUAT] DM< AUTOF] T WO CONSTRNT NO> 1WTEOMI0 T EOME0=
WT 31+HT3 2 HITE3HIT 3¢ HIT 35

EQUAT] ON< AITTOF] T HO CONSTANT WOr 1GOOTPUTE COUTEOTP=
{TEC {1992} ={ EASEYZ : COUTPUTE _a)
+{ TEC>=1992 )= {NF P11 SHT 11 HTE UM+NFE 13 SHT 13, HTE UM
+HFP 14 =T 4./ W TEOMHTFER 1 T2 1. TR
+HFP £ 0= IT4 00 (I TEITMHTFEL 227 T1 2.0 TEIR
+NFP211 =T 211 /T S0 HIF P21 2&0T2 12/ HTEM
+NEP 31 =WT3 1/ HTEOMHIFPS 2 TZ 2/ M TETN
+NEP Z3=WT3 3/ HTEIMHIFPS ¢ S T34/ HTEIM
+NEP 35 =T 5/ HTETM)

EQUUAT] OH< BOTOR]I T WO CONSTLNT MD:> 1FFPI0 NFEE0=
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{TEC< 19298 ={BAREVL  NFE 30 _ A}
+{ TEG > =1995 )= {MF P31 #HT 31/ HTS UNE O-+HIFPE 2= HT3 2/ HTETMED
+HFE 33 HTE 3¢ M TEUTME HIF P34 S TS/ HT SUME0
+WFE ZE=WTE 5 TSNS

EQUTAT] OW< AT OF] T WO CONSTANT HOr 1FPRUME NFESUMEZ=
{ TEC < =199 &8)={8BA4aSEOQZ

+{ TEC>1992) ={ NFF1 3=MT1 5/ TSN
+HEE 14 =T 44 TSN +FE 21 19T 21/ MTE M2,
+HEE 4 0&IT 4 04 W TSN +FE 1 2% 10T 1 2.4 MTE M2
+NFF 211 T 211/ WT SN 2-HIFF2 1% 4T 212 / MT &M
+WEE 31 =WTE 14 TSI +FE 32 10T 32/ MTE M2
+WFF Z3®WTE 5/ W TEITHZ +HFE 54 ST 34 TS
+NFF 35*WT3 5/ MTETNZ) ;

= H =3 A
o ZHEF 2|MHs AH
HF1
BET PER 1925 19932,
EQITAT] ON< AITORF] T WD> EHF]

WNORMAL 1ZE WP I1E=EXP{7T7?);
FIT;

HET PER 1985 1993,
EQUATI O <A0TOFIT MO CONETLNT

(]
SET FER 1985 1993,
EQITAT] OM< &UOTOR]I T WO:  EGFI

WNORMAL 1ZE CEIE=EXF{77);
FIT;

ZET FER 1985 1993
EQITAT] 0N <ATTOF 1T MO CONETANT

FoLREM HAGE
ZET FER 1988 1993
EQITAT] DM< ATTOF] T WO> EWLGER

WORMAL 1ZE MAGEWNE=TT|
FIT;

ZET FER 1985 1993
EQITAT] 0N <ATTOF 1T MO CONETANT

=
T

MO

LOoG{HE ] 3=
LOG{ BDPDER ),

LOG{EXCHY

WO>1HE]  HWF] =

(YEAR{1999)={LIVE: HF] & )+{YEAR =1999)= (P 1E};

LOE{GR1 3=
LoE{ 0P DEF 3,

Loef EXCH);

Wo>1CF1  CFP1 =

(rE8R<1999)={LIVE:CP] & )+{ YERR»=1999)={CPIE};

HAGE =

WO> 1WAGEN HAGEWN =

(YEARS 19990 {L]1 VE : HAEEW

- 117 -
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{YERR> =1999) ={AGEHE ) |

FEED FRICE FOR CORT
ZET FER 1987 1993

EQUAT] DM< AUTOF] T MO> ENFFEEDS1 NFFEEDS1=
CPCORN=EXCH,
CPEOY=EXCH,
DDos;

NORMAL 12E NFFEEDES1=TT;
FIT;

SET PER 1935 199%;

ERUTAT] 0N <ATTOFIT MO COWSTANT WO:1WPFEEDS1 WPFEEDS] =
{YEARS19990={L] VE: NFFEEDE1 &)+
{YEAR> =1999) {NPFEEDES1 +43 ) |

FEED FRICE FOR MILE-COWN
ZET FER 1987 1993

EQUAT] DN AUTOF] T WMO> ENFFEEDSZ NFFEEDS 2=
CPCORN=EXCH,
CPEOY=EXCH,
DDos;

NORMAL 12E NFFEEDES2=TT,
FIT;

SET PER 1935 199%;

ERUTAT] 0N <ATTOFIT N0 COWSTANT WO:1WPFEEDSZ WPFEEDSZ =
{YEARS19990={L] VE: NPFEEDEZ &)+
{YEAR> =1999) ={MFFEEDESZ+41

FEED FRICE FOR HOG
ZET FER 1987 1993

EQUAT] DN AUTOF] T WMO> ENFFEEDSE NFFEEDS 3=
CPCORN=EXCH,
CPEOY=EXCH,
DDos;

NORMAL 12E NFFEEDESZ=TT,
FIT;

SET PER 1935 199%;

ERUTAT] OW <ATTOFIT MO COWSTANT WO:IWPFEEDSE WPFEEDSS =
{YEARS19990={(L] VE: NFFEEDSS &)+
{YEAR> =1999) ={MFFEEDESS+53 )

FEED FRICE FOR ERDILER{CGH] CEEN)
SET PER 198T 1998

EQUAT] DM< AUTOF] T WMO> ENFFEEDS41 NFFEEDS41 =
CPCORN=EXCH,
CPEOY=EXCH,
DDos;

NORMAL 12E NFFEEDES41=7T;
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FIT;

SET PER 1985 1998

EQUAT] 0N <&UTOFIT WD CONSTANT WO>INPFEEDS41 WPFEEDS#1 =
{YE&R<1999)={L] VE: NFFEEDS41_ &)+
{YEAR> =1999) ={MFFEEDES41+44 )

FEED FRICE FOR LAYER{EZE CHICEEN)
SET PER 198T 1998

EQUAT] DM AUTOF] T WMO> ENFFEEDS42 NEFEEDS42 =
CPCORN=EXCH,
CPEOY=EXCH,
DDos;

NORMAL 12E NFFEEDES42=7T;
FIT;

SET PER 1985 1998

EQUAT] 0N <&UTOFIT WD CONSTANT WO>1NPFEEDS4z WPFEEDS42 =
{YE&R<1999)={L] VE: NFFEEDS42 &)+
{YEAR> =1999) ={MFFEEDESL 2+L 3}

O

CARLF
SET FER 1985 1993,
EQITAT] OM< &OTOR] T WNO> ENEFYS1 NEFYS1=
NEF &51 1+NBFOS1 1,

(WEYS1 1=100/HF] 13 {NPFEEDS] _1+100/EDEPDEF

NORMAL IEE NEFYS1=7T
FITi

BLAUGHT FEMALE CALF 0-1
BET PER 1989 1998
EQUATION <&0TOFI1T MO* EZLFYE1l  SLFYS1 =
NEFYE1. 1,
{WEYE1 =100/ 10F] )/ (NPFEEDS1 =100 GDEDEF]
HNORMAL 1ZE BLEYE1=T7T;
FIT;

SLAUGHT FEMALE CALF 1-2
SET PER 1955 199%;
EQUATION <&0TOFIT WOr ESLFAE1  BLFAE1 =
{NEF&E1 1+NEFDS1 1},
{NPYE1=10m P ]}/ (NPFEEDE1 =100/ BDPDER §,
posl,
DOoE;
WORMAL 128 SLEAR1=T7;

- 119 -
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FIT;

SLAUGHT MALE CALF ©-1
ZET PER 1955 1995
EQUATION <&TOFIT MOr ESLMYS1  SLMYE1 =

WEMYS1 1,

{NE'MOE 121 oo/ WP 3/ { NPFEEDE1 =100/ GDPDER) |
WORMAL 128 SLMYE1=77;
FIT;

SLAUZHT MALE CALF 1-2

SET PER 1955 1998;

EQUATI O <AUTORIT WD ESLMAS]  SLMAS1 =
WEM&S] 1,
WEMOS 1;

WORMAL IEZE SLMASI=7T,
FITi

DEMAND FOR 1MFORT DEEF
ZET FER 1989 1993

EQUTATI O <AUTOFIT WO>EFFERDS] FPERDS1 =
Loef D] NC=1 00/ BDFDER],
{ MRSl =100,/ GDPDEFR )/ § { MPS1#1 oo/ GDPDEF J=EXGH={ 1+TA51 f100) )

WORMAL 1ZE FPERDE1=7T)
FIT;

DOMEST IC BEEF ETOCE
ZET FER 1987 1993

EQUAT] 0N <&0OTOF]T MO> EDETEL DETE1 =

@5,
DDaT,
D02 ;

NDRMAL 1ZE DETE1=77;

FIT;

FOREIEN EEEF &STOCE

SET PER 1955 1998;

EQUATI ON <AUTCOFIT WDF EMSTE1  MSETE1 =
ME51,
ooz,
DDeT,
DD9E |

MORMAL 1EE METE1=7T
FIT;

—————— {2} PRICE-————————m
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MALE COW PRICE
SET FER 1985 1993,

EQUTATI 0N <AUTTORIT Wor EWEMOS1 ({WPMOEl Y -(IWPMOEL 133 =
({WoPs1)-{MoPs1 130,

DD 23

MORMAL 1EE NEMOS1=77THIPMOSL 1
FIT;

FEMALE COW FRICE
SET FER 1985 1993,

EQUATI O <&0OTOFIT MO ENFFOS1 NFFDOE1 =
WF M0S1

WORMAL IEE NFFOS1=7T,
FITi

GBLF PRIGE
ZET PER 1935 199%;
EQITATI OW <ATORIT WO ENPYS1  WPYS1 =
(WP MOS1+HIFPFDEL 3o,
DO9s;
WORMAL 1ZE NPYES1=77;
FIT;

RET FER 1985 1998,

EQUTATI 0N <ATORIT MO CONSTANT NOXINFYS1l WEYS1 =
{YELR<1999 )={L1VE: HFTE1_A)+
{YEAR>=1999 LND WFYES1<=OWFYS1 )={ONPYE1 1+
{YEAR>=1999 LND WFYES1:ONPYE1)={NPYES1);

EEEF FRICE
ZET FER 1991 1993

ERUTAT] 0N <ATTOFIT N0 BWGPES1  {NCPS1=100/GDPDER) =
D 1WG =100/ BDPDEF,
FERDE1,
{ HOPE41 =100/ BDPDEF ),
DD9E |

WMORMAL 1ZE NCFES1=77={GDFDEF 100}
FIT;

SERIEE<1985 1998 MCOFES1=LIVE :MCFS1 _&4;
ZET FER 1985 1993

EQUTATI O <AUTOFIT WD CONSTANT WOrINCGPS1 NOPS1=
{YEARS1991 )= (L1 VE: NCPS1 A)+
{YEAR>=1991) ={MCPES1 §

—————— {3} IDENT 1Ty === === mmm e
BET PER 1935 1995

EQUAT] 0N <&UTOF]T MO CONETANT MNOrl@tl Q51 =
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(09 44uaTToR+Rd 31464t ee={TECEE =={1/2 ) ) ) ={ BLEYE1 +ELFAS1 )+
{141 G4REEE4+Rz_ 9941eCee={TECES =={1/2 ) ) ) ={SLMYE] +ELMAS] )+
{152 S32TiTH+Hl4_¢03RE931={TECSS =={1/2 ) ) =gLFE R}/ 1000,

EQUAT] O <A0TOFIT MO CONETANT HMOXIPERDS1  PERDEL

{1/ POF ={ Q51 HS 1+ TE1 _1-8TE1);

EQUAT] 0N <&UTOF]T MO CONETANT WNO>]NEFAS1 NEFAS1

O_PE0sE=JEFYTS]  1-ELFYE1;

EQUAT] O <A0TOFIT MO CONETANT HMOXINEFDS1 MEFOS1

0 9926+ JEFOE1  1+MEFRE] 1) -8LFAST;

EQUAT] O <&0TOFIT MO CONSTAMT MO>]1NEMAS] MERMAS]

0_FE035SIEMTE]  1-ELAYEL,

EQUAT] 0N <&UTOF]T MO CONETANT WNO>INEMOS1 NEMOS1

0_99z6={ EMIE1  1+H{BMAS] 1) —SLMAST;

HET PER 1985 1993,
EQUUAT] O <AOTOFIT WNO:ENEBEMYS1 WNEMYS1 =

HEBFYS1
FIT;

EQUAT] 0N <&UTOF]T MO CONETANT WMO>IMSl M5l =

FPERDS1=F 0F+METE1-METE1 1,

EQUATI O <A0TOFIT MO COWNETANT NOX1DPERDS1 DPERDE]1 =

PERDE1 -FPERDE] |

EQUATI O <&0TOFIT MO CONSTAMT MO>18TS1l BTE1 =
DRETE1+METEL,

EQUAT] 0N <&0TOF]T MO CONETANT WO:ENEENMYS1 NEEMNMTS1l =

NEFYT1 §

Lt =

L - ¥
= [

—————— {1} BUFFLY & DEMAND-——====—————————

MILE CALF
SET PER 1957 1998;
EQITAT] OW< BUTOR1 T MO ENBFYSZ  WEFYSZ=
WEF D52,
{{ PMLEZ #1000/ WP J+{ HPMLEZ _1%100,/ 1 ]
DO
WORMAL 1ZE NEFYS2=77;
FIT;

MILE MAaLE CALEF ©-1
HET PER 1985 1993,

- 122 -
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EQUAT] 0N <&0TOF]T MO: ENEMYSE

MORMAL 1EE NEMYTSE2=TT
FIT;

SLAUSHT FEMALE MILE COW

ZET PER 198% 1993,
EQITAT] O <&OTOEIT WO

MORMAL IEZE BLESZ =TT
FIT;

MILE GOk
ZET FER 1985 1993

EQUAT] O <&UTOFEIT MO

NORMAL 1ZE WEMCS2=77T
FIT;

MILE FRODOCT
ZET FER 1987 1993

EQUAT] O <&UTOFEIT MO

MORMAL IZE @EZ=77T;
FIT;

BEELFS2

ENEMCS2

Ewsa

NEMYEE =
NEFYTE,
Dhod,

Dhog aR=1;

SLFSZ =
NEFDSZ 1,

HAREN=100 /HE ],

{NPFEEDEZ =100/ GDPDEF ) { NPMLEZ =100/ HE1 ),
DD9E AR=1;

MEMCEE =
{NEFDEZ+NEFDSZ_13/2 |

@z =
WEMGEE,
Losf TECSE),
HAGEEH=1 o0/ HE] ,
WEMLS2=100 A HE 1§

DOMEST 1C DEMAND FOR THE PROCESSED MILE PER CAP]TA{DPDP}

SET FER 1991 1993,

EQUAT] O <&OTOFIT WMO: EDFFERDESE DFFERDE:Z =

WORMAL 1EE DFFERDESZ=TT;

FITi

ZET FER 1985 1993

D1 WG o0 GDF DER,
{MFEZ&{1+TAG 2.1 00} SEXCH=100/ GDFDER],
WCF 52100,/ EDPDER,

DosT,

DD9s;
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EQUATI O <AUTOFIT WD CONSTANT WOXIDFFERDSZ DFFERDSZ =
(YEAR<1991)={L]VE:DFFPERDEZ &)+
{1991 {=vEaR }={ DPPERDESZ) |

MILE DEMAND FER CAFITL
ZET FER 1988 1993

ERUTAT] 0N <ATTOFI1T N0 EDPERDFE2Z  DPERDFSZ =
{D1G=1 o0/ GDEDEFRY,
{ HCPEZ=100/EDPDER),
DD9E |

NORMAL 12E DPERDFES2=TT,
FIT;

SET PER 1935 199%;

ERUTAT] 0N <ATTOF1T NP COWSTANT WO0F 1 DPERDFSZ DPERDFSZ=
{{DPERDFESZ=FOF )4 {#TEZ 1+Q52-STE L) ) *DPERDFES 2+
{{DPERDFESZ=FOP )>= {BTE2 1+R52-8TE2) J={ (8TE2 1+RE2-RETEZ) /POF)|

—————— {2} PRICE-———-———-———————m————

FIRET FREGNLNT MILE COW FRICE
ZET FER 1989 1993

EQUAT] 0N <&0OTOF]T MO> ENFOEZ WEOE 2=l 0o HF] =
QSRS POP =100,
MPMOE1 =100/ WF] |

NORMAL 1ZE HPOS2 =77 =P 15100

FIT;

MILE CONZUMER FRICE
ZET FER 1988 1993

ERUTAT] 0N <ATTOFI1T N0 BWGPS2  {NOPS2®100/GDPDER) =
{D1G=1 o0/ GDEDEFRY,
DPERDFSZ,
DD9E |

WMORMAL 1ZE NGEFS2=TT={EDFDEF/ 1000
FIT;

MILE FRODUCER PRICE
2ET PER 1955 199%;
EQUATION <AUTORIT ND: ENPMLSZ — NPMLEZ =
WCPSE,
WEFEEDS 2 ;
WDRMAL 1ZE WEMLSZ=T7;
FITi

MILE 2TORLGE
ZET FER 1985 1993

EQUATI 0N <&UTCFIT W0r ESTSZ  STER =
EEZHMEER,
DDag,
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DDoE;
WORMAL IEE BTERZ=TT,
FIT;

—————— {3} IDENTITY-———————mmmmmmmm—mm e
MILE CONSUMER FRIGE
SET PER 1935 1998

EQUAT] O <&0TOFIT MO CONSTAMNT MO>INEFDSE WMEFOSZ =
0. 920TE={0y_ 9EEI=WEFYEZ Z+WEFOEZ 1) -ELFEL;

EQUAT] 0N <&UOTOF]T MO CONETANT NO:1FPERDSZ  FPERDSZ =
HMELPOF;

EQUATI O <&0TOFIT MO CONETANT MO>1DFERDFSZ  DFERDFEZ =
DFFERDSZ-FPERDEZ

EQUAT] 0N <&UOTOF]T MO CONETANT NO:1DPERDSZ DPERDSZ =
DPERDFS2HIPERDES 2

EQUAT] O <A0TOFIT MO COWNETAMNT NOX1PERDSEZ PERDEZ =
DPERDS 2+ PERDEL |

EQUATION <&UTOFIT WO CONSTANT WOrIMEZ MEZ =
(YEMR<1991) ={LIVEMEZ A)+
{1991 <=YERBR )= { X5 2+{ DFERDS 2+FFERDSZ } sF OF +HETEE2-8TS L 1-G5L)

*

* %t%?l'__'?l__ i
—————— SUPPLY & DEMAND, PRICE, I1DENTITIES-—————————————
ZET PER 1959 199%;
EQUTATI OW <ATTORIT NOrEWEFSE NEFSE =
WEFSS_ 1,
{MF 53, 1%1 00/ GDPDEF 1),
WEF EEDS3=100 / GDEDER,
Do,
DOo g
WORMAL 1ZE WEFSE=7T i
FIT;

ZET FER 1988 1993

EQITAT] O <AOTOF 1T WMO»EWBSS WNBES
MBF G

WORMAL 1ZE MES3=7T;

FIT;

BET PER 1988 1993,
EQUAT] 0N <A0OTOFIT WMOXESLEE  ELEE
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MBS 3
MORMAL IEE BELEE=TT,
FIT;

SET FER 1985 1993,

EQUATI O <AOTOFIT MOXEWSE Q53 =
BLEE;

MORMAL IZE @EE=T7T;

FIT;

SET FER 198T 1993,

EQUUAT]I O <LUOTOFIT WNO>ENFSE  WNPES =
NGFS3E

NORMAL 1EE WFS3=T7T)
FIT;

SET PER 1935 199%;

ERUTAT] 0N <ATTORI1T NP COWSTANT WOFI1MFSE MESS =
{YEAR{1999 )={L1VE: WOPSE_A)+
{YEAR>=1999)={EXPR IS =ELCH={1+TAS G/ 1 o0} =1 o5 =]

SET FER 1986 1998,

EQUATION <&TOFIT NO:ENGPSE  NCPS3#100/EDPDEF =
LOG{D 0= 00l E0PDERY ,
FERDS S,
NEFE1 #1000/ GDPDER,
DDEs;

WORMAL 1ZE WNCFPES 3=77&{ GOPDEFS1 00}

FIT<GOEFR? |

BERIEZ41935 1998> DPERDEI=QEI/POPR;
SET FER 1985 1993,

EQUATI O <&0TOFIT MO CONSTANT MO>1DFERDSE DFERDSE =
GE3S POF

ERUAT] 0N <ATTOF1T NP COWSTANT WOF1DCWPSS DNGPSS =
{ BDEDEF /100
{ENGPSE COBFF[1, 1]+L0a{D NG =100/ GDFDEF) +
ENCPEE COEFF[Z, 1]+DPERDES+
ENCPEE  COEFF[3, 1]#NCPE1 =100/ SDEDEF+
ENCPEE COEFF[4, 1]sDDas+
ENCPSE GOEFFLS, 110
ERUTAT] OW <ATTOFI1T MO GOWSTANT WO:I1WGESE NCPSS =
{YEAR{1999 )={L1VE: WOPSE_A)+
{1999¢=YEAR AND DNCFS3<=MPS3)={DNCFS3)+
{1999¢=YELR AND DWCES3rMESE )={MPE3)
ERUTAT] 0N <ATOF1T NP COWSTANT WOr1FPERDES PERDSS =
{ NCFEE=100/ BDFDEF -
ENCFEE_ COEFF[1,1 ]=L0G (0] No=100/ 3DPDER ) -
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ENCGPSE . GOERF[ 3,1 ]#NEPE1=100/EDPDEF-
ENCPEZ . COEFF[ 4,1 ]1=0DD29-
ENCPEE. COEFF[S,1 1)/ {EWCPSE . GOEFFLZ,11);

EQUAT] O <A0TOFIT MO CONETANT HMOXIMEZ MSE =
PERDEE =PDP-0E3;

H =3
i %kﬂ—r—._'— i
—————— EUPFLY & DEMAND, FRICE, IDEMTITIES ——-———————————

RET FER 1985 1998,

EQUTATI OW <ATTORIT NOrENES:1 NES41 =
{{WPS41_ 1% 00/ BDPDEF 1)/ {WPFEEDS41 =100/ E0PDER) ),
WES41 1

NORMAL 1ZE WES#1 = 77i

FIT;

EET FER 1987 1998 ;
EQUATI ON <&0TOFIT WOrERS4l @541 =
WESH1,
({WMBS 42 1+NES#Z_ 2} 2);

NORMALIZE Q@541 = 77
FIT;

BERIES<1985 19987 MPS41=L]VE: NCPS41 &

BET PER 1985 1992 |

EQUTAT] 0N <&UTOFIT MO CONSTANT NOrI1MPS41  HMPS4l =
{YE&R<1993 )={L1VE: NCPE41 &)+
{YEAR>=1999)={EXPR]IS¢1sEXCH={1 +TAE4] f100) =] oSl S2aal)

EET FER 1986 1998 ;

EQITATI OW <ATOF1T WO EFERDS4] PERDS41 =
LOG{D WG =1 o0l E0PDERY ,
{MCPS¢1#100,/ GDFDER),
NGPSE #1000/ GDPDER

NORMAL 1ZE FERDE41 = 77

FIT<GOEFR? |

BET PER 192T 1993

EQUUAT] O <&0TOFIT WO >ENPS41 WMPE41 =
[ =T

NORMALIEE NFS41 = 77T,

FITi

BERIES419585 1993> DPERDS41=05¢1/F0F;

ZET FER 1985 1993

EQUATI O <&0TOFIT MO COWETANT MO>1DPERDPS41 DPERDE4] =
G541 /POF|
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BERIES<1985 1998 DNCPS41=LIVE:NCPSd1. &

ERUTAT] 0N <ATTOFI1T MO GOWSTANT WOFI1DCNPS4l DNCES4l =
{EpPDEFS 1v0)={ {DPERDS4] —
EPERDS¢1 . COEFF[1,1 ]sLoE{DIWC=1 o0/ GDFDEF) -
EFERDS41 . GOEFFL 3, 1 ]={ WCPEE=100/G0FPDEF ) -
EPERDS+1_ CGOEFF[4,1]1)/ (EPERDS41 COEFF[Z,1]33;

EQITATI OW <ATTORIT WO CONSTANT WOXIHNCPS41 WOPS4d =
{YEAR<1999 )={L1VE: NOPE41 _A)+
{1999{=YEAR AND DNCPE41<{=MPE41 }={DNEPE41l+
{1999{=YEAR AND DNCPS41>MPE41)={MPE{1}

EQITAT] 0N <ATTOFI1T N >1FERDS41 FERDE41 =
(D 1MG =100/ GDPDERY,
{HCPS¢1#100,/ GDFDER ),
WG PSS =100/ GOPDEF;

EQUAT] O <A0TOFIT MO CONETAMT HMO>I1ME4l  ME41 =
FPERDS41 =P 0OF- 0541

NIMEBER OF LAYER
SET FER 1989 1993,

EQUTAT] 0N <&TOF1T N0 ENES4Z  WES4R =
TEGEE=={1/2 ],
WP Edz #1000/ BOFDER,
WFFEEDS4 251 00/ BDFDEF ;

WORMAL 1EE NES4EZ =TT,
FITi

QUANT] TS OF EEE
BET PER 1985 1993
EQUATION <{AUTOFIT WO: ERE4Z Q542 =
{WMEC4Z HIEELR 1342,
ooog;
WORMAL 1ZE QE42=FT;
FIT|

COMSIMER FRICE OF EGG
2ET PER 1959 199%;
EQITATI 0N <AUTOF 1T WOF ENCPE4Z NGRSz =(1o0/EDPDEF ) =
0] WE=100/ EDEDER,
PERDE 42,
DDog;

HORMAL 1ZE HCPS4 2=77={ GDPDEFS100) ;
FIT;

FoLRM FRICE OF EGE
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HET PER 1985 1993,
EQUATI 0N <A0TOFIT WMO» ENPE4Z WPE42 =
MNCFEGZ |

MORMAL IEE NFS4E =77,
FITi

ZET FER 1985 1993

EQUAT] 0N <&0TOF]T MO CONETANT NO:1PERDS4Z PERDS4z =
M54 2SP0P

*x A|§E-||G|Jj *x

LIST ERE]A=

1REDE, 1GDF, 1 GOPDER, 10 WG, 1 ACR2Z, 1AGRTY,

ILDI0, 1ILDIDE, 1L01 D, 1 ACRE1, 1ACREE, 1 ACRES, 1ACRSE, 1 ACRSS, 1AGREY, | AORS MY,
ITLCR, INTACR, 1H11, 1H13, 1H14, 1H2Z1, 1H¢0, 1811, 1813, 1814, 1840, 1821, 1 ACR11,
18CR1E, TAGK ¢, 1 ACRED, 1ACGRR], 1 TACRED, IMTAGEZ] , 1M2101, 1M210%, 1H2103E,
TWziod, 182101, 182105, 182105, 182104, 186RE1 01, 1ACRE1 0%, 1AGRE10G, 1 ACRR 104,
ITACRH, IMTAGRN, 1M1, 1H211, 1W212, 1M213, IMLDIDH, 1812, 18211, 18212, 182135,
18LDIDH, 1 AGR1Z, 1AGR211, 1 ACR21Z, 1 AGRZIS, ILDIDH, | SUNGS1, | SUNGEZ, 18 0NEES,
1RITNER ¢, 1 SIWESE, 17081, 1YDEE, 1 YDEE, 1YDE4, 19065, 1YD1E, 14014, 1040, 19021,
1YDE101, 1YDR105, 1YDe10E, 1YDalod, 1¥D1E, 1¥DE11, 1YDR12, 1YDe1a, 103,

193z, 1933, 193¢, 1035, 1911, 1913, 1@14, 10¢0, 1012, 19211, 19212, 1 @213, 102101,
lezioz, 102103, 162104, 1521, 1TDE1, 1TCRA1, IPERDE1, 1TDE2, 1TGESE, 1 PERDER,
1TDE3, 1TGEES, 1PERDES, 1TDS¢, 1TGE3¢, 1 PERDS4, 1TDSS, 1TGESES, 1PERDES, 1 SEED1,
IMFT11, ILOSS11, 1TD11, IPERDIL, 1TGE11, ITHET1S, 18EED1 S, 1TLOSS1SE, 1TD1S,
1TCE1E, 1IPERDIE, 1TMET14, 1 SEEDL ¢, 1 TLOSS1¢, 1 T01 4, 1 TCE14, 1PERD14,

1TD¢0, 1PERDG D, 1 SEEDIZ, ILOSE12, IPERD1Z, 1TD211, 1TCP211, IPERD211, 1TD21E,
1TCP212, 1 PERDZ1 2, 1 MCP21E, 1 PFERD2Z1S, 1 TD2101, 1TCP2101, 1 PFERDZ1 01, 1HGP21 02,
IPERDZ 102, INCPZ103, 1PERD210S, 1NGP21 04, 1PERDZ 104, 1PERD21, 1TFES1, 1 FRS1,
1CE31, 1TFEER, 1FP32, 1GP32, 1 TRPSE, 1FPE3E, 10PES, 1TRESE, 1 BRS¢, 1 CP34, 1 TRRAES,
IFESS, 1CP3S, 1TFP11, 1IFF11, 1611, 1TFR13, 1FP1S, 1CP13, 1TRE1¢, 1FP14, 1GE1 4, 1FE4D,
1CP¢0, 1IFP12, 1GP12, 1TFP211, 1FP211, 1GP211, 1 TRP212, IFPR12, ICP212, IFP21E,

1TFP210d, IFPR101, 16P2101, 1FPR10s, IFPR103, IFP2104, 1 &AE21, 10P21, 1FPR1, 1001,
1013, 1014, 1040, 1081, 1082, 1083, 1054, 1035, 1042, 10241, 10212, 102101, 102103,

102103, 102104, 1021, 10213, 1 1MP11, 11MP1S, 11MP1 4, 1 1MP40, 11MPE1, 1 1MPE2, 11MPEE,
1IMFE4, 11MPES, 1 IMP211, 11MP212, 1TMPRI01, TM15, 1M14, TMI2, 1 M40, THT11, 14T1SE,

1MT14, 1MT21, 1HT 40, 1MT12, 1HT211, 1MT212, 1MT31, 1MTE2, 1MTEE, 1MTa4, 1MTAS,

1MT M, 1HTSIM, 1HTS0ME0, 1C0UTPOTE, 1 FRSO, 1 FRSIME, 1GURTE, 11HEUTE, 1 HARE,

IRENT, IMACHF, IFEED1Z, 1ST12, 1MFT1Z, BHE1, 1HF1, ECPI1,1CP1, EWARE, 1MAEEN |,
ENPFEEDS1, 1WFFEEDE1, ENPFEEDSZ, 1WPFEEDSZ, ENPFEEDSZ, 1WPFEEDSS, ENPFEEDSH1,
INPFEEDS41, ENPFEEDS42, INPFEEDS42, ENFMLSZ , ENBFYS1, IMSZ, IDSTS1, EMSTEL,
ENPMOS1, ENPFOS1, ENPYS1, INPYS1, ENCPS1, INCGPS1,  EFPERDS1, 1051, 1PERDS1,
INEF&S1, INEFDS1, INEMAS1, INEMOS1, ENEMYS1, IMS1, IDPERDS1,  18TSi1,
ENEEMMYS1, BSLAYS1, ESLFAS1, ESLMYS1, ESLMAS1, ENBFYSZ, ENEMYSZ, ESLESZ, ENEMCED,
ERSZ, EDPPERDSZ, 1DPPERDSZ, EWPOSZ, EDPERDFSZ, ESTEZ, INBEFOSZ, 1FPERDEZ,
IDPERDPSZ, IDPERDFSZ, 1 PERDSZ, EWEFSE, ENESS, ESLEE, EWSS, ENPE3, IMPEE, ENCPES,
IDPERDESE, 1DGWPSE, INCGPSE, 1PERDSS, IMSE, ENES41,E@S4l, IMPS4l1, ENPS4l1, IDPERDS#1,
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IDCHPEdL, INGFEd1, EPERDE41, 1ME4l, ENEStZ, EQS4Z, ENGPS4z, ENPS4z,
IPERD'S 42, 1DFERDSE , ENCPSE;

= DRIGIMAL SOLOTION
ZET FER 1998 aolo;

MODEL MERE]Z0= FEREIL
BOLVE <llmlt=100 SOLOTION=E0L>;

SET PER 1998 z0in;
FOR XX =RMERE 120 ENDOGEENDTE
PRINT #XX, #00! 80L ‘FREDICT , (#XX!_ sS0L-#XxX) ‘DIFF’,
(a0 BOL-#XX 1S B0 _SoL=1on ‘gDIFF' | END;

i

*x -E‘:"l:
=21

i

ol

=
T
e

N Mo

(==
[ e ‘TQ‘EITT_'_ *x

—===============—==REROWTH RATE==================
————————QMNTITY GROMTH----———-——-
BET PER 1998 Zoln;

SERIES Ril =PoEvAfold SoLlsdo0;
SERIEZ Rniz =PoEYA{Glz_ S0LIA100;
SERIES R213 =PoEYA{O1S_S0L I 100,
SERIEZ Raid =PoEvA{old_ S0L I 100,
BERIES RE40 =POHYALR40 S0LI 100,
BERIEZ Rozil =PCoHYA(RZI1 2003 100;
BERIEZ ROziZ =PCOHYA(QZIZ 200 100
SERIEZ Rzl =PoEYA{GR1_S0LIA100;
BERIES REZio1=PCHYA{GZI01_ S0L )/ 100;
BERIES ROz =PCHYA{ACREZ SO0LY/100;
BERIEZ ROTO =PCHYAACRTO 2003 100;
SERIES Rl =PoEYA{OI1_S0L I 100,
SERIEZ Ro3z =PCEYA{OEZ_S0L 1100,
SERIES RO3E =PCEYA{OES_S0LIA100;
SERIES R3¢ =PCEYA{OI4_ S0L 1100,

BERIES R@3S =POHYA{GES 0L 100,
BERIES<1995 2010 036 ={Q31_ S0L+@32 S0LHISS S0L+034 S0L-HIEE SO0L) =0 1T,

—————————ee e 1T=1-( 41, 42, 43, 44, 45T {1997
SERIES RUE6 =POHYR{RIE)S100;

e e ——PRIGE BROMTH-—— == ——m —m— ———
BET PER 1998 2010

SERIES RP11 =PCHYA(NFP11 8003 100

SERIES RP12 =—PLHYA(NFP1Z S0L) 100

SERIES RP13 =—PLHYA(NFP1S S0L) 100

BERIES RP14 =POHYA(NFP14 S0L) 100

BERIES RP4U =PCHYA{NFPLD SO0LY/100;

SERIES RP211 =POHYA{NFPZ11 _ SOLIA100;
SERIES RP212 =POHYA{NFPZ1z SOLIA100;
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EERIES RPZ1 =PCHYA{NFF21 _S0L)/ 100
SERIES RFZ101 =PCHYA{NFFZ101_ £O0L Y100,
EERIES RP31 =PCHYA{NFFE1_S0L)/ 100
EERIES RPZ2 =PCHYA{NFPEZ _S0L)/100;
EERIES RP33 =PCHYA{NFPSS _SO0L)/100;
BERIES RF3¢ =PCHYA{NFF3¢ SO0L)/100;

BERIES RP3E =PCHYA(WNFPZS 0L} 100
SERIES RP35 ={RP31+RP32+RP33+RE34+RE3SISE,

—————————————LI¥EETOCE REVENUE
—————— WM ] AL

BERIES W@51 ={ZLFY51_ S0L+HLFAS1_S0L )=PFOS1 . 0L
+{BLMYE] | SOLHELMAS] | BOL Y =PMDE1  B0L
+{MEFYE]_ SULHIBMYS1 . BOL ) =PYE1 S00L
+{MEFRE] SULHIBFOE] | BOL ) =MPFDE1_ B0L
+{MEMAE]  S0ULHIEMOS] | BOL ) ={PMOEL | 500 |

BERIES M@tz ={BLFS2 SO0L=WPFOS1 SO0L)+{052_ S0L=HNPMLSZ S0L )
+{WEFYEL_ EOL=§PYEL J+{ (HEFYEZ S0L[-1]=0_ 9EC3)HIBFOEL SOLY=POEL 20L;

BERIES WuS3 ={NES3 S0L=IFS3_S0L)+{NES3 S0LIFS3 S0L=0 53,

BERIES NES5¢ ={@541 S0L=IPS4l_ S0L=1000)+{NES+1 SOL=NFS41 S0L=0_5)
+{PE¢z_ SOL=NPE4Z B0L=1518 )+{ MBS 42 SOL®IPS4l _SO0L=0_ 5 )|

SERIEZ GNGOE1 =PCHYA(NRED b/ 100
SERIEZ GNGOS2 =PCOHYA(NREZ Y100
SERIES GNGOSS =PCHYA(NREE ) 100
SERIEZ GNOS4 =PCOHYA(NREL )10,

BERIER<1995 Z010>  WESS = {NQ251-+NOE EHTDEEHIREE ) 20 05
e e e e e me =) OES1-( 1, B2, B3, B4 S TREO-(199T )
BERIES GWOSE =PCHYA{NOSS 3/ 100

BERIEZ RES1 ={ELFYS1. B0LHELEAE1_ SO0 d={ZnzToon)
+{BLMYE] . BOLAELMAST | 200 ) ={ 31T 3000)
+{MEFYEL . BOLHIENYS] | 200 J={ 175 2000)
+{MEFRE] . SDLHIEFDS] | 200 J={ 303 Toon)
+{MEMAE]  ZOLHIEMOS] | Z0L J={ 3173000} ;

BERIES R@Sz =({sLFsz_soL={svsToondi+fosz soL={d14}}
+{MEFYER_ SOL={1TEaoon ) )+ { {MEFYEZ S0L[-1 ]=0 9563 JHIBFOER S0L J={3ng1000)

BERIES RESE ={NBS3 2oL={154333))+{NESZ ooL={154833 =0 5);

SERIEE RGEE4 ={0E41 s0L={1zd4z)=1000)+{WEE4] S0L={1242 =0 C}
+{pE¢z_ BoL={E51) ®1815) +{MEC4 2 SOL&{1242 ba0 G
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BERIES GRGUS1 =PCHYA{RGS1 I/ 100;
BERIES GROUSZ =PCHYA{RGSZ I 100;
BERIES GRUSE =PCHYA(RQSS ) 100
BERIES GRUSG =PCHYA{RGSE I 100;

BERIEZ<1995 20103  REES = {ROS1+ROEE+HROEEHRDEE ) =0 05
——— e ——————)_0E=1-( 1 B2, B3, B4 S TREO-f199T)
SERIES BROSE =PCHYA{ROES )/ 100

SERIEZ R@S1 ={3LFYS1. 20LHLFAS1 S0l )={L1VE:NPFOS1[199541] &)
+{BLMYEl SOLHELMAST  B0L Y =fL]VE:NMPMOS1 [199541 ] A)
+{MEFYE1l SOLHIEMYE1 S0LY={LIVE:NPYE1[199581 ] A
+{MEFAE] BOLHIBFOEL  BOL)={L]1VE:NPFOE1[199581] A}
+{MEMAE]  BOLHTEMOE]  B0LY={L]1VE:NPMOE1 [199581]_ AY;

BERIEE RESZ ={SLFSZ S0L={LI1VE :NPFOS1[199581] A))
+{ 5% B0L={L]VE: NPMLEZ[199541]_ &)}
+{ NEFYEZ S0L={L] VE: NPYE1[1995a1] a0
+{ (NEFYEZ_ S0L[-1]%0 95E3) HIEFOSR S0L)={LIVE:NPOSZ[199581] &),

BERIES R@SZ ={NESZ S0L={L]1VE:NP53[1995a1] A} )+{NBSE S0L={LIVE:WPSE[1995a1] Aal=0 G

BERIEZ RES4 ={0S41 20L={L1VE:NPS41[199581] Al=1oon)
+{NES41  20L={L] VE: NPS41[1995a1] A)=0 5]
+{pEdz 20L={LIVE:NPS42[199581] AY=1512)
+{MBE4z 20L={L]1VE:NPS41[199581] Ad=0 B},

BERIEZ GROS1 —PCOHYA(RGED )JS100;
BERIEE GROSZ —FCOHYA(RGEZ IS 100,
BERIEE GROSE —PCOHYA(RGEE NS 100
BERIEE GROS4 —PCOHYA(RGSE IS 100,

BERIES<1995 010>  RGES =({ROE1+ROEZHROSSHRQEE) 20 05 |
e - _0ES1-{ K1, B2, 63, B4 TRET {1997 ]
BERIES GRUSS =PCHYA{RGSE )/ 100

BERIES RHAGE=PCHYAfWABE S0LY/100;

SERIEZ RCOUTEUTE=PCHYAL COUTPUTE _20L3 100
BERIES RINPUTP=PCHYA{INPUTE. 2003100,
SERIES RMACHP=PCHYA{MACHF 20L)S100;
SERIEZ RCURTP=PCHYA{CURTE SOL)/ 100,

SERIEE REFEEDF-PCHYL{WPFEEDE1 S0LY /100,
SERIEE RDFEEDF-PCHYL{WPFEEDEZ S0LY /100,
SERIEE RPFEEDP-PCHYL{WPFEEDES S0LY /100,
BERIEZ RCFEEDP={PCHYL{WPFEEDE41 S0L)S 100+PCHYANPFEEDS 42 S0L 3 100) /2,
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EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER

—— 1HGOME (MoK ALY ———————— ——— —————
—-G0ET RATE[STANDARD 1NCOMEf1998) ] ———————————

COET11 =COCET11+G0METI 1+HC0GEETIL

COET1a =CO0ET1 2+G0MET] 2+ OEET1Z |

COET1E =CO0ET1 3+E0MET] S+ UGEET1E

CORT1q =COCET14+HEUMRETL ¢+00ERT1e

CORTED =COCETEOHRIMRETE 0+GIEE T

COETZ1 =COCETal1+G0METZ1+HEOEET2L |

COETZ11 =COCET21l+CMET21 1+00GEET211
COETZ12 =COCET2l1a+CMETal 2+00GEET21 2
COETZ101 =COCETEZ1 0l HOIRT2101+00EETa1 01
COETZE =COCET2+HEIMETZ 2 +HRUGEE T2Z |

COETTD =COCETTOHZOMETTO+HRUGEETTO |

COETE1 =COCET31+HEIMETS1+HEOEETEL |

COETEE =COCETI2+HEIMETS2+HEUEE T3 |

COETEE =COCETI3+HEIMETS 3+HRUEE TS |

CORTEq =CUCETIG+HEIMRTS ¢+0IER TS

COETEE =COCETIo+HEIMETSS+HRUGEE TG |

COETE1 =COCETS1+HEOMRETS1+HoOEE TE1 HOOFET 51
COETEE =COCETS 2HEOMRETS 2 +Ho UGS TE2 HOOFRET 52§
COETES =COCETS3HEOMRTS S+ UEE TEES HOOFRET 535
COETEd =COCETS4HEOMRETS ¢+Ho OGS TS HOOFET 54
COETRIE=COSTEE/ {G0E TS +HO0 TS 2+H0 DT 33+00S TS +HIDET 35 |
COETRES=COSTES/ {G0ETEL +HO0 TS 2HI DETES+C0STEE )

ZET FER 1999 aolo;

EERIER
EERIER
EERIER

HERIER
HERIER
HERIER

SERIEE
SERIEE
SERIEE

EERIER
EERIER
EERIER

HERIER
HERIER
HERIER

SERIEE
SERIEE

COGETI1=0U0ET1 1 ={ 1+R011+HROURTEY
COMETI1=COMET11 1 ={1+R011 HRUTABE ) |
COESTI1=CUEET11 1 ={1+R011+HROURTEY

CUCST12=COEET12 1+ 1+RI1Z+REURTEY
CUONST12=COMETIZ 1= 1+RI1IZ+RITAEE )
CUESTI1Z=COEETIZ 1+ 1+RI1Z+REURTEY

CUCET13=COEET1E 1 +{ 1+RI1S+HREURTE Y
CUMST13=COMET1E 1 +{ 1+RI1S+HRITAGEE }
CUBST13=COEET1E 1 +{ 1+RI1S+HREURTE Y

COGET14=CUCET1 ¢ 1 = 1+RI1¢ HROURTE )
CIOMET14=CUMET14 1= 1+R01q HRUTAEE ) |
COSST14=CUEET1 ¢ 1 = 1+RI1¢ HROURTE ) ;

CIEET40=COEETLO_ 1 = 1+RM4O+HRETRTEY
COMETE0=COMETE0_ 1 ={ 1+RO4O+RITAEE ) ;
CITEST40=CURETLO_ 1 ={ 14RO +HRETRTEY |

CUCSTZI=COEET21 1 +{ 1+R021 HREURTEY
CUMSTZI=COMETZ1 1+ 1+RG21 +HRITAGEE }
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BERIES CUGSTR1=CUESTZ1_1={1+RU21+RCURTED;

BERIES CUCET211=cUCST211 . 1={1+RIE11 +RCORTED
SERIES CUMST211=cUMaT211 _1={1+R2211+RMAZE);
BERIES CUEST211=CUEsT211 1={1+RIE11 +RCORTED

BERIES CUCETR1Z=CUGETZIZ 1+{1+RIE1Z+RCORTED;
BERIES CUMSTZ12=CUMETZ1Z _1+{1+Rz1z+RAGEED;
BERIES CUGSTZ1Z=CUESTZIZ_ 1+{1+RIE1Z+RCORTED;

BERIES CUCGST2101=CUGET2101 1={1+REZ 101 +HRGURTE);
EERIES CUMSTZ101=CUMET2191 1={1+RO2101+HRMAGE )
BERIES CUGST2Z101=CUEET2101 _1={1+REZ 101 +HRCURTE);

SERIES CUCST22=COCSTRE 1={1+R022+RCEURTEY
SERIES CUMST22=CUWETZE 1={ 1+RGRZHRNAEE ) ;
SERIES CUSST22=CMEST2E 1={1+R022+RCURTEY

BERIES CUCETTO=COCETTO.1={1+ROTO+RCURTEY;
BERIES CUMSTTOSCUMETTO 1+{ 1+RGTOHRNAEE )
BERIES CUSSTTO=COEETTO 1={1+ROTO+HRCURTEY;

BERIES CUCETS1=CUCETE1_1={1+RU51+RCURTED;
BERIES CUMSTS1=CUMETZ1 1={1+RQ31+RNAGE};
BERIES CUGSTS1=CUESTI1_1={1+RU51+RCURTED;

BERIES CUCSTIZ=COCSTSZ 1 ={1+RO3Z+REURTEY
SERIES CUMSTIZ=CUMETIZ 1={ 1+RGSZHRNAEE Y ;
SERIES CUSSTIZ=COEETIZ 1 ={1+RO3Z+RCURTEY

BERIES CUCETIE=COCETIE 1={1+R033+HRCURTEY
BERIES CUMSTIZ=CUMETIE 1+{ 1 +RG3THRMAEE ),
BERIES CUSSTIE=COEETIE 1={1+RQI3+HRCURTEY

BERIES CUCSTI4=C0UCETI¢ 1= 1+R034 +HROURTEY
BERIES CUMSTS=CUMETI¢ 1={1+RQ34+HRNAGE )|
BERIES CUGSTI4=CUSETI¢ 1={1+R03¢ +HROURTEY

BERIES CUCSTIS=COCSTEE. 1 ={ 1+ROES+HREURTEY
SERIES CUMSTIS=CUWETIE 1 ={ 1+RGSCHRNAEE Y
SERIES CUSSTIS=COESTEE.1={1+ROE5+REURTEY

BERIEE CUCETES1=COZETE1 1= 1+HSNOE1+RCURTEY
BERIEE CUMETS1=COMATE1 1= 1HSW0E1+HRHAGED

BERIEE CUGETS1=COEETE1 1 ={1+3NIS1+REFEEDE ),
BERIEE CUFSTE1=COFATE1 1 ={1+3N0S1+REFEEDE ),

BERIES CUCETSZ=CUCETSZ 1= 1+SNS2+HRCURTE) |
BERIES CUMSTSZ=CUMESTSZ 1= 1+HSNQSZ+HRHAGED |
BERIES CUBETSZ=CUZSTSZ 1={1+SNS2+REFEEDE )i
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BERIES CUFSTSZ=CUFSTSZ 1={1+SNQS2+REFEEDE )i

SERIEZ CUCSTES=COZETEE 1= 1+HSNOES+REURTE) |
SERIEZ CUNSTES=CUMAETEE 1= 1HINOE S+RMAEED |
BERIEZ CUESTES=COEATEE 1= 1+3NIS3+REFEEDE )
BERIEZ CUFSTES=CORETEZ 1= 1+3NDE3+REFEEDE )

SERIEE CUCETE4=COCETEd 1 ={1+HSWOE4+RCURTE)
EERIES CUWSTE4=CUMESTEG 1% 1-H3NGE 4+RNAEE] |
BERIES CUGSTS4=CUEETSG 1+ 1+HEN0S4+REFEEDF ) ;
BERIES CUFSTS4=CURESTS4 1 {1+HEN0S4+REFEEDF ) ;

SERIER CORT11 =COCETII-+HZIMETI 1+HEOGEETIL

SERIER CORT1Z =COCRTI2+30METI 2+HE0EETIR

SERIER CORT1E =COCRTI 3+EIMETI 3+HEOEET1E

ZERIER CORT14 =COCRSTI4+EIMETI 4+H00EETI1

EERIEE COETED =CUCETEOHGUNETE O+HLOEETE0 |

SERIER CORTZ1 =COCRBT21+EMETZ1+HIOEET2L |

BERIER CORT211 =COCRT211+C0MET21 1-+HE0EET21],
BERIER CORTZ1Z =COCRT212+00MET21 2HEOEET21 2,
BERIER CORT2101 =COCETZ1 01 HEOHMET2101-HZ0EET21 015
SERIER CORTRZ =COCRBT22+00METZ2HEOEE TR |

ZERIER CORTTO =COCETTOHZMMETTOHIOEETTO

SERIER CORTI1 =COCRTI1+EZIMETIIHIOEETEL |

SERIER CORTIZ =COCRTI2+EIMETIZHIOEETIR |

SERIER CORTIE =COCRTIZ+HEZIMETIZHIOEETIE

ZERIER CORTI4 =COCBTI4+EIMETI4+HEOEE T |

SERIER CORTIE =COCRBTIS+HEZIMETIEHIOEETIE |

HERIER CORTE]l =COCRBTEI1-+HEZUMETS1+HIOGEE TEL HIOFETED
HERIER CORTER =COCRETE2+GIMETS 2+ 0GR TER HITFRTER
BERIER CORTEE =COCRETES+EIMETSS+HIUGEE TEE HITFRT LS,
ZERIEE COETEd =CUCETE4+HGUNETE 4-+00GEE TE4 HEOFET B

BERIEE COSTZE —COSTRIE[1998A1 1={C0ETI1 +HE0STE 20 0BT E3+H0ETS4+HE 0BT 35 |
BERIER COSTES -COSTRES[199881 1={ 008 TEL +00ETE 2HEURTEZ +HE0ETEG ) |

SET PER 1992 199%;

————————0OM] AL REVENUE{199S8, BOE)--——————-

SERIEZ CURMRSE=CURMEE. {CUREE] HOTRNE 20 IR Z3+CURAZEHE TRGEE) |
BERIES CURGREE=CURQESE. { BURRED +HEURME Z-+HEUROEE+CURMEE §

ZET PER 1999 zoin;
BERIEE CURP11 ={CURGI1_1={1+RO11+RP113};
BERIEE CURR1Z ={CURGIZ_1={1+RO1Z+RP123 D,
BERIEE CURDAS ={CURGIE_1={1+RO1ZHRPI1ZID;
BERIES CURG14 ={CURP14_1={1+RQI4+RPI4}};
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BERIES CURGEw = {CURRES_1={1+RE40+HRF40)
BERIES CURRzZ1 ={CURP21_1={1+RGZ1+RF211);
BERIES CURGZ11 ={CURMZ11 _1={1+RQZ11+RF2111);
BERIES CURGZ1Z =({CURMZ1Z _1={1+RQZI1Z+RFZIZ));
BERIES CURGz1ol =foURG@z101 1=(1+ROZ101+RF2I01))Y;
SERIES CURGEZ ={CURRzE_1={1+Rgzzid);

SERIES CURGTD ={CURRTO_1={1+RaTOI;

EERIES CURRZ1 ={CURDS1_1={1+RQI1+RFE1D);
EERIES CURRZZ =(CURDZZ_1={1+RQIZ+HRPE2D);
BERIES CURREZ =(CURDES_1={1+RQIT+HRPE3D )|
BERIES CURGSG = (CURQE4 1 +{1+ROQILHRPEE) )
EERIES CURRES =(CURDSS_1={1+RQIZ+HRPEED);
BERIES CURGE1 ={CURRS1_1={1+ENRE1});

BERIES CURGEZ ={CURREZ_1={1+ENREZ});

BERIES CURGEZ ={CURRES_1={1+ENRES))

BERIES CURGEG ={CURRS4 1={1+ENRE4))

BERIES CURDIE =CURGRIE[199881 ]+ CURGS]1 +HOURGI 2+ TRG 33 HEUTRAS ¢ +H0 TR 35D
BERIES CURRES =CURDRSE[1998A1 ]{CUROEL +EUREE 2+ TRGES +HETREEE ) |

ZET PER 1998 zoin;

BERIEE 160C11 ={CURE11 -COST1 31000
BERIEE 10ciz ={CUREIZ -COSTIZ ) 1000
BERIEE 10C13 ={CURDIZ -COETIS ) 1000
BERIEE 1W0Ci14 ={CURD14 -COSTi4 3 1000
BERIEE 1W0Ci0 ={CURD{D -COSTLO3 1000 ;
BERIEE 10c21 ={CUROZ1 -COSTZ1 31000
BERIES 1M9C211 ={CURDZI1 -COSTZI1 341000,
BERIES 1W9C212 ={CURDZIZ -COSTZIZ /1000,
BERIES 1M9C210l ={CURQ2Z101-COSTZI00) 1000,
BERIEE 1W0czz ={CUROZZ -COSTZ2 3 1000
BERIEE 10CTO ={CURQTO -COSTTOI 1000
BERIEE 10031 ={CURODE1 -COETE1 31000
BERIEE 1W0Cs2 ={CURODEZ -COSTIZ 3 1000
BERIEE 10CE3 ={CURDEZ -COETII ) 1000
BERIEE 1W0C34 ={CURDEE -COSTaL 3 1000
BERIEE 1WCIE ={CURODEE -COETIE)S1000;
BERIEE 1W0C3E ={CURDEE -COSTIE ) 1000
BERIEZ 1WCE1 ={CUROED -COSTEL Jf1000;
BERIEE 1WCEZ ={CUROEZ -COSTEZ 31000
BERIEE 1WCES ={CUROEE -COSTEI)S1000;
BERIEZ 1WCE4 ={CURODEG —COSTEL 31000
BERIEZ 1WCEE ={CUROEE —COSTEE 1000

EERIES TCURG={CURD11+CURDL Z4H5URG LI+ CURMDL 4 +HOUTRDE 0
+OIR ] HETRE 211 +GITRER 1 24+CIR 021 01 +GITR QR 245 TRE TO
+OIREE] HTRG 32 +CIREEE HITRE $+0 TR 35 +CUTRDE 6
+OIR 251 HOTRA S2+CUR I5E HEITRGE ¢+5 DRSS 1 /1 oo
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BERIES TOOST={COST11+C0ST1 2+E05T15+00ET14+HI0ETE0
+OOET21 H0ET211 HE0BT2 1 2+008 T2l 01 +C0R T2 RHIORT T
FOOETE1 HO0RT E2+COE T3 +Ho0 ETE4+HL 0BT 35+C0ETER
+O0ETE] HIDETE2+O0R TES HIDETS 4+G DETEE ) S 1 oo

HERIER TIWC11=]1MC11;

BERIER TINCI1Z=]MC12;

BERIER TI1MWC13E=]MG13,

HERIER TIWNC14=]MG14;

ZERIEE TI1HCED=] HoE0;

BERIES TI1MWCZO=]NCZ1+] HOZ11+1M021 2+] HE2101

BERIER TINCZEZ=]MCZ2,

HERIER TI1MWNCTO=]HMGTOD,

BERIES TI1MNOIO=] NMEZ1+] HMOE 2+ ] MGEE3E3+] N0 344+ ] NGS5+ NG EE

BERIER TI1MWCED=] MCE1+] NOG 2+ 1NMEEE+]T NG G4+ ] MGES,

SERIEE TOIWNG =TIMCI11+TIWCIZ+TINCI13+TINCGI4+T] Mo 0
+T INCGE0+TINC2 24T 1 MG TO+T I HGE0+T ] MOS0,

BERIEZ TTOINC=TOINCSGDPDEFR  20L=100;

» S dFIIZIA HERE -

oo oA DYVALTE===============
———————————URRENT &DDVALIE-————-——-——~

————————— GOST RATE[STANDARD 1NCOME(1993)]-———————-—
BET PER 1992 1993,

BERIES COCOET11 =COCET11;

BERIES CUOCOET1Z =COCSTIZ;

BERIES COCDET1E =COCET1E;

BERIES CUOCOET14 =COCSTIi4;

BERIES CUOCOETEn =COGST40;

BERIES COCOET21 =COCET21

BERIES COCOET211 =C0OCRTZ11

BERIES COCOET212 =CO0RTZI1Z

BERIES COCOETZ1 01 =COCETZ101;

BERIES COCDET2ZZ =COUSTZZ

BERIES CUOCOETTD =COCSTTD;

BERIES COCOETIE1 =COCSTE]

BERIES COCOETIZ =COLETIZ

BERIEE CUOCDETIE =COUETIS;

BERIES CUOCOETI4E =COGSTS4

BERIES CUOCOETIE =COLSTIS;

BERIEE COCOETEl =COCRTS1 HOOFSTEDL

BERIEE COCDETEZ =COCBTSZ+HIOFSTER

BERIEE COCDETES =COCRTSIHIOFETES

BERIES COCDETEL =COCSTS4+HEIUOFSTEL

BERIER GUUDSTRBE=GUEDST35J{GUGDSTBI+GUGDST32+GUUDST33+GUEDST3$+GUEDSTSE}i
BERIER GUGDSTH55=GUEDST55J{GUUDSTEI+GUUDST52+GUUDST53+GUEDST5$}i
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ZET PER 1999 z01d;
SERIES CUCST11=COC2T11 1 ={1+R011 +REURTEY

BERIES CUCET1Z=COGET1Z 1%{1+RQ1Z+HRCURTEY;
BERIES CUCST13=CUCET1E 1={1+RIIG+HRCURTEY
EERIES CUCETI4=CUCET14 1={14+RQI4+RECURTEY
SERIES CUCETEU=CUGETE0 1 &{1+Ra0+HREURTE ) |
SERIES CUCST21=CUCRETZ1_1={1+R¥21+RCURTEY
SERIES CUCSTZ11=COCET211 1={1+RI211+RCORTEY
SERIES CUCSTZ1Z=COCETE1Z 1+{1+RI21Z+RCORTE)
BERIES CUCSTZ101=CUCET2101 1={1+REZ 101 +RCURTE);
BERIES CUCSTZZ=COCETZZ 1={1+ROZZ+HREURTEY;
BERIES CUCETTO=CUZETTO_1#{1+ROTO+HRCURTEY
SERIES CUCSTI1=CUCETI1_1={1+Ry31+ROURTEY
BERIES CUCSTIZ=CUETIZ 1 ={1+ROZZ+HREURTEY;
BERIES CUCETIZ=CUCETIE_ 1+{1+ROZZ+HRCURTEY;
BERIES CUGSTI4=CUCETE4 1 ={1+R034+REURTE) |
BERIES CUCSTIE=CUEETIE 1 ={1+R0ZS+HREURTEY

BERIES CUGETS1=COCAETS1 . 1=f 1HE MRS 1+RCORTED |
BER1ES CUFSTS1=COFETS1 . 1=f1H3MS1+REFEEDE ),

BERIES CUCETSZ=CUCETSZ 1= 1+SNS2+HRCURTE) |
BERIES CUFSTSZ=CUFSTSZ 1={1+SNQS2+REFEEDE )i

BERIES CUCSTSE=CUCSTSE. 1 =f 14ENRS 3+ROTRTED |
BERIES CUFSTSE=CURSTSE.1=f 1+HENS 3+REFEEDE )

BER1ES CUCSTEG=CUCETSd 1 &f 1-H3WN0E4+ROURTE ) |
SERIEE CUFSTE4=COFETE 1 +{1+EW0E4+REFEEDE J;

FERIER COCORETI1 =COGRET11;
FERIER COCORETIZ =COCRETI1Z;
FERIER COCGORETLZE =COCRT1S;
FERIER COCORT1¢ =COCET1q
FERIER COCORTEn =COCETEO;
FERIER COCORETZ1 =COCRTZL
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EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER

HERIER
HERIER

COCOETZ11 =COCETEZ11
COCOETZ12 =CUOCETEZ1E
COCOETZ101 =CUOCETZ1091,

COCOETZE
COCOETTD
COCOETEL
COCOETEE
COCOETEE
COCOETE4
COCOETEE
COCOETEL
COCOETEE
COCOETES
COCOETEY

COCOETEE
COGOETES

SCOCETEE
SCOCETTS
SCOCETEL
SCOCETSE
SCOCETSEE
SCOCETEE
SCOCETEE
SCOCETS1 HEOFETEL §
SCOCETSZHOFETER §
SCOCETSSHORETES |
SCOCE TS HIOFETEE

=COCOETREE [199841 1= (CUGDE TE1 HOOG0E T 24S UB0 ST 3+0 R0 STE 4 HS OB ORT 38 )
=COCOETREE [199841 1= {CUCGDE TEL HOIG0E TE 2SBS0 ETE S+5 TR0 STE4 )

SET PER 1998 199%;
————————[q0M] AL REVENUE{1993, BOEL}--———-———-

BERIES CURGRIE=CURGIE/S { CURGE1 +OURME 2-+0URDS3+CURMIE+HETRAEE) |
BERIES CURGRES=CURDES/{CURQS] +HOURME 2-+5 URGEI+CURDEL 1

SET PER 1999 zoin;
CURE11 ={CURR11_1={1+REI1+HRFI11DY;
CURP1z ={CURR1Z_1={1+RQ12+HRF123Y;
CURE1E ={CURR1E 1={1+RUISHRFI1ZI];
CURG14 ={CURD14 1={1+RE14+HRE143);
CURGED = {CURGED 1 ={ 1+RaE0HRE 403
CURPZ1 ={CURRzZ1_1={1+RQ21+RF213};
CURGZ11 ={CURG2111={1+RE211+RF2111);
CURGZ1Z ={CURG21Z_ 1={1+RE21Z+RF2Z1Z}D;

EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER
EERIER

HERIER
HERIER

COR@2101

={orREz101 1={1+REZ101+RF2I101 )Y

CURGZE ={CURGRZ 1={1+RG223};
CURGTD = {CURRTO 1= 1+RaTO1);
CURRE1 = {CURRE1_1={1+RQ31+HRFI1IY;
CURRE2 = {CURREZZ_1={1+RQ32+HRPI2I )
CURREE = {CURREE 1 ={1+RUI3HRPIFI )
CURREY = {CURDEE 1={1+R03I¢+HRE 3L )
CURREE = {CURRES 1 ={1+RQ32HRFISI )
CURGE1 = {CURGS1 1 ={1+H3MEE1})
CURGEE = {CURGEZ 1 =f1+H3MER)])
CURGEE = {CURRESS 1 ={1+H3MIEE)])
CURGEG = {CURRSE 1 ={1+ENRSE) ) |

CUREEE =CURGRIE[1 99581 1= CURGE1 +CURGSE 240 TRASE HOURMI 4+ URE S5 )
CORMES =CURGRSS[1 99881 = CURGE] +CURGE 240 TRASE +HCGTRES 4 ) |
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ZET PER 1998 zoin;

BERIES CUADDI1 ={CURD11 -COCOETIL) 1000,
BERIES CUADDIZ ={CURQ1Z -COCOESTIZYS 1000,
BERIES CUADDIZE =({CURQ1Z -CUCOST1E)S 1000,
BERIES CUADDI4 ={CURQ14 -COCOSTI4)S 1000,
SBERIES CUADDGn ={GURQ4D -COGOETEORS 1000
BERIES CUADDZ1 ={CURQZ1 -COCDSTZI)S 1000,
BERIES CUADDZ11 ={OURE211 -COGOSTZ113S1000;
BERIES CUADDZIZ ={EURE21Z -COGOSTZ1Z3S 1000,
BERIES CUADDZI01 ={CORRZIOI-COCOSTZI01 31000 ;
BERIES CUADDZE ={CURQZZ -COCOSTZZYS 1000,
BERIES CUADDTO =({CURQTO -CUCDSTTO)S 1000,
BERIES CUADDE ={CURQS1 -CUCDETEL)S 1000,
BERIES CUADDEE =({CURQSZ -CUCDESTIZYS 1000,
BERIES CUADDEE =({CURQSE -CUCDSTIE)S 1000,
BERIES CUADDEE =({CURQSE -CUCDESTIE)S 1000,
BERIES CUADDEE ={CURQSE -CUCDSTIE}S 1000,
BERIES CUADDEE =({CURQSE -CUCDSTIE)S 1000,
BERIES CUADDEl ={GURQE]1 -CUCOSTS1)S 1000,
BERIES CUADDEZ ={CURQEZ -CUCDSTSZYS 1000,
BERIES CUADDEE ={GURQES -CUCDSTSE)S 1000,
BERIES CUADDEL ={CURQEE -CUCDSTS4)S 1000,
BERIES CUADDEE ={GURQEE -CUCOSTSE}S 1000,

FERIER TCURDDI11=COappil;

FERIER TCURDDI1Z=COappilaz;

FERIER TCURDDIZ=COaDpDls;

FERIER TCURDDI14=COaDD14;

FERIEE TCOADDGD=CTapD4o;

FERIER TOURDDEO=COADD2]1+CUADDE1] HORDDE1EHmapha1 0l

FERIER TCURDDEZZ=COADDAZ |

FERIER TCURDDTO=COADDTO;

BERIER TCURDDE0=COADDE1+CIADDEE+CIRDDE ZHE0AD DEd +ETAD DR +HETADD 36
FERIER TOUADDSO=CUabDS]+CUADDEE+COADDS ZHE0RD DS +HETADDEE |

EERIER TOCUADD=TCOADDI1+TCOADDIZ+TCURDDLE+TOOAD D] 4 +T COA DD 0
+T COADDRO+T COADD 22+ TOOADD TO+TLTADD Z0+TC TADDED |

L i )
= =0 EHEIIIIX MESEHE o
————————GONSETANT ADDVALIE-—————— === —————— ————————

————————— GOET RATE[STANDARD 1NCOME(1996)]-——-—————-——

ZET PER 1998 1993,

BERIER COCORT11 =COCRET11
BERIER COCORTIZ =COCRTIL;
BERIER COCORTIE =COCRTIE;

- 140 -



FERIER COCORT1¢ =COCET1q

FERIER COCORTED =COCETE0

FERIER COCORETZ1 =COCRTZ1

FERIER COCORTZ11 =CDOCRTa1l;

FERIER COCORTZ1Z =COCRTa1z;

FERIER COCORTz1ol =COCETaiol;

FERIER COCDRTZE =COCRTZA

FERIER COCORTTO =COCRTTO;

FERIER COCORETZE1 =COCRTI1

FERIER COCORTIEZ =COCRTIA

FERIER COCORETIEE =COCRTIS

FERIER COCORTI¢ =COCETSE

FERIER COCORETIE =COCRTIL,

FERIER COCDRTSl =COCRETS1+COFETEL

FERIER COCDRTSZ =COCRTS+DOFETEZ

FERIER COCDRTSE =COCRTSI+COFETES

FERIER COCORTSE =COCETSE+HIOFETSE

BERIER COCDETREE=COCOETSE! (COCDETE] +HO0G0E TE2 HIOUDE TE S+ 000ETE4+HE DEDETEE Y |
BERIES COCDETRES=COCOSTESS (COCDETE] +H0000E TE2 HIDCOE TS S+HEOCOETS 4]

SET PER 1999 2010
SERIES COCSTI1=GOCET11 1+{1+RG11};

SERIES COCETIZ=COCRETIZ 1={1+Rain);
BERIES COCET13=COCETIE_ 1={1+Ra13);
BERIES COCETI4=COCETI4 1={1+Raid);
BERIES COCST4O=COCETEO_ 1%{1+R040);
SERIES COCETZI=COCETZ1_1={1+Razll;
SERIES COCBTZ11=COCETE11 1={1+RQ211);
SERIES COCETZ1Z=COCRTZIZ 1={1+RQZ1Z);
SERIES COCSTZI01=COCETZI01 1={1+ROZ101);
BERIES COCBTZZSCOCRTZE 1+{1+RQZZ);
SERIES COCETTOSCOCETTO 1={1+RaT0);
SERIES COCETI1=COCETI1_1={1+Ra3d);
BERIES COCBTIZ=COCRTIE 1+{1+RQIZ);
SERIES COCETIE=COCRTIZ 1={14+Ra33)Y;

SERIEE COCETI4=COCETEG 1={1+RQ34};
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SERIES COCST3S=GOCETES_ 1+{1+RG35 )

BERIES COCETE1=COCSTS1 1={1+3RES1);
BERIES COFSTE1=CORSTS1 1={1+3RES1);

BERIES COCETEZ=COCETSZ 1={1+ERESZ);
BERIES COFSTEZ=CORSTEZ 1={1+ERESZ);

SERIES COCSTS3E=GOCETSS 1+{ 1+HERESE)
SERIES COFSTS3=GOFETSS 1+{1+HERESE)

BERIEE COCETE4=COCETEd 1={1+3ROE4);
BERIEE COFSTE4=COFETEd 1={1+3ROE4);

SERIER COCORTI1 =COCRETI11;

SERIER COCORTIE =COCRTI1Z;

SERIER COCORTIE =COCRTI1E;

EERI1EE COCORT14 =COCET1G

EERI1EE COCORTLD =COCETEO;

SERIER COCORTZ1 =COCRTZI

SERIER COCORTZ11 =COCRETZ11;
SERIER COCORTZIZ =COCRTLZIZ;
SERIER COCORTZION =COCRTZi01;
SERIER COCORTEZE =COCRTZL;

SERIER COCORTTO =COCRTTO;

SERIER COCORTEL =COCRTE1

SERIER COCORTIEEZ =COCRTIL;

SERIER COCORTEZ =COCRTIE;

EERI1EE COCORTEE =COCETSEE

SERIER COCORTES =COCRTIL

SERIER COCDRTS1l =COCRETE1+CO0OFETEL
SERIER COCDRTSE =COCRTESZ+COFETEZ
SERIER COCDRTSE =COCBTESIZ+COFETES,
EERIEE COCORTEE =COCETEG+COFETEL

EERIES CDGOSTEE —COCOETRSE [199881]={00C0STE] HG000E T2+ DC0ETS B+C 00D ETE4HI DG ORT 35 |
EERIES COCDSTES =COCOSTRES[199881]={C0C0DETEL HE0GOE TS 2HEDCDETE 345 D00 ETSE) |

——————-—-REALL REVEWUE{1992, BEOLj--—--——-

BET FER 1998 1998,

BERIEE CORMRIE=CURMIE. {CURDE] HOTRNE 2+ URD Z3+CUR QI HE TRGIE)
SERIES CORGREE=CURGSE. {CURGEL +CEURME 2+ DROSE+CURGELE §

ZET PER 1999 zoin;
SERIERZ CORMI1 =(CoRE11_1={1+RG11});
SERIERZ CORMIZ =(CoRE1Z_1={1+RQ12));
SERIERZ CORMIZ =(CORD1Z_1={1+RQ1Z});
SERIERZ CORMIE =(CORD14_ 1={1+RQ143);
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BERIES CORMEY = {CORREO_1={1+ROE0});

BERIES CORGZ1 ={CORRZ1_1={1+RGz1});

SERIES CORGZ11 =(CORE211 1={1+REZ11)1);

SERIES CORGZ1Z =(CORD21Z 1={1+REZ1Z)D;

BERIES CORGz1nl =fooREz101 1=(1+ROZ101)};

SERIES CORGZZ = {CORRZZ_1={1+Rgz2});

BERIES CORGTY = {CORRTO.1={1+RQTO}};

BERIES CORME1 = {CORME1_1={1+RG31});

BERIES CORGEZ = {CORMEZ_1={1+RG32});

BERIES CORMEE = {CORMEE_1={1+RO33});

BERIES CORGEE = {CORMS4._1={1+RO3E});

BERIES CORGES = {CORMES_1={1+RO32});

BERIES CORGE1 ={CORRE1_1={1+EREE1});

BERIES CORGEZ ={CORREZ_1={1+EREEZ});

BERIES CORGEZ ={CORRES_1={1+EREES)) |

BERIES CORGEG ={CORRE4 1={1+EREE4));

SERIES CORMEE =CORGRSE[1998a1 1+ CORGE1 HI0REE 2+0 ORA 33 HOORME 4+ DR EED
BERIES GORUSS =CORGRSS[1995A1 J={CORGS1 +C0RES 2HCURASIHIDRES ¢ )

SET PER 1998 z0in;

BERIES CDADD11 ={GORE11 -COGOETI1H/ 1000
BERIES COADD1Z ={GORQ1Z -COGOETIZI/ 1000
BERIES COADD1E ={GORQ1Z -COCOETIZ) 1000
BERIES COADD1¢ ={GORQ14 -COCOETI4) 1000
BERIES COADDGD ={GORQED -COCOETEO)S 1000
BERIES COADDZ1 ={GORRZ1 -COCOETZ1)/ 1000
BERIES COADDZ11 ={CGORE211 -COCDETZ1135 1000
BERIES COADDZ1Z ={CORGZ1Z -COGCOSTZ1Z)S 1000,
EERIES COADDZ101 ={CORGZ1DI-GOCOSTZ1v1 )/ 1000
EERIES COADDZZ ={GORWZZ -COCOETZZI/ 1000
BERIES COADDTD ={GORQTO -COGOETTO} 1000
BERIES COADDE1 ={GOREE1 -COCOETI1H/ 1000
EERIES COADDEZ ={GORQEZ -COCOETIZI/ 1000
BERIES CDADDEE ={GORQEZ -COCOETIZ)/ 1000
BERIES COADDE¢ =—{GORREE -COCOETI4) 1000
EERIES CDADDES ={GOREES -COCOETIS)/ 1000
BERIES CDADDEE ={GORQEE -COCOETIE}/ 1000
BERIES CDADDE]L ={GORES1 -COGOETS1)/ 1000
EERIES CDADDEZ ={GORRSZ -COGOETSZI/ 1000
EERIES CDADDEE ={GORQSZ -COCOETSE)/ 1000
EERIES CODADDEG ={GORQSE -COCOETS4)/ 1000
EERIES CDADDES ={GORWSS -COCOETSSH/ 1000

BERIER ToOMDD11=CoaDD11;
BERIER TOOMDDI1Z=COADD1z;
BERIER TOOMDD1Z=COADD1E;
BERIER ToOLDD14=CooDbDid;
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EERIER
EERIER
EERIER
EERIER
EERIER
EERIER

TCOADDEO=COADD YD,
TCOADDEO=COADD1+C0ADD 1] +HE0ADDE] 2 +HE0 DD 210

TCOADDZZ =CORDDEE

TCOADDTO=C0RDDTO;
TCOADDE=C0ADDE]+C0ADD S +C0ADDE SHE0AD DEG HE0 AD DES +HRD DD 36
TCOADDEO=COADDE]+C0ADD SR +C0ADDE SHE0AD DEG HEDADDES |

EERIER TOCOADD=TCOADDI1+TCOADDIZ+TCORDDLE+TOOADD 4 +T COADDE 0

+TCOADDRO+HT COADD 22+ TO0 ADD TO+TL0 ADD Z0+TC DADDED |

SERIER TOOADDOO=TCOADD11 +TCOADDY 2+T COADDT 3+T COADDI 4+ TOOADDG 0

+TCOADDEO4+T COADDEZ+TCD BDD TO+TEDADD 30

EERIER
EERIER
EERIER

GEROP=PCHTR{TCORDDOD AY|
GLIVE=PCHTR{TCORDDED )|
GTOTLL=FCHTA{ TOCOADD &Y

ETOF,

a

2. A A g

Seid zx

v FAERES Y

GDFPDEF
Ordinary Least Sguares
LHMTAL data for 19 pariods from 1980 Lo 1995

e ] i

fak

S

logf pdpdat |
= 0 _T2260 = logfrode] + 003330 * logfexoh] - 531070
f2g. Tosn] {1.948053) (14 _E073)
Bum S 0. 0aTe  &td Err 0 0417 LHS Mean 4. 23261
R 23 0. 9864 R Bar 83 0.9548 F 2, 16 532_314
D_W.f 11 1.2158 D W.{ 21 1.49193
O IHC
Ordinary Least Sgquares
AWHITAL data for 24 pariods from 1975 to 1998
logi{dine/gdedeg=i00)
= 0_97199 = logfgde/ pop=1000000/ gdpded #1002 - &_ 53634
{155 242 (EE 1603 )
Sum 89 0 00ds  Std Err 0 013% LHS Msan & 27329
R 21 09991 B Bar 83 ©_.93%0 F 41, 22 3236ET.S
DM 6 1) 0. 3291 oo, 21 o_Ta4s
MACHP

Ordinary Least Squares
LHMTAL data faor 19 pariode from 1980 to 1992

loof maokhe)
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= 0_TLE4E = logfgdepdef] + ©.11292 = logfexoh]

{3 11834 {2 02354
+ 1 02167 ®= Jogfrent] - 0. 43534 * logfooutpute]
fn_3TEN9] {1.995E1)

- 0_32480 = mpikef1993,1)+epikef199¢,1 ) +ep ikef1995, 1 1+ap 1kef1996, 11+
#p ks (1997,1)

f10, 2859

+ 3 _EEBE0S

(8. 49923
Bum Bg 0. 9iEe  Std Err 0_BEET  LHS Mean 47230
R &g 0.9931 R Bar 8¢ ©.9312 F &, 13 43 0TTS

D.H.{ 1] 18397 D_W_{ 2] 2.2206

CORTE
Ordinary Least Squares
LHMTAL data faor 19 pariode from 1980 to 1992

logf aurtp]
= 0_E2E9T7 # logfodedef] + 0_26712 # logfexoh]
f2_a7193) (3. 14190]
- 0_3966T = logfooutputp] + 015129 = dmourtep + 1. T9204
£1_32057] (3 0eE039] (3. 43908)
Bum Sa 0. 0371 Std Err 0 0516 LHS Mean 4.5171
R 81 0.9119 R Bar 83 0_8%6T F 4, 14 36_23ES

D.H.{ 1] 1. 41334  D_W_{ 2] 1_8167

HAGE
Ordinary Least Squares
LHMTAL data faor 24 pariods from 1975 to 1398

wame! mdpdaf #1010
= E0_ 0961 # logfdino_ 1/ pdpdef  1%100)
{15 0359
- 35. 5417 = logfooutputp 1/gdedef 1+100) - 173 TaT
{1 _E5242) {1 En3E3a)
Bum S 1198.99  2td Err T_EEE1 LHS Mean &Z_07TS
R 81 0.9203 R Bar 83 0.9128 F 32, 21 131 310

D.H.{ 1] n.cegn DoW_¢ 2] 1._1g39

REWT
Ordinary Least Squares
LHMTAL data faor 19 pariode from 1980 to 1992

rent/ mdpdsf #1100
= 4q_ 2356 # logfnfepll 1/ ogdpdsf 1+100)
{0 _Ba53E)
- 46 G357 = logfwame 1/ odedef 1%109)
{1 _14e83)
- 47.8904 = Jogfourtp 1/ odedsf  1%1090]
{n_94151]
+ 90 0318 *# logfrent 1/gdedef 1#100] - 23 5300
{4 _SEEE1) fo_12g992)
Bum S 2117.72  &td Err 12.29%2  LHS Mean 113 177
B S 07919 R Bar 83 0_T32E F ¢4, 14 413 3335

D.H.f 1] 1230 o . 2] 1.6093
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e — ==
- ARUET U FHE T

ACRZZ
Ordinary Least Sguares
AHMTAL data for 21 peariods from 1978 to 1992

lagfaordd]
= 0. 79447 * logfaor22)[-1] + 0_02103 * logfnfel2l 1/gdedsf 1%100)
(8_49114) {0 18540
- ©_45955 = Jogfourtp 1 /gdpdef 1#%100) + 298421
(3 3475964 f1.9127%)
Sum 59 0. 0877  Std Err 0. 0T7T18  LHS Msan 3. SEET
B S 09889 R Bar 83 ©0_9859 F 3, 17 4963 .493
DM 6 1) 2,137 D W.{ 21 2_.37Eq
H -n_ 4434
LoIod

Ordinary Least Sgquares
LHMTAL data for 11 periods £from 1988 to 1992

logf 1d1d1])
= - 7.36367 = logfofpll 1/ odpdsf 1+199)
(2. 04004]
+ 0 _TT264 *= logfwame . 1/gdedef  12100] - 0 22841 = zpikaf1998,1)
(0. 90206 ) (1. 37211)
+ 33 6403
£1_ 70506 ]
Bum S 1.3475  8td Err 0n_4388 LH® Mean 3. T111
R 21 0.T42E R Bar Sz  0.E403  F 3, T E_9999

D.H.{ 1] 0949942 D_W_f 2] 1._Ta98

LoIipa
Ordinary Least Sgquares
LHMTAL data for 19 periods £from 1989 fto 1992

logf 1d41d3)
= - 2. 68325 = logfnfpsund_ 1/gdedef  1=100)
(0 36531
+ 0 _TAENE = Jogfinpute. 1/gdedaf 13100)
(0. 49909
+ 1 08320 * logfwame. 1/ odpdef 1#100)] - 0 55447 & dnldid - 1_80216
{1 08786 {1 98354 £ 19795
Sum 59 n.279¢  Std Err 0_2364 LHS Msan 32862
R Sg 07405 R Bar 83 ©0.5335 F 4, & 3_5e32

D.H.f 1] 1. 4970 DoM.f 2] 3.2774

BCRE1
Restrioted Ordinary Least Bguares
BITAL data for 15 pariodz from 1934 to 1998

logfaorsl)
= 002474 # aord3i[-1] + 0. 00431 = (nfpdllodpdef®#100][-1]
{5 45715 fa.38120)

+ 2. 00337 = {nfp3l/gdpdef=iog][-2]
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{2 36120]
+ 0. 0014d = {nfpsl/gdedef®1od][-3]

f2_36120]
- 0 nEaT & (nfpd0/pdpdafsi00][-1]
{1 88986
- 0. o2zl = fourtp/ogdedef=s100][-1] + 2_&3811
{1 47883 {5 g3a31]
Folynomial laga:
(nfp3l/ pdpdat #100]
from 1 to & degres 1 far
Bum 89 0. 0d4ae gtd Err 0 0653  LHS Mean 3. TSE2
R Sg M. 8562 R Bar Sz 0_.7997 F ¢4, 10 414 _sTao

D.H.f 1] 17337 D_H.{ 2] 1_7am

ACRZ2
Reatrioted Ordinary Leaszt Sguares
LHMTAL data faor 1T pariode from 1982 to 1998

aoril
= 15 8458 # logfaor3d 1) + 0_103588 &= Jogfnfpdd/pdpdef®#100][-1]
f16 7217 (o T4427]
+ 0 20716 = logi{nfpdd/odedef=100][-2]
{n_74427]
+ 1 31974 = Jogfnfeid/gdedef®1on ] [-3]
{a_74437]
+ 1041432 = logfnfpid/gdpdefs100][-4]
(0 _T4427)
- 1_32&80% = logfourtp/gdpdef=ion)[-1] - 23 2231
{0 98740 {3 _13078]
logfofp3d/ gdedsf 1 00]
from 1 to ¢ degres 1 near
Bum S £ _EEEE  Ztd Err 0_E538  LHS Mean 12 0580
R B3 09863 R Bar Sy 0.9832 0 0F &, 13 312 233

o_W.f 11 2.1g08 DoW.{ 21  2.2241

ACRSE
Restrioted Ordinary Least Bguares
LHMTAL data for 20 peariods from 1979 to 1992

logfaor3s]
= 0.21791 = logfaorddl[-1] + 0 04185 = logfnfpdd/odpdef=in])[-1]
{7 _E2147) {2 10531 ]
+ 0. 02371 = logfnfp3d/odedaf=1on][-2]
f2_ 10531
+ 0_11EEE #= Jogfnfpdd /odedef=100)[-3]
f2_ 10531
- 0.12458 = logfnfedl /gdedef=100]1[-1]
{0 7ai15s]
- 111333 = Jogfourtp/gdedef®1m)][-1] + 0_B1702
(0 T8105] (0 59534]
Folynomial laga:
logfnEpds/ odpdef =100

from 1 to & degres 1 near
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gum Sq 0. 1a9g gtd Err 0_Q336 LHEZ Mean 2. Tele

R 23 M.9631 R Bar 83 0.9483 F 4, 15 88 0991
D.H.f 1] 11872 D_H_{ 2] 2 1066

H 2.0193

ACREG

Reatrioted Ordinary Leaszt Sguares
LHMTAL data faor 13 pariode from 1986 to 1392

aonrig
= 19_ 8560 # logfaordd 1) - 000293 & Jogfnfpdd/ pdpdef #100][-1]
{5 06745 ] fo 00207
- 0_90198 = logi{nfpddiodedes=100][-2]
{0 nninT]
- n.ooas = Jogfnfpd3d/odedafE1on])[-3]
(0 nnanT]
- 2. 08T10 & log{wame/odpdef®100][-1] - 27 2333
(0 36566 {2 BE0ES)
Folynomial lage:
logfofp3d/ odpdat 1 00]
from 1 to & degres 1 far
sum Saq £.5268 Ftd Err 0_8516  LHS Mean 1% T311
R Sg 0.989% R Bar S ©_9854 F 3, 9 290.144

D.H.f 11 2,995 D W.{ 21 1_33a2s

BCREE
Restrioted Ordinary Least Bguares
AHMNTAL data for 19 pariods from 1920 to 1992

aorzs
= 137958 = logfaor3S_ 1) + 004758 = logfnfpiS/pdpdef=100][-1]
(4 _E2aTE0)] (. 45623]
+ 0 09517 = logfnfp3C /odpdafs100][-2]
(0 45623
+ 0 14275 = Jog(nfp3S /odpdef=100]1[-3]
(0 _45829)
+ 119933 = logfnfpiS/gdpdef®100][-4]
(0. 45623
- 4_ 30472 = Jogfourtp/odedef®100])[-1] - 1_ 48172
f1_ 573349 (0. 05383 )
Folynomial laga:
logfofp3s/ gdpdef 1 00]
from 1 to 4 degres 1 near
Sum S T.8386  Std Err 0_7239 LHS Msan 19_ 1613
R B3 09781 B Bar 83 ©_9738 F 3, 15 2323671
D.H.§ 1) 1.835% D.H.{ 21  2.4790
ACRID

Ordinary Least Sgquares
LHMTAL data for 19 pariods from 1980 to 1992

lagfaaran]
= 1.21273 # logfaorzum30] + ©0_14222
(g 5@gg) f1_22087]
Sum 59 0. o082 Std Err 00217 LHS Msan ¢, 8663
B Sx 09898 R Bar 83 0.9892 F 1, 1T 1647_4%5

D.H.{ 1] 0. ge5E  DM.f 2] 0 8532
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o DpZ A Bk,

BUHGE1
Ordinary Least Sgquares

LHMTAL data for 14 pariods from 1985 Lo 1992

logf ungdl )

= 0 33932 = logfaor3i)[-2] - 0.42384 = logfaor3l)[-3] + 3_223260

fq.22382)
Bum Bg 0 nigs #td Err
kR fa 0_8T49 R Bar 8a

D.H.f 11  1.8032 D.H.{ 21

A0MG=2
Ordinary Least Sgquares

f2.45112)
0_0360 LHES Mean
noesil Foo3, 11
1_9258

LHMTAL data for 14 periods £rom 1985 to 1992

(4 26322
0_0355  LHS Mean

lagf zung33 ]
= 0 55429 * logfaor32])[-3] + 0_54189
£11_ 2344
sum Aq n_nilsn Ztd Err
R &g o 9211 E Bar 549

D.H.f 1] 1.94901 oW, 2]

BUNGE S
Ordinary Least Sguares

n.9145  F 1, 12
25018

AHMTAL data for 14 pariods from 1985 to 1992

logf sung3z ]
= 1.22209 # logfaor3d)[-2] + o_oaT7aT =
fag_1212)
Bum Aq 0_oonaE 2td Err
R 2a 09261 E Bar 24

D.H.f 11  2.3623 D.W.{ 2]

BOMGEg
Ordinary Least Sgquares

{3 29501 )
0 _nATs LHZ M=an
no9Ess Foo2, 11

2.4448

LHMTAL data for 14 pariods from 1985 Lo 1992

33033
32 _4BET

2_ 0402
140 _ota

a.5933
390 902

(3 253171

lopfanr3s)[-8] - 0_S3TOS

{4 _E3EEE]

= 0_38049 = logfaor3d)[-1] + 0_714632 = logfaor3d)[-94] - 9. 62353

logf zungdd )

{3 _gg031c)]
Bum Bg n.n3aia #td Err
R 5a 0 3898 R Bar &g

D.H.f 11  1.3922 D.H.{ 2]

BNGEE
Ordinary Least Sgquares

(4 61513
0_0g4i:E9 LHZ Mean
nogssn Fo3, 11
2 3670

LHMTAL data for 14 periods £rom 1985 to 1992

f1 58322
0_0a9g LHS Mean

lagf zung35 ]
= 0 92688 * logfaor3S])[-4] + o_aniaT
fan, 9531
sum Aq o 0ing Ztd Err
R &g 0_9TEd E Bar 549

D.H.f 1] 10154 oW, 2]

0_39T1a F 1, 12
1_6289
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o Chmgh,,
yoEl

Ordinary Least Sgquares

BITAL data for 14 pariodz from 1935 to 1998

log! wdad )
= 00331 = (heo-1970) + 0 63504 * {eung3llaordl)
£ 93141 {3 B4805)
- 0129498 * zpiket1991, 1 1+apikef1993,1 1+ep ikaf1994, 1] +ap 1ka(1998, 1]
{5 96460
+ & _g0i5g
(63 1473)
Aum Sq n_n2il atd Err n_0453 LH? Mean T_ 2146
R B3 0. 8732 R Bar Sg 0_8352 F 3, 10 23 9839

D.H.f 1] 1.5471 oW, 2] a._3290

yoEd
Ordinary Least Sgquares
LHMTAL data for 9 periods from 1990 fto 19932

w32
= 351823 * logfteo-1970) + 1285 B0 * Jogfeaung3l/aorsl] + 1003 11
(0. 22336 ] f1_T1080] (0 21973]
Bum S 34722.7 &td Err TE_OTa1 LHZ Mean 1390 96
R B3 0. 9435 R Bar S 0.9247 F 2, & GB0. 1191

D.H.f 1] 1.3611 oW, 2] 2_311n

yoEs
Ordinary Least Sgquares
LHMTAL data for 9 periods from 1990 fto 19932

w33
= 1649 22 *= logfhteo-1970) + 182 383 = logfesung33/aoris)
(7. 01388 f1_ 02931]
- 83 2631 * ydm33 - 4012 54
f1_72120] {5 _EE094]
Sum 59 19475, 7 &td Err 62.4119  LHS Msan 1126 95
B S 09314 R EBar 83 .80 F 3, & 22 8178

D.H.f 1] 11219 p_WH_{ 2] 23731

YoEg
Ordinary Least Sguares
AHMTAL data for 12 periods from 1987 to 1992

yodidg
= 297167 # logfhteo-1970) + 439 824 = logfezung3d/aorag)
f1_97121) {2 18358
+ 172 641 = apikaf1988, 1 ]+epiks(1929, 1) +ep ikef1992,1] + 252 493
{4 05534 (0 _EBZIG)
Fum Saq 272947.0  Ftd Err 58_359% LHS Mean TS9._ 96T
R Sg 0.7204 R Bar 8g O_E15E F 3, 28 &_gT08

D.H.f 1] 1.9961 oW, 2] 2 35683
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YoEs
Ordinary Least Sgquares
LHMTAL data for 22 periods from 1397T Lo 1992

logf vdiE )
= 0_ES8E4 ® logfwdi3SI[-1] + 0. 24EEE = dm3E
{11 _4340] (g 79339
+ 0_3543T7 = apike(1992,1) + 2_661TY
{2 92026] {6 21630]
Sum Saq 0.236%  Std Err 01147  LHS Msan
R 23 0,896 R Bar 83 ©_8TT1 F 3, 18
DM 6 1) .03 DoW.{ 21 2.11aa
H -0_247%
Pvh ks

Ordinary Least Squares
LHMTAL data faor 23 pariode from 1976 to 1998

T.ELEL
509974

Td13
= 25 7224 = Jogfydl3d 1] + 1 _945998 = (teo-1970)
(0. 95611 {2_9852%)
- 242265 * apike(1994,1] - 16 42m

{3 _57322) (0 _ 13156
Sum 29 1966 64  gtd Err 2_7T859 LHS Mean 132 982
R 23 07934 R Bar 83 ©.EREE F 3, 19 450174
D.H.f 11 18480 DpoW.f 21 1_9281
voig

Ordinary Least Sgquares
LHMTAL data for 23 periods from 13976 Lo 1992

{0 26129]

wdid
= 110 327 *= logfydid 1] + 4 _ 021956 = {teo-1970)
(1. 07081) (2 _S0160)
- 94,7547 * mpikaf1982,1)+epike(1991,1 14ep ke(1994,1) - 167 157
(3 689479
Sum Sg 31681.9 2td Err 40_7702  LHZ Msan 591_675
R 23 U.583T R Bar 83 0_5145 F &, 1% £ 7702
D.W.f 11 1.8931 D.oW.{ 21  1_9807
Yogo

Ordinary Least Sguares
LHMTAL data for 23 pariods from 1976 Lo 1993

q.2230
2.TaNE

(21 4921)

logf ydgu ]
= 000242 & ywigdo[-1] + 0 01354 & fteo-1970)
(0 _Toge1) {2 g9e892)
- 0.11188 * zpika{1982, 1 l+epike{1995,1 l4ep ke {1992, 1] + 3_24113
{1 86359
Sum Sg 0.167%  £td Err 0_0938  LHE Mean
R &g 0BS5S R Bar 83 0.5¢432 F 3, 19
D_W.f 11 1.7256 D W.{ 21 2_2682
yoal

Ordinary Least Squares
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LHMTAL data for 23 pariods from 1976 Lo 1993
w2l

= 0 08485 ® ywi31[-1] + 9 25388 & fteo-19T70)

(0 69541) €1 TE0TE]
+ 803 212 = apike{1978, 1 )+epike{1990,1]) + 2006 13
(6 _ETO13) {E_J1EET)
Sum Bq E0102T  Std Err 163322 LHE Mesan 2432 61
R &3 0.7TI05 R Bar B3 ©_EB4E  F 3, 19 15 5439
D.M.f 11 2.6592 D.W.{ 2] 1.6848
H -31_00EE

yoia
Ordinary Least Sgquares
LHMTAL data for 15 periods from 1989 to 1992

logfydil )
= 023312 = logfydi12]1[-1] + 0_34724 = logften-1979]
(0 _TE294) (2. 31136
- 021745 & wimld + 3 _2ATOTO
{3 _15999) {3 26607
Bum Sq 0. 0E32  gtd Err 0_0TE2  LHE Mean 5 5989
B S n.6117 R Bar 83 0_E058 F 3, 11 E_T7ES

D.H.f 1] 2.3093  D_H_{ 2] 2. 2035

yoaiil
Ordinary Least Sgquares
LHMTAL data for 15 periods from 1989 to 1992
ydall
= A0 _7ET * Jogpfwd2dil 1] + 23 2799 = {teo-1970)

(2. 19814) f2. 963451
- 129 108 = wdmdll - 1TO0E_0G
{3.59698] {2 22144)
Sum 53 Z3486.1 &td Err 55_1742  LHS Mean 933349
R 83 99309 R Bar Sg ©.9120 F 3, 11 49_357%

D.H.f 1] 1.g5161 o . 2] 1.1432

yoaia
Ordinary Least Sgquares
LHMTAL data for 19 periods £from 1980 fto 1992
yd2l1d
= 1651 .78 *= logfyd312_ 1] + 2254 12 = Jogfteo-1970)

(2 _514921) (q_gg4530]
- 330_480 & wdm31l - 15E05. 0
f1_SEE4E] {5 BEEEE)
Sum Sq 1391216  Std Err 309 545  LHS Mean 476E_34
R Sa 9. 9373 R Bar 83 ©.9248 F 3, 15 T4_T9sS

D.H.f 1] 2.6932  D_H_{ 2] 1.2931

yoals
Ordinary Least Sgquares
LHMTAL data for 23 periods from 13976 Lo 1992
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s R
= -21.8763 ® logfyd213.1) + 11869_48 = logfteo—-1970)

(n.14111]) (6. 036851
- 3B 408 = apike(1992,1) - 1576 45
{2_34732)] {3 449EE]
Sum Sa 452974 2td Err 154 _gn5 LH? Mesan 1460_94
R &g 0.927% R Bar 83 0_9158 F 3, 19 £0_TEde

D.H.{ 1] 2.0932  D_W_{ 2] 3 _45E9

yoainol
Ordinary Least Sguares
LHMTAL data for 18 peariods from 1981 to 1992

logfwd2iol ]
= 0 18557 * logfyd21011[-1] + 0_732180 = loglteo-13T70)
(o ge49s2] £ 29304)
+ 0. 17916 = apike{i1983, 1 )+epike{1922,1 +ep ike {1992, 11+ep ke {1997, 1]
(3_.19513)
+ 207885
{4 13560
Bum Sq 0.1342  Std Err n_7979 LH? Mean 5_1899
R Sa 0,902 R Bar Sz ©0_223T F 3, 14 dE_ 2473
0.W.f 11 1.esg9  DoWw.f 21 1.9232
H 0. BELT
yoaind

Ordinary Least Sguares
LHMTAL data for 14 peariods from 1985 Lo 1993

logf ydd10a]
= 0 _oooRe = wddiga[-1]
(3. 15270
+ 0_14532 & gpikefl1986, 1]+2pike(1990, 1) +2p lkef1993,1] + 5 25178
{3 12378 {42 aEES)
Sum 29 0.9EEd  Std Err 0_0T16  LHES Msan &_9301
R 23 . E551 R Bar 83 0.5924 F 32, 11 10 4470

D.H.f 1] 1604 DoH_f 2] 2 3680

foaigs
Ordinary Least Squares
LHMTAL data faor 18 pariode from 1981 to 1998

logfyd2103 )
= 0_ 25845 ® logfyd21031[-1] + 2.094892 = logfteo-1270)
£1_ 52376 {1 nagoa)

+ 10 12623 * zpikefl1986, 1 1+apike(1989,1 1+ep ikaf1990, 1) +ap 1katf 1993, 11+
apia(1996, 1]

{5.132114]
+ £ _gE5E5ad

{4 _E2E30)
Bum Ba 0 0293 #td Err n_Q45T LHE Mean 2_49TTE
R 23 B.7T435 R Bar 83 0.68%6 0 F 3, 14 15 5298
D.H.f 1] 2. 0d4in D H_{ 2] 1_BEER
H -0 2339
ypaiag

Ordinary Least Sgquares
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LHMTAL data for 18 peariods from 1981 to 1992

logf ydd10g ]
= 022472 * logfyd21041[-1] + 0. 12722 + logfteo-1270)
f1_ 30973 {2.66174]
+ 0 _0TE36 = apike{1996,1) + 5_03ET3
(2. 35329 (% 34715)
fum Saq 0.9137  Std Err 0 o0l LHS Mean T.8137
R 83 0.9124 R Bar S 9_8936 F 3, 14 48 6031
D.M.f 1] 2. vws1g D W.{ 2] 1.g952
H -0 83632

e e =]
o I QBT E

CP31

Ordinary Least Sgquares

BITAL data for 18 peariods from 1931 to 1998

logf topdl! pdpdef #1010 ]
= - 0 78527 & logftdil/pop® 0] - 022116 = Jogidino/odedef®100]
f3_TaTds] {3, 16813)
+ 114428 * Jogfd35/ pop=1000]
f1_21561]
- 0. 12036 = gpikef{1999,1)+epike{1993,1  +ep ikef1996,11 + 2 17120
£1_52250] { 9.5293)
Bum S 0. ngll gtd Err N_A795  LHZ Mean ¢ 5710
R 21 0. 80ET R Bar Sx  0.T4T2  F 4, 13 13 _CEDE

D.H.{ 1] 2. 5955 D_W_{ 2] 1._6513

CP32
Ordinary Least Sgquares
BITAL data for 12 peariodz from 1937 to 1998

topdd/rdpdef =100
= - 19 5844 * Jogftdid/pop®E 000)] + 52 _BE552 #= Jogidino/odpdef®100]
(0 95844 {3 12275)
- 335_7T1
(2 _514931)
Bum S g37_0Te8  &td Err 9.9838 LHS Mean 927960
R B3 0. E3E R Bar S 0_4311 F 2, 2 &5_1831

D.H.f 1] 2. 32813 oW, 2] 2_TRIE

[ S
Ordinary Least Sgquares
LHMTAL data for 18 periods from 1981 to 1992

logf top33/ pdpdef =100 ]
= - 0_3313% = logftd3IZfpops1000] + 0_69905 = Jogidinolgdpdef=100)
{1 _62275) £3.11037]
+ 0_3IITE # apikef199E5,1] - 1 27276
f1 57148 (0 _TE3TL)
Sum 59 0.EEED  Std Err 0.1991 LHS Msan 4_187T
B S 0 EEE1 B Bar 83 0_4531 F &, 14 5. 3385

D.H.f 1] 0. g9za DoM.f 2] 1._0899
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CPag
Ordinary Least Squares
LHMTAL data faor 15 pariode from 1984 to 1998

logf topd3d! pdpdaf #1010 ]
= - 0_5E990 # Jogftdid/pop®E000] + 0 77383 * logidino/odedef®100]
{3 36541 (3. 60T4E]
- 0 36813 = apike({1993, 1)+mpike{d1996,1]) - 1_d44283%
{3 _99EDE] (n.89q443)
Bum S 013172 &td Err 0 1091 LHZ Msan 9_GETE
R B3 0 E042 R Bar B3 9. 94962 F 3, 11 5_59E3

D_W.{ 11 1.7ea7 D.H.{ 21 1_Teor

GR35
Ordinary Least Sguares
LHMTAL data for 22 pariods from 197T to 1995

{top3s/gdedes =100 ]
= - 59 0311 *= Jogftd3S/pop® 0] + 47 9614 = Jogidino/odedef=100]
(3 799449 (2. 4339g4]
- 194 2684
f1_.42214)
Bum S 6942 69  2td Err 19.1156  LHS Msan 7T2.9160
R 21 0.4741 R Bar 8¢ ©_4182 F 2, 19 8_EEEE

D.H.{ 1] 2. 4341 oWt 2] 1_19gE1

MFT11
Ordinary Least Sguares
LHMTAL data for 13 peariods from 1986 Lo 1995

loorfmft11)
= - n_22552 = Jogfmftell/odedef #100)
{2 _EBEG1]
+ 0 BL328 * gpikef1992, 1 )+epike(1995,1 1 4ep ke {1994,1) + 13 4293
f1_ 80455 (3. 88924
Sum Saq 1. 6135  Std Err 0 4017  LHS Mean 4_8694
R 23 0.729% R Bar 83 ©_BTS3Z F 2, 10 13 4799

D.H.{ 1] 0. E0aE DoW_{ 2] 0_EIEE

FERD11
Ordinary Least Sgquares
LHMTAL data for 22 periods from 1397T Lo 1992

logf dil/pop=1000)
= - 000340 * fpopll/gdedef®100] + 0_00009 = fnoplld/gdedef #1070
(5 _B1530] £, 52235]
- 1_01438 *# {pardSl+perdSi+perdsdi] + 5 42970
{33 6928) (67 2604
Bum S 0 O0EEs  2td Err 09172  LHS Mean 47992
B S 09729 R Bar 83 0.963} F 3, 18 3215.327%9

D.H.f 1] 1. 2264  D_W_f 2] 11432
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CP13
Ordinary Least Squares
LHMTAL data faor 12 pariode from 1987 to 1992

nopl 3/ edpde £ =1 00
= - 52 2392 # Jogfdli/pop®1000] + BE_ 4857 # logfdino/odpdaf 1 00)
fa_ao019) (6 37223
- 454 545
(6. 1g232)
sum Ba q46 _ 512 #td Err T_0445 LHZ Mean TE_2133
R B3 08252 R Bar Sy 0.T86¢ F 2, 9 212448

D_W.f 11 1.8933 D oW.{ 21 1.6914

FERD1 S
Ordinary Least Squares
ANMTAL data for 12 periods from 193T to 1993
d13/ pop=1000
= - 0_32421 = logfnopla/gdedef=100]
(3 71786 )
+1_05133% = Jogfdino/gdedef=100] + 0 49190 * =pikaf1989,1)
(g _gasie] (& 42033
- 3_16408
{2 _E0a5sE)
Bum S . NE33  Std Err n_na11 LHZ Msan 1_9996
R 21 0. 8631 R Bar S 0_T981 F &, & 15 4978

D.H.{ 1] 2.1592 D_W_{ 2] 1_4E32

CPi1g
Ordinary Least Squares
LHMTAL data faor 19 pariode from 1980 to 1992

logf nopld! pdpdaf #1010 ]
= - 0_43922 # Jogfdld/pop®1000] + 0 23859 = logfdino/odpdef #00)
{4 _EEEST) {2_447T08]
+ 3 80184
(3. n8932]
Bum S 7. 1176 &td Err 0_28ET LHE Mean ¢ 28T3
R B3 99990 R Bar S 9_2977T F 3, 1& T9_ 9554

D.H.f 11 1.9w4s  DoH.f 21 2_4330

FERD14
Ordinary Least Sgquares
LHMTAL data for 1T periods £from 1982 to 1992

logl did/ pop=1000)
= - n.01240 = fpopld/gdedef®100] + 0 00001 = (dino/gdedafsion]
(5. 12058] £, 20534]
+ 3 49027
{15 7485 ]
Bum S 03452  2td Err 0 1570 LHS Msan 11993
R 21 W_8529 R Bar B3 W_EB31%  F 2, 14 40_g0og

D.H.{ 1] 1.5539  D_W_{ 2] 2.0399
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CFqQ

Ordinary Least Squares

LHMTAL data for

21 peariods from 1978 Lo 1992

nopdR/edpdaf 100
= - E5.20349 * Jogfdd/pop®1000] + 7_.92728 = logfdino/odpdef #00)
{0 21779 {o_5a102)
- 12 0494 = gpike{1984, 1 )+mpike{i1989,1) + 35 _c5i4d8
f1.18181] (0. 35301
Bum S 3161 50 atd Err 13 _63T1 LHZ Msan 100 214
R B3 0 1063 R Bar 8y -9_0514 F 3, 1T Q_gTas
D_W.f 11 1.0%2 D.WH.{ 21 2_983%
GF12

Ordinary Least Sguares

LHMTAL data for
nopld/odeda =100

13 peariods from 1986 Lo 1995

= - §47.2892 = Jogfdl2/pop®1000] - 23 7800 = logfdino/gdedsf #00)

f1_ 03332
+ 995721
{4 _o7E07)
7LD o0g
0. 8356

110192

Bum Bq
kR fa
D.H_{ 1)

CP211

2td Err
R Bar &g
oW 2)

Ordinary Least Sgquares

LHMTAL data for

{2 _ 35474
+ 100 225
{0 54438
Bum Ba 3911 492
R 23 0. 5593
D.H.f 1] 1. 6837
cP2i3

&#td Err
R Bar &g
oW 2)

Ordinary Least Sgquares

LHMTAL data for

logf top212,/ pdpdef =101]

= - 0 ET4I0 = Jogitd2lZ pop*liQod] + 0 _G3300 = logfdino/ odpdef =100

{2_98472)
+ 1_8&E20
{1 07445
0. B335
0. 40s0
23962

Bum Ba
R 8aq
D.H_{ 1]

CF21:3

&#td Err
R Bar &g
oW 2)

(5 _9TOSE]
S ETES  LHZ Msan 133 1G58
n.enay  F 2, 10 25 4181
1.3199

15 periods from 1984 to 1992
(top2ll/gdedaf*100]
= - g2 0346 *= Jogftd2lldpop=li0on] + 19 2869 = logfdino/ odpdef=100]

(0. 24807
15 0541  LHES Mean 92,4732
n.2gd4d  F 2, 12 E_Eian
30043

16 periods from 1983 to 1992

{3 21003]
0_2297 LHS Mean 4.739%
g.EiT1 F 2, 13 4_4837
29050
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Ordinary Least Squares
LHMTAL data faor 23 pariode from 1976 to 1998

fnop2l1d/ gdpdef #100]
= - n_92015 # Jogfdllifpop®E000] - 4 42083 # Jogidino/odedef®100]
(0 04073 (o 37473)
- 24 TEIG = mpike{d1990,1)+mpike{d1991,1) + 136 _23E
{1 _E3ETG) (1. E3355]
Zum Sq T214 15 #td Err 19 _ 4857 LHZ Mean 99_E&E4n0E
R B3 9 1560 R Bar B3 ©.021f F 3, 1% 1_161%

D.H.f 11 1.4986 D.H.{ 21 2.26T%

CP2inl
Ordinary Least Sgquares
LHMTAL data for 12 periods £from 1987 to 1992

logfnop2ind /pdpdef=100]
= - Q_EENEE * Jogfd2ilfpopslool] + 0 63636 &= logldino/ odpdef =100)

{0 1656 {3 01599]
- 0_27938
fo_10892)
Sum Sg 0.3572  &td Err 02074 LHS Mean 4.3368
R 8x 9. 3131 R Bar 83 ©9_1e94 F 2, 9 2_0509

D.H.f 1] 1. 4894 D W_{ 2] 2 5335

FERDZ101
Ordinary Least Squares
LHMTAL data faor 19 pariode from 1980 to 1992

d2101 /popsl Qo
= - 1_6T6lS = logfnoplol/odpdes=100])
{2 27036
+ 1. 93354 = Jogfdino/gdedef=100] + 3 22981
£1_92369] f0 53875 ]
Bum S 9. 0536 gtd Err 0 7532 LHS Mean 3 B5E32
B S 0. 4426 R Bar 81 0_3T9T F 2, 18 &_&509n

D_W.{ 11 1.0712 D W.{ 21 1_49&18

CF21m2

Ordinary Least Sguares

LHMTAL data for 16 pariods from 1983 to 1992
loginop2i0l/godpdaf=] o)

= - 1016394 * Jogfd2102/pop®10d0) - 3 05729 * logfdino/ odpdef #1090 ]

(0 TEET1] (0. 34413)
- 0. 42028 = zpikefl1987,.1) + 5_EE2EQ
{3 39834 {3 B1788]
Bum Bg 0102 Std Err v 1158  LHS Mean 4_E086
R &g 0.E0EF R Bar Sg ©_37T9  F 3, 12 4 0524

D.H.{ 1] 1,215 D_W_{ 2] 20033

[ ot bt
Ordinary Least Sgquares
LHMTAL data for 16 periods from 1983 to 1992
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logfnop2ins//pdpdef =100 ]
= - 0 51437 = logfd2i0E popsl10on] + 0 04377 = logfdino/ odpdef =100

£1 30830 (0 15187
+ 10_42A050 # zpikef1988, 1 1+apikef1989,1] + 5_ 99693
{3 99723 {1_55941)
Bum Sq 0.32T7T2  gtd Err 0_18E53  LHE Mean 4 9817
B S 0 Eelé R Bar 8x 0. 48320 F 3, 12 &5_134%

D.H.f 1] 17879 D_H_{ 2] 1.9362

Cr2ing
Ordinary Least Sgquares
LHMTAL data for 1T periods £from 1982 to 1992

logfnop210d/odpdaf =100
= - Q_ETeR) = Jogfd2ifd lpopsigod] - 0_ 14539 = logfdino/ odpdef=100)

(2 _.54417) {3 g003d]
+ T_42126
f15_ 9832
Bum Ba o_Q44L #td Err 0_Q564 LEZ Mean 4_T5T1
R 8x 0,727 R Bar 83 0.688%2 F 32, 14 18 BLES

D.H.f 1] 1.1661 ooH_f 2] 1.44951

..Jh[;.|
T e

!

i)

foos

Mg
Ordinary Least Sgquares
BITAL data for E pariods from 1934 to 1393

logtmgn)
= - 2_08%0 = logfifpdtte’pdpdef #100)
(0 _46d40e ]
+ 0 03960 = logfnopd/gdedef=100] + ¢ 945295
(0 01013] (0.323365)
fum Bq n_1035 &atd Err 0_22T49 LHS Mean g4 _ 2839
R B3 0.1804 R Bar Bx -0_6391 F 2, 2 ©_2203

D.H.f 1] 2 5020 oW, 2] 1.9624

M12
Ordinary Least Sgquares
BITAL data for E pariods from 1933 to 1393

mld
= - 886 312 = logf{fplite/odpdef #1001/ {nopld/gpdpdaf®ion]] + 326573
(3. 30308] £12 6829
Bum S 22324172  Std Err 745683 LHZ Mean 381283
R 21 0.73T REar 83 0.BE4T F 1, 4 10 9103

D.H.{ 1] 26607 D_HW_{ 2] 0_3956
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HFPI
Ordinary Least Sguares
AHMTAL data for 14 pariods from 1985 to 1992

lagfwed ]
= 0_42743 * logfodedef] + 0_17005 # logfexch] + 149753
{11 4417] (3. T382T] {5 53320]
Bum S 00037 gtd Err 00257 LHS Mean 451323
R B3 0 95ED R Bar B3 9.94s0  F 2, 11 119 591

D.H.f 1] 2. 19332 oW, 2] 1._2018

CPI
Ordinary Least Sgquares
LHMTAL data for 14 periods £rom 1985 to 1992

logfopd]
= 0 95606 = logfgdpdef] + 0_07729 *= logfexch] - 030754
(e9. 487E] (4 _g1320) (3. 08203)
Bum S 0. omE  2td Err 0 0199 LHS Mean 4. 3951
R 21 M.998% R Bar S ©_9980 F 3, 11 3323 T2

D.H.{ 1] 2. 0g3g  D_W_f 2] 1_B5ES

HAGEH
Ordinary Least Sgquares
BITAL data for 11 periodz from 19338 to 1998

Haga
= ST 241 ® wpd - 322417
(5 _E9791) (3. 25727)
Bum Aq 1E+HI2 2td Err 281692 LHS Mesan 23TTS.2
R Sa 0.7230 R Bar 83 0_758%  F 1, 9 534663

D.H.f 1] n.2i57  DoH_{ 3] 1.1489

HFFEEDE]
Ordinary Least Sguares
AHMTAL data for 12 periods from 1987 to 1992

npfeadsl
= 0_0ondsE * gpoorndsxoh + 0 00018 ® opmoy®exch + 85 3519 + 4498
{0.90070] (0. 81648 4. 81301
+ 9 5471
£q_ 29578
Bum Sg 22161 323 gtd Err 16.8133 LHZ Msan 169 973
kR fa 08579 R Bar 8aq 0_g8046 F 3, &8 16_099T

D.H.{ 1] 2,095 D_W_{ 2] 1_36ST

NFFEEDS2
Ordinary Least Sgquares
BITAL data for 12 peariodz from 1937 to 1998

nepfeadsl
= 0_0oosT & gpoorndsxoh + 0 00003 & gpmoy®exoh + 94 6450 + 4435
£1.27861) {0 46307 {5 &T142)
+ 115 _ 105
(6. T3272)

gum Sq 1923_849 atd Err 155275 LHS Msan 159 933
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R 2a 0_ 2260 E Bar 24
D.H.f 11 2.n93n  Dow.f 2l
NFFEEDS 3

Ordinary Least Sguares

= 0_00RgEe * gpoorn¥sxoh + O _ 00016 ® opsoy®exch + 123 52332 + 4498

LHMTAL data for 12 pariods
npfeadssd

{1 _093988)

+ 1323 _ 418

(€ 10388
Bum Bg 38ET_16 #td Err
R 5a 0_gTon R Bar &g
D.W.f 1) 2.149as  Dow_f 2]
WNFFEEDS 41

Ordinary Least Squares

= 0_0oogn &= gpoorndsioh + 0 00010 # ogpeoy®exokh + 119 215 + 4495

LHMTAL data for 12 pariods
nepfeadsdl

£1.22439]

+ 17T6_997T

(9.44997)
Bum Ba 2333 .92 #td Err
kR 5a 0_gnnn E Bar &g
C.M.¢ 11  2.99ss  Dp.oW.{ 2]
WNFFEEDS 42

Ordinary Least Squares

= 0_QO0oEE *+ opoorndsioh + 0 00009 # gpgoy®exolh + 109 917 + 4495

LHMTAL data for 12 pariods
npfeadsdd

{1 1@840)

+ 121 TaE

{E_ERESIE]
Bum Ba 3160 BT #td Err
kR 5a n_gedn E Bar &g
D.W.f 1) 2. wesd  DoWH.{ 2]
w fle2Ea.,
HEF'YS1

Ordinary Least Sguares
AHMTAL data for

0_5433
1.45324

F 3 o]

L

from 1387 to 1995

{0 _E3T40]

11 _ 9863
n_8313
1.29437

LHZ Msan
F 3, 8

from 1987 Lo 1992

{_32441)

17_0423
0_S625

1. 6161

LHZ M=an
F 3, 8

from 1987 Lo 1992

(9 _34248)

19_8TET
0_3103

1.441%9

LHZ M=an
F 3, 8

13 peariods from 1986 Lo 1992

an_ Tais

(5 23153]

213 318
178532

R-LEEE

A5E &0
24 _ 003t

{5 _14539)

06 169
16 EBE2E

+ 10 3656 # fnpySl 1100 /wed 1)/ fopfeedsl 1100/ odpdaf 1]

13475 .8
n_9617

nbfy51
= 0_ 25915 ® phfatl 1+nbf£obd 1
(19 2839)
(7 32590
+ 19296 4
£ 95817
sum Aq 2E+HI2 #td Err
R 2a n_9e21 E Bar 24
D.W.f 11  1.3ms  DoW.f 2l

2.1712

LHS Msan
F 2, 110
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ELEYE]
Ordinary Least Squares
LHMTAL data faor 10 pariode from 1989 to 1992

= 1£x¥51
= 0. 243213 & pb£yE1[-1]
{q_41688]
- 1. 7o) = fnpySl=i0iwed 1A{npfeadsl=sion/ pdpdas ] + 62920 1
£ 96364 (235380
fum Saq 1E+09  Std Err  12750.0  LHE Mean 139044
R Bx N.TE85 R Bar 83 0.72m F 32, T d13_ 0478

D.H.{ 1] 1,999 D_W_{ 2] 1._8264

ELEFAE]
Ordinary Least Squares
LHMTAL data faor 13 pariode from 1986 to 1392

2 1£ak1
= 0_34071 * {nbfaSl. 1+nbfoS1.1]
(8 _34971)
- 34_94437 = fnpySi=1iQ)/wel l/{npfoadsl=io)/ odpdat |
{11 4E33]
+ 23575 9 ® d4d91 - 107732 = Jdd96 + I3809_6
(0. 71034 (3 35514] (0 B3E14]
sum Saq EE+19  Std Err 28070.3  LHS Mean 208345
R 2 09768 R Bar 83 0.9652 F ¢4, 8§ =4 2635

D_W.f 11 2. 8860 D.W.{ 21 2.157%

ALMYE]
Ordinary Least Sguares
LHMTAL data for 13 peariods from 1986 Lo 1995

& Imy51
= 0_44923 = obmyS1[-1]
(6_1195%)
+ 4 _ 54050 # fnpnoS1# 100/ me i) (opfeadsl #1000 /pdpdas] + 28542 2
{2 _TEEEE] fo_ 63109
Bum S TE-+2 Std Brr 25645 &  LH? Mean 313521
B S LIE=Tor k| B Bar 83 0.T635 F 2, 10 20 _91i7&

D.H.f 1] 15872 D_H_{ 2] 2_2108

ZLMAE]
Ordinary Least Squares
LHMTAL data faor 13 pariode from 1986 to 1392

2 1makl
= 0_9555E ® nhmaSl[-1] + ©_S5S86T & nbmeoS1[-1] - 1958 15
{23 2304 (13 _g100] £1.149117)
Sum Sg 4E+IT  BStd Err 1984.37 LHS Msan 170226
R Sa ®.9992 R Bar Sy ©.9930 F 2, 19 E089.97

D.H.f 1] 1,979  D_H_{ 2] 3 _S2Eg

- 182 -



FPERDE]
Ordinary Least Squares
LHMTAL data faor 10 pariode from 1989 to 1992

fperdsl
= Z_TTE92 # logfdino®100/rdpdaf )
(3 32377
+ 0 42963 = fnopSl=lQ)/ odpdef 1/ fnpsl=s100/ pdpdef 1*exoh®{1+at1/100]]
{2 22639
- 323999
{3 25697
Bum Ba 1 37TeT #td Err 0_4435 LEH? Me=an 2_&das
R Sg M. B335 R Bar 8x 05351 F 3, T &_181&

D.H.f 1] 1.8522  D_H_{ 3] 2_7amm

METEL
Ordinary Least Squares
LHMTAL data faor 14 pariods from 1985 to 1998

matEl
= 002938 & mE1 + TEET. TS & dd92 + 3Z0SE0. 3 & 4497
{2 26539 fa.90a539] f10 6171
+ 247584 2 = dd98 + 2EET.T9
{ 9.5547] f1_ 95153]
Bum Bg EE+T  Std BErr 2452 76  LHS Msan 951057
R &g U.9EED R Bar 83 0_.9495 F 4, 9 E2_0R3D

D.H.{ 1] 2.1912  DoW_{ 2] 1_8073

HPMOE]
Ordinary Least Sgquares
LHMTAL data for 13 periods from 1986 Lo 1992

ffnpmoSl)-fopmaS1 _17])
= £3¢_304 = {fnop51)-fnop51.11] - 417813 = dd93 - 58820 8

L LN (3. 36873 {1 54916]
Bum Bg 1E+1  gStd Brr 119116  LHS Mean 95133 1
R &g 0.8914 R Bar S ©_S69T F 3, 10 41 0498

D.H.{ 1] 1. 8954  D_W_{ 2] 2_359

HPFOE]
Ordinary Least Sgquares
LHMTAL data for 14 periods £rom 1985 to 1992

npfosl
= 0_9T252 * gpmoSl - 157315
{35 8948 (2. 44405]
Sum Saq EE+10  Std Err 64894 & LHS Msan I0ETEED
R 23 n.9998 R Bar S 0.9900 F 1, 13 1388 44

D.H.{ 1] 2. 4ETE D M.{ 2] 1_9838

MEYE1
Ordinary Least Squares
LHMTAL data faor 14 pariods from 1985 to 1998

neysl
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= 0_TOEGE ®= fnpmoSl+npfo5l ) /2 + 1D1EEE = dd95 - GEQSED

£13 1600 (o TTosT] {4 TTEES]
Bum Bg 1E+1  gStd Brr 116546 LHS Mean 984933
R &g 0.9525 R Bar 83 ©_.9433 F 2, 11 110 408

D.H.{ 1] 1. 4322 DoWM.f 2] 2.33s5

MCGPE1
Ordinary Least Sgquares
LHMTAL data for 2 periods from 1991 to 1992

fnopS1=100/ gdpdaf |
= 0 49428 = dino=l00/gdpdef - TET.S5T4 * pardSil

(o 80414 £1.91340]
+1.39641 = {nopSdi=sio0/gdpdef ] - 1705 48 = J4d98 + B993 79
{2 _0g4E3E] (6. 43554 ] (g 48TER]
Sum Sq 149159  £Std Err 223 001  LHS Mean T743.10
R 83 U.9595 R Bar 8 ©_9056  F 4, & 47 TE06

D_W.f 11 2.sg7a D W.{ 21 0.918%9

HEMYE]
Ordinary Least Sgquares
LHMTAL data for 14 periods £rom 1985 to 1992

nbmys1
= 122892 = nbfyS1 + §7EE1_2
(7. 90311 {0, 51100]
Sum Saq 2E+4%  Std Err 49890 9  LHS Mean 502890
R 23 U.835% R Bar 83 0_8354 F 1, 13 &2 4593

D.H.{ 1] 0.3TEl o.M, 2] 0 3530

w e,

MEFYS2

Ordinary Least Sgquares

BITAL data for 12 peariodz from 1937 to 1998

nbfy5ad
= 0_4a036 & nbfoS2
{3 22857
+ 353708 = ({npmlS2=1 o0/ el lHopm 152 1=100 e 1 10420 {ramen, 15100,
wed 1]
£1_ 35074
- 7151 96 = 4491 - 18805_7
£2.11917] £0 3E5EE]
Bum S BE-+)T Std Err S135_05  LHS Mean 117087
R B3 0732 R EBar 83 0.Tiee F &, © 19 _2Tos

D.H.f 1] 2. 1323 oW, 2] 2_8529

HEMYED
Coohrane—-Oroutt
LHMTAL data for 13 peariods from 1986 Lo 1992
nbmy52
= 1. 0000 & phfy5d + 0 oooon & dd94 + 0 _ 00000 & 4498 - 0 00oog
{ SE+4] f0.13991] {0 _nanga) fo oeT4a)
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gum Sq 0. Qoo gtd Err o_Qgon LHEZ Mean 11el1386

R 23 1. 0000 R Bar Sx  1.0000 F 4, & (B[]
D.H.f 1] nooden DoH_C 3] 0 0336
AR D = + 0 00000 = AR 1
fo_gooog)
SLFS2

Coohrane—-Oroutt
LHMTAL data for 10 pariods f£from 1989 Lo 1992

2 1£52
= 0_ZETE9 ® nbfoS2[-1] + 1. 12323 * wagew=100/mp i
{0 67215 (0 T40E1 )
+ 51373 .8 = fnpfeedtl=l 00/ gdedes 1/ {npm 1S2 =100 /e 1]
fn_ 71084 ]
- 327484 4 = 4493 - GEUE1 .G
(2_323927) (0. 43633 )
fum Saq ZE+0% Std Err 8539.04 LHZ Mean  100BET
R 2 08299 R Bar 83 0.615%3 F &5, ¢ 3_STE6
o_W.f 11 1.e72 D.W.{ 21 2_16E1
AR 9 = - 0 26751 = AR _1
f0 37105
HEMCZE2

Ordinary Least Sgquares
LHMTAL data for 13 periods from 1986 Lo 1992

nbmos2
= 0_TE024 = fnbfoS2+nbfoSd 1142 + 150565
{23, 1921] {1 _57E3S]
Sum Saq EE+0T  Std Err  27B6.40 LHZ Mean 235370
R 23 0.9800 R Bar Sg ©.9Ts1  F 1, 11 GS3T.=T9

D.H.{ 1] 2. 1eTd4  D_W_{ 2] 2_70T8

nsa
Ordinary Least Sgquares
LHMTAL data for 12 periods £from 1987 to 1992

g53
= E_ 16913 *= pbmoS2d + 330432 * Jogften8E]
f2_61915] £q. 006961
- 1942951 * pRgew®l00/Mpl + TS _E583 + npml152#100/wepd - 13294043
{2 _o7IeT] {0 o7eEa) (022487
Bum S 1EH7  gtd Err 39967.¢  LHE Msan 1827265
R Sg N.97TAT R Bar 83 0.9540 F 4, T E&_0790

D.H.f 1] 1.5591 o . 2] 2 4628

DFFERDSZ
Ordinary Least Sguares
LHMTAL data for 8 peariods from 1991 to 1995
dppeardsl
= 000332 = dipo=l1 00/ gdpdef
{3.92473)
- 0.01119 & {mpEl={1+tatl/100] oxoh=100 /odpdef ]
fa_92585]
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+ 0 02323 = popS2=100/gdpdef - 0 44607 *= 4497 + 352141 = Jd9F

{0 19511 {0 23504] £1. 517139]
- 2_94157
fo_ 23925
Bum Ba 2_BO0g #td Err 1_14gngd LE? Msan 19_ 3608
R 8x B.959¢ R Bar 83 9.858%0 F 5, 3 9 458G

D.H.f 1] 2.3860 D_H_{ 2] 21836

DFPERDFE2
Ordinary Least Sguares
LHMTAL data for 13 peariods from 1986 Lo 1995

dperd£&2
= 0. 0333 = (dino®=100/gcdedef] - ©_22431 * {nopSl# 00/ godedef ]
{ 9. 6E3E] f2_12555]
- 3_04007 = 4493 + 36_2300
{1 61660 (3 949821
Bum S 16 3993 &td Err 1.345% LHS Mean &1 3059
B S n.9143 R Bar 83 0_8857 F 3, 9 31.9934

D.H.f 1] 1. 8450 D_W_{ 2] 2 3532

HPOS2
Ordinary Least Sguares
LHMTAL data for 1% pariods from 1989 to 1993

npoS2= 00 e
= - 115 75D = gER popEl000 4+ 1 2TO0S ® npmoSl®100/wpd + 4194325
f2_BEENND] (9. 45057 £2.11013]
Sum Sq 2E+1  £td Err 188548  LHS Mean 2781471
R 83 0.9957 R EBar S ©9_9302  F 2, T &0 9363

D_W.f 11 2.5230 D.W.{ 21 1.7Teos

HCZPS2
Ordinary Least Sgquares
LHMTAL data for 13 periods from 1986 Lo 1992

fnopS2=100/ gdpdaf |
= 0 _O0EEd = (dipo=i00/gdpdef] - 1_948998 = dperdfGl

(2 _ 47343 {2 _13555]
+ 2 82674 = 4492 + 118 Gi6
fn_52112] f10_E51E8]
Sum Sq 198 932  gtd Err 3.4790 LHS Mean 103 9EBS
R 83 U.ET3Z R EBar 83 ©.EB42  F 3, 9 &_1793

C.oW.f{ 11 2.o3td  DoW.{ 21 F_33in

HPMLEZ
Ordinary Least Sgquares
LHMTAL data for 14 periods £rom 1985 to 1992

nemlsa
= 1_SBEES * popS2 + 0 _GETES * npfesdS2 + 117 113
{5 03001 {3 93655 (6 37E01]
Sum Saq 1686 53  8Std Err 12_ 3823  LHS Mean 387,907
R &g 0.96ET R Bar S ©_9806  F 3, 11 159 B0S

D.H.{ 1] 1. 2490 p_W_{ 2] 1_5409
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2TE2

Ordinary Least Sgquares

LHMTAL data for
a+t53

= 0_01327 = g53-+wmE3 +

£1_21035]
sum 2q EE-+HI2
R 2 0.ETES
oW 11  1.49T739

[ ] H =3
**J%TI“

HEFS:E

(% 99823]
Std Err 24069 4
R Bar Ra 0 _5324
D.H_f 21 0_g9840

Ordinary Least Sgquares

LHMTAL data for
nh£53

= 097311 = nbfE3[-1] + 0_ 21549 = {npEs_1=100/gdpdes 1]

(5 _16205] {1 Eg1c2]
- 4323 908 = pnpfesdSi=i00/odpdaf -
f1_36518]
+ 533142 = 4495 + 10846 T
{1 _ 80805 {0 w5110
Bum Aq 1E+H9 2td Err 17894 3
R 23 0.979% R Bar S  ©O_953%
D.H.f 1] 2. 744 D_W_{ 2] 1.6744
H -1_43909
HESE

Ordinary Least Sgquares

LHMTAL data for
nb53

= 19 EBlE = nbfEE - 2251802

(13,3638
Sum Sa iEH2
R 23 09420
D.H.{ 1] 1. 3637
BLES

{3 58934
Std Err Z03TI
E Bar 83 ©O_936T
oWt 2] 2_0459

Ordinary Least Sgquares

LHMTAL data for
= 153

= 1_ 33617 = nb&53 + 2137971

f10 5T18]
Bum Aa 1E+2
R Sg 0. 9255
DM, f 1) 18963
BE3

(2.91476 ]
gtd Err 3gags9
B Bar 83 ©0_2172
oW, 2] 1.7402

Ordinary Least Sgquares

LHMTAL data for
53

= 0_DEQEE = 2153 + 4EEE_18

14 periods £rom 1985 to 1992

£1 586631
LHS Mean E3308. S
F 3, 19 7.0d44z2

19 periods £from 1989 fto 1992

122365 = dd430

13 periods from 1986 Lo 1992

(5 01838]
LHZ M=an Te19432
F E, 4 =7_ 8291
LHS Msan GE403353
F 1, 11 17&8_592

11 periods £from 1988 to 1992

LH? Msan
F 1, 2

ATILEES
111 . Teg

14 periods £rom 1985 to 1992
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(12 4871] (0. 104585
Sum Saq 2E+4%  Std Err 38615 7  LHS Mean 543117
R 23 0.928% R Bar S ©.932¢ F 1, 12 41EG5 430
D.H.{ 1] o osedd  DoW_f 2] 1_3928

HEEE
Ordinary Least Squares
LHMTAL data faor 12 pariode from 1987 to 1992

npS3
= 5. AE00 * popSd + 31993 2
(7 51011 {2 _na5isg]
Sum Saq 1E+09  Std Err 19103 3 LHS Mean 149300
R &g 0.899% R Bar S ©_8343 F 1, 19 GSE_4017

D.H.{ 1] 2. 0641 oWt 2] 2.5132

i [ =¥ed
Ordinary Least Sgquares
LHMTAL data for 13 periods from 1986 Lo 1992

nopS3=l 00/ edpdes
= 2771 35 = logfdino=10Q/gdpdatf] - 381 _301 * perdsd
{1 26020] £1 7704
+ 1011234 * nopSl=100/gdpdef - 529 232 = dd89 - 173271.7
£1_20753] £1_87185] (1. 04428)
Bum Sa 4TTESD #td Err 244 3499 LHS Mesan 2E4E_ 45
R 2 0. EE92 R Bar Bg 0.4892 F 4, & 3_8203

D.M.f 11 1.9720  pD.oW.{ 21  2_.323%

L %kj:ll_bll_—?l_—**

MES41
Ordinary Least Sgquares
LHMTAL data for 13 periods from 1986 Lo 1992

nh531
= 0.99004 = gh541[-1]
(a5, 9132]
+ 2562 27 = (fnpSd1 1300/ gdedef 1)1/ fnpfeadsd1#1 00,/ odpdaf ]
f6_50832]
- 134TE. &
{4 29663
Bum S 2993098 2td Err 994 640 LHS Msan 27471 E
R 81 N 9853 R Bar Sy 0.982¢ F 2, 10 335 990
D.H.§ 1) 17172 DpoW.f 21 2.1490
H 0. 2535
Q541

Ordinary Least Sgquares
LHMTAL data for 12 periods £from 1987 to 1992

b
= E_E032E = nbEdd + O _E3Z3TE = {({nobEd4d_ 14nbE42_2]/2] + E409 TH
(3. 82132 (o 20841 ) (0 075a1]
fum 849 2E+19 Std Err 16421 8% LHS Mean 217247
R 2 0.912% R EBar S ©_893¢ F 2, 9 47.100%
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D_W.f 11 o.7855 D W.{ 21 1_g085

FPERDE 31
Ordinary Least Sgquares
LHMTAL data for 13 periods from 1986 Lo 1992

perd54l
= 4 94108 = Jogfdino=100/gdedef] — Q0 _0007E = {nopSdi=i0)/gdedsf ]
f11,5921] £1 57243
+ 0. 0002l ® QopEEEI00/gdedef - 36 3320
(0 TeEEE2] {3 82599]
sum Saq 0.72T3  Ftd Err 0. 25943 LHS Mean 9. 8469
R Sg W 9542 R Bar Sy 0.9390 F 3, 9 &2_5T23

C.oW.f{ 11 1. o3td  DoW.{ 21 2_w21T

HFE41
Ordinary Least Sguares
LHMTAL data for 12 periods from 1987 to 1992

npEd41
= 0_ATE0E * nop54l + 408 244
{7 _E9395) {4 sgoga)
Sum Sg 45429.9  #td Err E7.3950 LHS Mean 1062 3T
R Sa U855 R Bar 83 9.8410  F 41, 19 E9_19&%

D.H.f 1] 18425 D_W_{ 2] 1_2494

MES42
Ordinary Least Sgquares
LHMTAL data for 19 periods £from 1989 fto 1992

nb&542
= EE29 31 * teoSS=={1/2] + 2 02616 * npS4a=100/ odedes
(7. 52393 (o E0463)
- 19 7426 = npfesdSdlsl 00/ pdedef + 29311 G
(0 93639 (7. 378399
fum Saq ESUSETE  Std Err 1085 26  LHS Mean 93675.9
R 83 0.9145 R Bar 8 ©_S8TIT F 3, & 21 3824

D_W.f 11 1.81T0 D W.{ 21 2_3823

a542
Ordinary Least Squares
LHMTAL data faor 13 pariode from 1986 to 1392

g542
= 112697 = {nb542+nb542 11/2 - 294709 5 = dd98 - 49615 .6
£19_2149] {2 _ 86455 {3 03508 ]
Sum Saq EE+02  Std Err TEE3_ 15 LHS Mean 9419360
R &g 0.9752 R Bar Sg  ©_9T02  F 3, 10 4198 3228

D.H.{ 1] 2. 4384 D_W_f 2] 1.2778
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MGFE42
Ordinary Least Sgquares
AHMNTAL data for 10 pariods from 1929 to 1992

nop5ga=f100/pdpdat ]
= 0 08594 * dino®l00/gdedsf - 242 224 * perdSdd + 14 G167 = 4495
{3 _96844) £4_0E51s) {0 _34E94)
+ 2724 11
(6 _go3es)
fum Saq 24T 0%  £td Err  31.2172  LHS Mean S99 5EE

R 2 0.822T R Bar B8 0743 F 3, & 9 _EBTTS
D.H.{ 1] 1.5292 D_W_{ 2] 3.1aT9

HFE43
Ordinary Least Sgquares
AHMNTAL data for 14 pariods from 1925 to 1992

npSg42
= 0_T3EE30 = nopEdd + 32 4419
f13 7970 (0. 216531
fum Saq 146955 #td Err  5¢_5793  LHS Mean G563 387
R 8x B.949% R Bar 83 0.9353 F 4, 12 1g8:. 984

D.H.{ 1] 15832  D_W_{ 2] 1.9510

3. 2% AH3= A

O KRELASMO® R3¢ s A3 L 1900~ [908E5er ¢35}

THE=

53 HEE gAY o F48 L WA 2 HRoot Mean Square Error,

RMSE)E ©l&5t3

[n-]

- AAFR B the Agest Re FRel glon 8ty ety
An® AYAe 424 L mested Frdds AFFE A5 1A

HE EYL ol g8tds P Ao sdEn

- Z23Y T8 EH A= 4RI £2 3oz YEgth

O AP APme NG, GrE A9 $A Yo AT A

m2A e A AR FEAN APzt A e
A2 A4 S 2=, SEF5E0] AFET W2 AR
A ol T e JiE WA e 2F 20 22 AT

ERANE A=t $2 Aoz yehloy 2 48
Az 27t RAASA e BrEHE HEsE T
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-3 i HgAEL AET
wolr= Zag 25 E1S’iﬂr.

- A= ZAst 27 gL dREFSE 0d 2L ol Eel

- 7138 HFEst 22 EESL 34 JHHdEo £ EEEERA A4
FZZ23 FA= vty 2 AF o] A7t Fd b2} AF=rt B4
et Aoz o

- 1913 4H Y] AS Aol Aolst U AaE 94 AR} 3
Ui dagds slea 3R 52 Aehe 4w 94 JFest @
Al et Aol

2 yshto} BHY ARssh e

O Z2AEHAAN A8 d5Se] AF=st B e Aoz YEgEd ol £
o] A=EARE AHRSAT dRETEL 87T AR Zﬂﬁii A
=71 ReolAls BA= 917 f24 Aez E)dHk
- B 2P =E A FFEE4A 5 4R FHA 9 fo4el geiAd
= ASEH, BAAo g FFF FolH ol FoF Aor Bn A5
Grh g2t Y AgAs FEs | B ZYE AEEE 2 2As ¢
= Aoz AzEHETCL
- FEL0 ALE B AAF oA dA=EF 9 RMSPERe] 2
A gt ols EHY F22 B 0 4HAA 0] 24714 g9
F ot FotF FH4d dFE wA7] g2 st e Aol ol
Aste EE 2371 4017 74 A HER 7] g Rtk g4
TET59 At 2 olf= AW gl FolArtEe sl

37] 2ot
- 3pe ALE B SET LA 24 g d ol EY 72
THHo] #HA AN 2FHE FRE A QB2 %—Hrﬂr SRHB

2] 237 Otz 4ok H]-OQE 97] M 2ok Zejghahe 714 9
A 2 olfE ARHS F BRSE0Y 235t 5 A7) fRotk
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# 5-1 RE9 HEgr: 431 2#()

o %
Ealals! 2R SE Ealals! 2;RIMSE
ACR11 20 DPERDSL 45
ACR12 13,9 DPERDS2 33
ACR13 75 DPERDS 49
ACR14 717 DPERDS5 73
ACR21 6.7 DPERDFS2 2.4
ACR2101 54 DPERDFESZ 24
ACR2102 10,7 DFERDFS2 16,2
ACR2103 75 DFPERDS2 47
ACR2104 11.5 DPPERDESZ 6.7
ACR211 9.4 DSTSL 67
ACR212 2310 FEED12 0.9
ACR213 9.6 FFERDS1 16,1
ACR22 4.0 FFERDS2 16,1
ACRA0 50 GDFDEF 19
ACRA1 145 NPUTP 41
ACR32 11,5 MACHP 31
ACR33 17.0 MES3 43
ACR34 55 NES41 49
ACRA5 37 NBS42 19
ACRA0 171 NEBNMYS1 114
ACRSTIMA0 49 NEF 53 22
CPIE 24 NEF A5l 52
CURTP 35 NEF (51 27
DINC 0.7 NEF (52 22




# 52 RE9 HEgEr A4F 280

oy %
H T o eRIVSE H T ¥aRIMSE
NEFY51 26 NCP4) 54
NBFY52 13 NP53 6.6
NBEMASL 13,6 NFP541 54
NBMC52 24 NP542 94
NEMO51 152 NPF(O51 92
NEMYS1 15 NPML52 24
NBEMYS52 13 NPMOS1 75
NCP11 13 NPOS2 17.2
NCP12 a1 NPY51 0.0
NCF13 19,6 NPYES1 195
NCP14 141 PERD11 26
NCF21 5.6 FERD12 06
NCF2101 212 PERD14 10,7
NCP2102 1143 PERL14 189
NCP2109 16,0 PERD21 71
NCP2104 72 PERD2101 6.4
NCP211 19.0 PERDZ2102 9.
NCF212 291 PERD2103 54
NCP219 6,7 PERD2104 119
NCP31 9.6 PERD211 96
NCP32 110 PERDZ12 234
NCP33 13,7 PERD214 127
NCP34 114 PERDA1 10,3
NCP35 249 PERD2 9.4
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# 53 RE9 HEgL AH dEY)

o
Hp eRIMSE Hy 2sRMSE
PERD33 174 SNG4 74
PERD34 99 SUNGAS 15
PERD3S A2 WAGE 6.7
PERL4( 34 YD12 6.9
FERDS1 A0 Y[13 55
PERDS2 23 Y014 47
PERDS3 27 YD1 19
PERL:541 46 YD2101 74
PERD 542 14 YD2102 73
RENT 129 YD2103 52
RGDP 19 YD2104 27
SL53 57 YD211 5.4
SLF52 54 YD212 31
SLFAS1 219 YD214 45
SLFY51 14 YDAl 77
SLIMAS1 130 YD3I2 71
SLM Y51 55 YD33 5.5
SUNGA1 a0 YD 6.4
SUNGI2 A2 YD35 6.3
SUNGI3 154 YD 5.4
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4. ZvA )

-4 sHaMg

=714 =gt

¥ = 1999 2000 2104 2010
EYAN71H (95=100,42) 129,36 114.20 104,36 90,94
H-HAN71E (95=100,42) 122 66 111.49 9726 49,42
=71 A 718 (95= 100,441 13770 126,56 113.20 100,91
UthA} 7 (951004 2D 112,76 11330 122,42 123,17
=Y rYE5-100-4 ) 99.12 99,40 108,69 123,55
=HE 71 (95=100,42) 10029 104,05 105,11 9,66

# 5-5 Y A2 Mg Mo

g | BH | BU *‘?J%*(:HWI_‘) 1LY | B 712

(Hha) |[(FM/TY 2 | MMA | 2919 (el (-4 2 95=100)

1939 |10590 | 50969 | @99 | 994 - 99.9 1124

2004 | 9741 | 48805 | 2052 | 2052 - 96.4 1044
2010

AluR]e 1| g2 | 45129 | 2052 | 2052 - 45,9 1141

AUR]e T 8571 | 44396 | 4105 | 4105 - 89,7 1044

Auzle T| 8312 | 43058 | 6769 | 2052 | 4716 93,2 90.4

AUzle V| 9312 | 43053 | 6769 | 4105 | 2669 93,2 90,4
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E 56 SYNE HY

? = 19949 2000 2004 2010
lr_ﬁ iE
(@594 473 102D 136995 | 153698 | 158089 | 146334
A H -
(%%Tfﬂ}ﬂ%‘} 196127 | 224945 | 265516 | 202512
EHE321A]
(qeame jgaiel) 17,046, 4 170753 17.736.9 18,464, 0
H 5-7 Ald2|ed xekXw M 2H2010)
Bl = Auale I | Aule D | Au=leD | Aua]e v
=H+5
@sE A 102 16,5343 15,8407 14,639 4 14,539 4
sHE271A]
G 1g2aly 33,6502 32,306 5 30,2512 30,2512
T HHEI17}A]
GoEEs 102e) 18,7274 14,5399 19,464.01 19,4640
E 58 A2 MdiE My
@ lha
L. 14949 20010 2004 2010
FHAHAE
2 1054 1030 974 831
5= 120 125 93 &9
FEISE 51 55 40 a7
A A 195 179 177 175
EEiE 97 100 1049 103
EAHAE
o 5 83 90 A 40
= 37 a5 37 7
o mf 15 13 14 16
3] E} 49 45 44 10
Al A A a2 74 a4 124
A 1 173 167 171 175
A 1961 1914 1414 1606
* a2 35 35 61
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o] Hha
4 F 1999 2000 2004 2010
a  F A5 A1 G2 g
£ 24 20 21 24
7 19 20 17 17
71 Ek 39 7 " 77
A 195 179 167 175
510 BeHE s Mo
5 ha
i & 1393 2000 2004 2010
Ab 2t 35 29 30 25
H 25 27 29 0
E A0 29 26 12
a1 0 32 32 32
4 2 25 25 2F 29
A 165 141 143 147
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i 511 F2 32Y 5 MY
oY kellla
&4 F 1999 2000 2004 2010
A 491 434 439 519
HE 227 218 232 252
5 137 139 145 155
FElSE 605 609 629 f59
55 71 71 % 45
L B 2509 2535 2575 2636
k- 224 230 261 406
FEHE G259 5995 5779 5771
FET 4912 4933 4992 5037
= H A 2 2266 2345 2490 2579
0t = 1055 1097 1225 1412
o T 5990 6063 £450 f944
a4
b2} 1323 1642 1569 2033
HH 1055 1249 1403 1470
Ean 1332 1440 1640 1929
& dlas 932 1009 1060
2 1984 18000 1683 1654
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® 512 F2 Hs5d¢ sriElziE =gt
the] . 1995=100(43)
= 1999 2000 2004 2010
2 112,25 106,51 10447 90,40
HE 95,19 90,37 77,25 A0.64
TR 95,00 967 69,50 51,30
FElEE 89,02 96,97 95,59 71,59
EE 43,42 9374 9476 96,46
1A A
k- 47,60 11320 129,45 96,49
EWE 32,75 112,95 11164 109,93
ER 279,50 19037 21476 217.10
= A7 &
it = 33,02 93,74 76,59 472
o = 131,30 135,59 135.01 13923
4 F
A2t 84,95 99,93 106,60 45,27
HH 95,96 101,84 104,70 12111
T 79,40 41,17 91,74 9767
4 .43 99,27 109,96 13297
o 3,47 12795 142,53 156,29
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1218 2s|2 MY

Wy
= 1994 2000 2004 2010
2 100,60 101,47 9%, 93,20
HE 23,45 21,12 20,81 20,09
&5 2,09 221 265 317
eS8 279 269 2M 420
5& 2,99 292 311 313
L A[AH 104,69 9311 894 92,44
nk= 409 340 3,85 457
IEWE 3231 2492 25,39 26,90
R 19.29 20,64 17,19 17,14
= A &
= 9,47 932 9.7 10,59
Y 19,79 16,79 19,57 2272
4 F
Apzl 13,94 1073 9.29 11,53
B 5,51 712 9,41 4,65
s 4,59 8,70 9,47 12,30
+ 5.61 5,24 6,71 6,70
|2 10,89 953 9,06 9,16
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2010

471
2793

34249

137,69

a4
55,66

17

2004

2153
45,10

2731

53,93

2000

2652

Q

57,25

1999

2756

85,16

b
=i

E
-

JElgE

o

wjr

i

i

Azt

2t
=]

FrUwd dehd

rp .
=

)

- 181 -



# -1 #5T53E MY
Alue 1939 2000 2104 2010
oo 1 2341 1775 1911 2279
T e ' 2 2391 1775 1812 2110
1_—|_:I
3 2341 1775 1912 2025
} 1 160 124 125 159
La] = -
01
) 2 160 124 125 145
3 160 124 125 139
} 1 267 199 175 219
(55; 2 267 199 175 218
3 267 199 175 212
1 1l 192 241 345
4
= 2 Il 192 241 359
9 Ll 192 241 964
1 75 4.6 9.4 11.1
11
(/2D 2 75 9.6 9.4 114
9 7.5 4.6 9.4 115
et 1 1664 2545 2627 2449
(@583 2 1668 2585 2627 2241
o =]
(E2/ 3 16649 2545 3627 2156
s 1 16 490 39,3 39.7
1 [=]
&5 2 778 49,0 33 375
3 176 49,0 39.3 366
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E H-16 Yy MY
Azl e 1939 2000 2004 2010
giama 1 537 537 572 639
) 2 537 537 572 639
3 537 537 572 639
nana 1 247 257 272 299
M=) 2 247 257 272 299
€ 247 257 272 299
N 1 2027 2127 2284 2540
%LH%E@ 48 2 2027 2127 2249 2530
€ 2027 2127 2249 2530
A= =qad 1 282 559 318 1609
HEAdREE| 2 282 559 918 1614
) € 292 554 318 1614
jaIcd 1 49,2 570 65.4 14
MY 2 492 570 654 a16
(he/h 3 22 57. 65.4 916
191 1 90,2 342 392 154
A H] 2 302 342 392 45,4
(he/h) 3 02 342 32 45,4
jale 1 19.1 228 272 6.0
FAFT LB 2 19.1 224 272 3.2
(he/h) 3 19.1 224 2.2 %2
e 1 89,7 7.9 718 614
ﬂjﬁgf = 2 9.7 7.9 718 613
3 9.7 7.9 7.8 612
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x 517 o4=55 Mo
Aluja] g 1999 X000 2004 2010
. 1 7559 775 9514 10209
(ifJ)T 2 7559 775 9514 10114
T
3 7559 775 914 10064
1 a7 a1 370 1121
£
) 2 479 491 970 1113
T
3 a7 91 970 1107
1 749 769 439 %7
-
= 2 749 769 439 959
3 749 gl 439 955
e 1 -31 70 92 123
=54 2 -31 70 g2 144
(HE)
3 -31 0 a2 155
191 1 151 174 18.9 215
LH]EF 2 151 174 19.49 21,9
(he/U) 3 151 174 19.9 21,9
=] 17 1 179 172 169 149
x )7}
== 2 179 172 169 142
(9544
HH/100ke) 3 179 172 169 139
1 100 917 1.1 3.7
AlGE
o 2 100 917 1.1 9.9
? 3 100 91,7 1.1 5.0
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MO
[
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45739 51283 54309 54707

45789 51283 54309 54707

ALzl 2 1999 2000 2004 2010
5 1 35516 40484 43357 46490
A 2 35516 | 42484 | 43357 | 45454
s 3 35516 42494 43357 44337
JR— 1 244 290 299 322
=) 2 249 290 299 316
3 249 290 299 312
1 12 50 100 169
“f:q]ég;ﬂ% 2 12 50 100 175
3 12 50 100 191
- 1 56 72 9.2 9,7
(e 2) 2 56 72 8.2 9,7
3 58 72 8.2 9,7
7] To) 1 1134 1027 312 733
(954 ) 2 1194 1027 912 711
(H/he) 3 1194 1027 912 01
1 95,3 5,4 75,0 65,9
ASECY 2 95,3 95,4 75,00 f4,2
3 35,3 a5, 4 75,0 §3.4
1
i 2
3 45789 51283 54309 59707
Sarsa 1 455 519 555 A0S
= 2 455 519 555 A0S
3 455 519 555 A0S
N 1 99 10,9 11,4 11.9
= (1:3_ ;5 2 349 10,9 11,4 11.9
3 39 10,9 11,4 11.9
Al 1 71 624 637 g97
(9542 2 71 629 637 97
(H/107H) 3 71 629 A37 A97
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